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No. [4301]-201

S.Y. B.A. EXAMINATION, 2013

COMPULSORY ENGLISH

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Text Prescribed : Reflections-II.

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following : [16]

(1) How was the couple in ‘The Story of Stanford’ different from

most rich people ?

(2) How did the two chance meetings with JRD Tata change Sudha

Murthy’s life ?

(3) How does the story ‘The Three-Piece Suit’ warn the readers

against the dangers of pride ?

2. Answer any two of the following : [16]

(1) What is the central theme of the poem ‘After Apple

Picking’ ?

(2) What is the main theme of the poem ‘Ozymandias of

Egypt’ ?

(3) How does the narrator get rid of the road engine in ‘Engine

Trouble’ ?

P.T.O.



[4301]-201 2

3. Attempt any two of the following : [16]

(1) Write a summary of the following passage :

We are bombarded by many advertisements everyday. Vendors

try all means and ways to gain our attention and sell us their

products or services. Advertisements appear everywhere; on

television programs, radios, in the papers, magazines, pamphlets

and so on. Advertisements are actually very useful though we

sometimes feel upset when they interrupt our favourite television

programs. They provide us with free information on the products

and services. There are two types of advertisements. The

informative advertisements are the ones, which provide us with

the details of the products or services. This information is

especially useful if the product or service is new. For instance,

when we need to buy a computer, advertisements describing

the latest models and their different functions would be extremely

helpful. However, only a small number of the advertisements

are informative ones. Many of them belong to the second category—

the persuasive kind. These advertisements not only tell us more

about the products, but at the same time, they convince customers

to buy them by saying that their products are superior to

the others. These claims may sometimes be untrue. Besides

being informative and persuasive, advertisements also help to
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reduce the prices of magazines and newspapers. Our newspapers

are sold at a low price of about one dollar, owing to the

advertisements in the papers; otherwise, the price would have

been higher. While advertisements can be good helpers for

shopping, they do have their limitations. Most advertisements

aim to sell only. Faults of the products or services are usually

hidden from the consumers. Hence, sometimes, we feel cheated

if the product or service we bought does not turn out the

way the advertisements claim to be.

(2) City International School, New Delhi, invited applications for

the post of teachers through the advertisement that

appeared in The Times of India on 27th March 2013. Write

a covering letter to your resume as a response to the

advertisement.

(3) Write an advertisement for a Hobby and Drawing class.

4. Attempt any eight of the following : [16]

(1) Write the correct word from the choices in the brackets :

(a) Most children ............... a mess while playing.

(create/do/make)

(b) The new Minister ............. about many changes.

(made/brought/created)
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(2) Use the idioms to complete the following sentences :

(a) My friend, Sunil, never follows the library rules and is

always getting into trouble. He has become a real ............

(get cold feet/pain in the neck)

(b) When Nilesh was caught copying in the examination, he

was taken to the Principal. He stood there ........... in

shame. (eyes speak volume/hang one’s head)

(3) Write correct collocate out of ‘shove’, ‘slam’ and ‘toss’ in front

of the given expression :

(a) ....... a coin

(b) ......... a door.

(4) Fill the correct suffix/prefix for the italicized words and complete

the sentences :

(a) Seema is determined to do research in mytho ............

(b) I heard the story from my grandmother about the

............ visible land.

(5) Complete the following sentences using either accept or except

as appropriate :

(a) Everyone participated in the elocution competition .............

Sanjay.

(b) Mr. Joshi has ............. our invitation and has agreed to

be the Chief Guest of the function.
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(6) Complete the sentences using synonyms of the italicised words

from the words given in the brackets :

(a) He does not think very highly of himself and has a very

humble estimation of his abilities. His ................. is part

of the reason for his success.

(modesty/elegance)

(b) Many villagers refused to believe that she could be the

thief and Sarika herself ................ stealing anything.

(opposed/denied)

(7) Read the following descriptions and write one word for

them :

(a) Someone who does business : .................

(b) A service that is offered to customers after they have

bought a product ..............

(8) Choose the correct meaning of the given phrases :

(a) World at one’s fingertips = .........

(i) in a way that is suitable for a particular situation.

(ii) to have everything, easily accessible.

(b) Get somewhere = ..............

(i) to improve or advance in a particular situation.

(ii) to do anything in order to achieve something.

(9) Choose the correct binomials and complete the sentences :

(a) All day he has been going ................ between my house

and his. (in and out/back and forth)

(b) Many electronic gadgets get old and stop functioning due

to ................... (wear and tear/sick and tired)
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(10) Use the following expressions in your own sentences :

(a) proud as a peacock

(b) months had flown.

5. Attempt any eight of the following : [16]

(1) Fill in the blanks with appropriate link words given in the

brackets :

(a) Hema knows she can depend on her uncle; .............. she

needs money or support, she goes to him.

(whether/whenever)

(b) My friends were watching a film .............. I was writing

my project. (while/whenever)

(2) Complete the sentences by choosing the correct phrases :

(a) The students party is sure of getting .............. support

from their friends. (a lot of/much of)

(b) Manish expects ............. help from the system and that

will never happen. (many/some)

(3) Add question tags :

(a) It is Monday today.

(b) Pranav calculated the total number of mangoes.

(4) Fill in the blanks in the second sentence with the appropriate

compound adjectives prepared out of the italics part of first

sentence :

(a) (i) Ramesh was thrilled to discover an insect that had

many legs in the garden.

(ii) Ramesh was thrilled to discover a .......... insect in

his garden.

(b) (i) Zaheer bowls with his left hand.

(ii) Zaheer is a ............. bowler.
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(5) Fill in the blanks with the correct option :

(a) Once a month, I meet my old classmates from school to

.................. on the events in each other’s lives.

(catch on/catch up)

(b) Soham joined the institute late and that is why it took

him some time to ................ to what others have been

doing. (catch on/catch up)

(6) Complete the following sentences by using either compliment

or tribute as appropriate :

(a) India pays ............... to Mahatma Gandhi on 2nd October

every year.

(b) Mr. Sohoni always immediately gives ................. to his juniors

for successfully completed tasks.

(7) Underline the interjections in the following sentences :

(a) Hurray ! Tomorrow has been declared a holiday.

(b) I entered my room the previous night and yuck ! There

was a horrible worm on my bed.

(8) Write the appropriate meaning of the word draw as used in

the following sentences :

(a) My mother wakes me up every morning when she draws

the curtains.

(b) Sneha loves drawing pictures of natural scenery.
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(9) Complete the following words by adding appropriate

suffixes :

(a) Fashion ........

(b) Grate ........

(10) Correct the following sentences by making necessary

changes :

(a) The seat besides mine is empty and you can sit.

(b) Even although he is illiterate himself, he wants to educate

his children.
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ikBÓiqLrds :— (i) dFkkxkSjo-

(ii) vkepk cki vku~ vkEgh-

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs f«gk %

(v) ðkqº«s[kukph ladYiuk Li"V d:u] ðkqº«s[kukps rhu ÚgLo&nh?kZfo"k;d fu;e

mnkgj.kklfgr Li"V djk- [10]

fdaok

[kk«h« mrkÚ;kps eqfÊr fpUgkuqlkj eqfÊr ðkks/ku djk %

26 tq«S 2005 jksth eqacbZ e/;s egkiqj vk«k- nksurhu nhol lx š can «ksd«

can- dkgh lk/ku mi«/k ukgh- va/ksjh cksjho«h ?kkVdksij loZ Bhdk.kh «ksdkaps

izpM uqdlku >k«s-

(c) [kk«h fn«s«k vðkqº mrkjk iqUgk ðkqº«s[ku fu;ekuqlkj f«gk % [10]

Hkj nholk jkujsMs xos ðkstkjP;k ≈lkP;k eˇÓkr ?kwlr gksrs- iapohl frl

oZ"kkiwohZ xos ðksrkr ;sr ulr- rs vkrkp dk /kkMh Vkdrkr ;kpk m«xMk

Hk"V™ Hkkjrh; ðksrh o ouf/kdkÚ;kuk gksr uOgrk- v[ksj fczfVðk ljdkjP;k enrhus

lðkks/ku lq# >k«s-

P.T.O.
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fdaok

[kk«h fn«s«s vðkqº ðkCn ðkqº Lo:ikr f«gk (dks.krsgh ngk) %

(1) datq"k

(2) vuqoaðkhd

(3) [kqnw[kqnw

(4) igk.ks

(5) vkfðkZokn

(6) gfj.k

(7) fof«fudj.k

(8) ;knqfPNd

(9) fHkŸkhi=d

(10) lkekthd

(11) ijfd;

(12) /ouheqÊhr-

(d) [kk«h«iSdh ngk ikfjHkkf"kd ðkCn f«gk % [10]

(1) Senior

(2) Waterproof

(3) Notice

(4) Sociology

(5) Greeting card

(6) Message
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(7) Account

(8) Assistant

(9) Cancel

(10) Bus stand

(11) Respiration

(12) Contract

(13) Pilot

(14) Free

(15) Link

(16) Official

(17) Technique

(18) Ecocycle

(19) Checker

(20) Medical.

2. (v) [kk«h«iSdh ikp izðukaph mŸkjs izR;sdh 20 ðkCnkai;±r f«gk % [5]

(1) dFksps nksu ?kVd f«gk-

(2) xzkeh.k dFkk Eg.kts dk; \

(3) L=hoknh dFkk Eg.kts dk; \

(4) nksu nf«r dFkkdkjkaph ukos f«gk-

(5) ejkBhe/kh« uodFksps tud dks.k \

(6) ejkBh dFkk «ksdfiz; dj.kkÚ;k lq#okrhP;k dk«[kaMkrh« nksu fu;rdkf«dkaph

ukos f«gk-

(7) dFkk fuosnukps izdkj f«gk-
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(c) [kk«h«iSdh ikp izðukaph mŸkjs izR;sdh 20 ðkCnkai;±r f«gk % [5]

(1) vkRepfj=kP;k dsaÊLFkkuh dks.k vlrks \

(2) vkRepfj= «s[kukekxh« nksu izsj.kk f«gk-

(3) vkRepfj= «s[kdkus ikˇko;kph nksu iF;s f«gk-

(4) ejkBhrh« nksu vkRepfj= «s[kdkaph ukos f«gk-

(5) pfj= Eg.kts dk; \

(6) pfj= vkf.k vkRepfj= ;karh« Qjd f«gk-

(7) nksu nf«r vkRedFkukaph ukos f«gk-

3. (v) [kk«h«iSdh ,dk izðukps mŸkj 50 ðkCnkai;±r f«gk % [5]

(1) dFkk ;k ok≥~e;izdkjkph oSfðk"VÓs Li"V djk-

(2) dFkse/kh« dFkkud o ik= ;k nksu ?kVdkaps egRo Li"V djk-

(c) [kk«h«iSdh ,dk izðukps mŸkj 50 ðkCnkai;±r f«gk % [5]

(1) nf«r vkRedFkukaph oSfðk"VÓs Li"V djk-

(2) vkRepfj=kps Lo:i Li"V djk-

4. [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj 150 ðkCnkai;±r f«gk % [15]

(v) (1) ^^ ^fdM«s«h ek.kls* gh uodFkk ejkBh dFksP;k ikjaifjd ladsrkauk Nsn

ns.kkjh dFkk vkgs-** Li"V djk-

(2) ^ofguhaP;k ckaxMÓk* ;k dFksps vkðk; lkSan;Z Li"V djk-

(c) (1) ^vkepk cki vku~ vkEgh* ;k vkRedFkuke/kh« oMkˇÓkph oLrh Li"V

djk-

(2) ujsaÊ tk/ko ;kaP;k cfM«kaP;k O;fDrjs[ksrwu vk/kqfud cqfºizkek.;oknh fopkjlj.kh

dðkh izR;;kl ;srs \
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5. [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj 150 ðkCnkai;±r f«gk % [15]

(v) (1) rkjˇ[kksÚ;krh« fiÚ;kP;k thoukph ðkksdkafrdk m«xMwu nk[kok-

(2) ^ls>* dFkse/kwu ðksrdÚ;kaph gks.kkjh okrkgr «s[kdkus dðkh fp=hr ds«h

vkgs \

(c) (1) ^vkepk cki vku~ vkEgh* e/kh« ekrksljhaps O;fDrfp= js[kkVk-

(2) ^vkepk cki vku~ vkEgh* ;k vkRedFkukrh« Hkk"kkðkS«h lksnkgj.k Li"V

djk-
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[4301]-202

G-2 : O;kogkfjd vkf.k mi;ksftr ejkBh

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh dks.kR;kgh ngk izðukaph mŸkjs izR;sdh 20 ðkCnkai;±r f«gk % [20]

(1) O;ogkjkph Hkk"kk vkf.k dk;kZ«;hu Hkk"kk ;krh« dks.krsgh nksu Qjd f«gk-

(2) dk;kZ«;hu i=O;ogkjkps dks.krsgh nksu izdkj f«gk-

(3) vfHkuanu i= ikBo.;kps dks.krsgh nksu izlax f«gk-

(4) vukSipkfjd i=O;ogkj vkf.k vkSipkfjd i=O;ogkj ;krh« nksu Qjd lkaxk-

(5) bfro`Ÿk Eg.kts dk; \ O;k[;k f«gk-

(6) lHksP;k iwoZr;kjhlkBh vkoð;d vl.kkÚ;k ckch dks.kR;k \

(7) varxZr dk;kZ«;hu fVIi.kh Eg.kts dk; \

(8) fVIi.khps nksu izdkj f«gk-

(9) izflºhi=dkph O;k[;k f«gk-

(10) ekfgrhi=dkpk mi;ksx dk; vlrks \

(11) Lejf.kdk vkf.k xkSjfodk ;krh« usedk Qjd f«gk-

(12) ifji=dkpk okij dksBs ds«k tkrks \

(13) okf"kZd vgok«kr dks.kdks.kR;k xks"Vhapk lekosðk gksrks \
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2. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkai;±r f«gk % [10]

(1) okf"kZd loZlk/kkj.k lHkslkBh ikBoY;k tk.kkÚ;k fuea=.kkr dks.kdks.kR;k ckchapk

lekosðk vlrks \

(2) vtZ«s[kukph ekaM.kh dðkh vlkoh \ rs f«gk-

(3) Lejf.kdsps Lo:i FkksMD;kr Li"V djk-

(4) dk;kZ«;hu Hkk"kk ;koj Vhi f«gk-

3. [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mŸkj 150 ðkCnk ai;±r

f«gk %

(v) vkiY;k fe=k«k@eSf=.kh«k vfHkuanu i= f«gk- rqeP;k fe=k«k fdaok eSf=.kh«k

vknðkZ fo|kFkhZ iqjLdkj feˇk«k vkgs- [10]

fdaok

rqEgk«k jsYospk izoklh lo«r ikl gok vkgs] R;klkBh LVsðkuekLrj ;kauk fouarh

i= f«gk-

(c) fufonk&lwpuk r;kj djk % [10]

egkfo|k«;kP;k okf"kZd fu;rdkf«dkph NikbZ djk;ph vkgs-

fdaok

vkiY;k ðkgjkrh« lqizflº /kUoarjh #X.kk«;kps ekfgrhi=d r;kj djk-

4. [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mŸkj 300 ðkCnkai;±r

f«gk % [15]

(v) dk;kZ«;hu fVIi.kh r;kj djk %

Lo;aflºk efg«k cprxVkus vkiY;k mRiknukaP;k iznðkZu vkf.k foÿhlkBh usg:

LVsfM;eph ekx.kh ds«h vkgs-
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fdaok

uxj okpu eafnj ;k lkoZtfud xzaFkk«;kP;k okf"kZd loZlk/kkj.k lHksps bfro`Ÿk

r;kj djk-

(c) Lejf.kdsph :ijs"kk r;kj djk % [15]

laLFksps uko % lgdkj xzkgd HkkaMkj] fufeŸk % ve`regksRlo-

fdaok

vkiY;k egkfo|k«;kP;k jk"V™h; lsok ;kstuspk okf"k Zd vgok« r;kj

djk-
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(i) ukVd o dknacjhph rkfŸod vkf.k lSºkafrd ppkZ

(ii) ^r`rh; jRu*µe- tksfrjko Qq«s

(iii) gkY;k gkY;k nq/kw nsµckckjko eqlˇs

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. (v) [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 100 ðkCnkai;±r f«gk % [9]

(1) ukVd ;k lkfgR;izdkjkph izeq[k oSfðk"V~;s f«gk-

(2) ukVdkps usiF; Eg.kts dk; \ FkksMD;kr f«gk-

(3) ukVdkP;k lq[kkfRedk ;k izdkjkph ekfgrh f«gk-

(4) izzdkðk;kstuk gk ukVdkrh« egRokpk ?kVd dlk Bjrks \ FkksMD;kr

f«gk-

(5) ukVd ikgk;«k ;s.kkjk izs{kd ukVdkoj dks.krk vkf.k dlk ifj.kke djrks]

rs f«gk-

P.T.O.
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(c) [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 100 ðkCnkai;±r f«gk % [9]

(1) dknacjhps ?kVd dks.krs \

(2) dknacjhrh« fuosnukps izdkj dks.krs] rs f«gk-

(3) dknacjhps dFkkud dðkk«k Eg.krkr \

(4) dknacjh ;k lkfgR;izdkjkps egRo FkksMD;kr f«gk-

(5) dknacjhe/;s okrkoj.kfufeZrh dðkh ds«h tkrs] rs f«gk-

2. (v) [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 100 ðkCnkai;±r f«gk % [6]

(1) ukVdkrh« laoknkps egRo FkksMD;kr f«gk-

(2) laxhr ukVdkph ekfgrh f«gk-

(3) ukVdke/;s jaxeap egRokpk dk eku«k tkrks] rs f«gk-

(4) ukVdkph lafgrk Eg.kts dk; \ FkksMD;kr f«gk-

(c) [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 100 ðkCnkai;±r f«gk % [6]

(1) dknacjhrwu izknsfðkd thoukps fp=.k dðkkizdkjs ds«s tkrs] rs

f«gk-

(2) dknacjhrh« O;fDrjs[kk ijLijkaoj dðkkizdkjs ifj.kke djrkr] rs

f«gk-

(3) ^lektthoukps nðkZu dknacjhrwu ?kMrs* ;k fo/kkukph lk/kdck/kd ppkZ

djk-

(4) dknacjh «s[kukekxP;k fofo/k izsj.kk FkksMD;kr f«gk-
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3. (v) [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkai;±r f«gk % [10]

(1) ^r`rh; jRu* ukVdkojh« baxzth ukVdkpk izHkko FkksMD;kr f«gk-

(2) ^r`rh; jRu* ukVdkrh« la?k"kZ Li"V djk-

(3) ^r`rh; jRu* ukVdkrh« fonw"kdkP;k Hkwfedsps egRo f«gk-

(4) ^r`rh; jRu* ukVdkrh« tksxkbZph O;fDrjs[kk ðkCncº djk-

(c) [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkai;±r f«gk % [10]

(1) ^gkY;k gkY;k nq/kw ns* ;k dknacjhrh« xkS.k O;fDrjs[kk dks.kR;k vkgsr]

rs f«gk-

(2) ^gkY;k gkY;k nq/kw ns* ;k dknacjhrh« lkodkjkps LoHkkofp= js[kkVk-

(3) ^gkY;k gkY;k nq/kw ns* e/kh« X;kuck«k dks.kdks.kR;k ladVkapk lkeuk

djkok «kxrks \

(4) ^gkY;k gkY;k nq/kw ns* ;k dknacjhrh« izknsfðkdrk Li"V djk-

4. [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mŸkj 150 ðkCnkai;±r f«gk % [15]

(v) (1) ^r`rh; jRu* ukVdkpk vkðk; foðkn djk-

(2) ^r`rh; jRu* ukVdkrwu dks.krk lansðk fn«k xs«k vkgs \

(c) (1) ^gkY;k gkY;k nq/kw ns* ;k dknacjhr cks«hHkk"kspk mi;ksx dlk ds«k

vkgs \

(2) ^gkY;k gkY;k nq/kw ns* ;k dknacjhrh« L=h O;fDrjs[kkapk ifjp; d:u

|k-
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5. [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mŸkj 300 ðkCnkai;±r f«gk % [15]

(v) (1) ^r`rh; jRu* ;k ukVdkps ijh{k.k djk-

(2) ^r`rh; jRu* ;k ukVdkrwu lektizcks/ku ?kMrs gs fo/kku Li"V djk-

(c) (1) ðksrdÚ;kP;k nSU;koLFksps fp=.k ^gkY;k gkY;k nq/kw ns* e/kwu dls ds«s

vkgs] rs f«gk-

(2) ^gkY;k gkY;k nq/kw ns* ;k dknacjhps dFkkud FkksMD;kr f«gk-



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [4301]-204

S.Y. B.A. EXAMINATION, 2013

MARATHI (ejkBh)

foðððððks"kLrj izðððððuif=dk ÿekad&2

˝e/;;qxhu ejkBh ok≥~e;kpk bfrgkl % izkjaHk rs 1818 (LFkwˇ)˛

(2008 PATTERN)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps xq.k nðkZforkr-

1. iq<h«iSdh ngk izðukaph mŸkjs izR;sdh 20 ðkCnkai;±r f«gk (izR;sd xVkrh« dks.krsgh

ikp) % [20]

(v) (1) dks.kR;kgh nksu rkeziVkaph ukos f«gk-

(2) EgkbaHkVkauh laikfnr ds«sY;k nksu xzaFkkaph ukos f«gk-

(3) ^/kfj«k ia<jhpk pksj* gk vHkax dq.kkpk vkgs \

(4) ^xq#xzaFklkfgc* ;k xzaFkkr dks.kR;k ejkBh larkP;k vHkaxkapk lekosðk ds«k

vkgs \

(5) Hkk#Mkaph jpuk izHkkohi.ks dks.kR;k larkus ds«h \

(6) egkuqHkkokaps iapœ".k f«gk-

(7) Qknj fLVQUl ;kaP;k xzaFkkph ukos f«gk-

P.T.O.
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(c) (1) ^^dU;k lklqjklh tk;sA ekxs ijrksuh ikgs˚** gk vHkax dq.kkpk \

(2) jkenklkaP;k dks.kR;kgh nksu xzaFkkaph ukos f«gk-

(3) ^^≈l Mksaxk ifj jl uksgs MksaxkA** gk vHkax dq.kkpk vkgs \

(4) ðkkfgjh dkO;kps izdkj f«gk-

(5) dks.kR;kgh nksu iafMr dohaph ukos R;kaP;k xzaFkklfgr f«gk-

(6) isðkosdk«hu nksu c[kjhaph ukos f«gk-

(7) jkepaÊiar vekR; ;kauh dks.krk xzaFk f«fg«k \

2. iq<h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj 50 ðkCnkai;±r f«gk % [10]

(v) (1) lar lkorkekˇh ;kaP;k vHkaxkps Lo:i Li"V djk-

(2) egkuqHkko iaFkkrh« ^«hˇkpfj=* ;k xzaFkkps egRo Li"V djk-

(c) (1) eukP;k ð«ksdkps egRo Li"V djk-

(2) vuar QanhaP;k QVD;kapk FkksMD;kr ifjp; d:u |k-

3. iq<h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj 150 ðkCnkai;±r f«gk % [20]

(v) (1) egkuqHkkokaP;k x| ok≥~e;kps Lo:i o oSfðk"VÓs f«gk-

(2) lar ,dukFkkauk «ksdfðk{kd dk Eg.krkr rs lksnkgj.k Li"V djk \

(c) (1) ^rqdk >k«kls dˇl* ;k vHkaxkph lkFkZdrk Li"V djk-

(2) ^c[kjh*ph xq.koSfðk"VÓs f«gk-
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4. iq<h«iSdh ,dk izðukps mŸkj 300 ðkCnkai;±r f«gk % [15]

(1) lar dof;=haP;k dkO;kps Lo:i o oSfðk"VÓs f«gk-

(2) egkuqHkkokaP;k lkrh xzaFkkapk ifjp; d:u |k-

5. iq<h«iSdh ,dk izðukps mŸkj 300 ðkCnkai;±r f«gk % [15]

(1) ejkBh f[kzLrh ok≥~e;kps Lo:i o osxˇsi.k Li"V djk-

(2) ejkBhrh« ðkkfgjh ok≥~e;kpk ifjp; d:u |k-



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [4301]-205

S.Y. B.A. EXAMINATION, 2013

FRENCH (G-2)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

1. Traduisez en anglais.

Une mousson dévastatrice. [10]

Depuis le mois de Septembre, les pluies ont inondé des régions

de I’inde, du Népal et du Bangladesh. En Inde, I’eau a recouvert

un million d’hectares de terres et près de 14 millions de personnes

sont victimes. La mousson est un phénomène qui se répète chaque

année en Asie. Pourquoi rien n’est fait pour éviter ces inondations ?

On n’avait pas vu une telle mousson depuis des dizaines d’années.

L’eau apporte les maladies graves. L’aide tarde à venir. Ils manquent

d’eau potable, de nourriture et de médicaments. Les Organisations

humanitaires qui aident les victimes demandent que l’aide arrive

plus vite, et a temps.

2. Vous avez été ‘froid’ avec un nouveau collègue. Ecrivez-lui une lettre

d’excuses. [15]
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Ou

Vous êtes victime du bizutage. Ecrivez une plainte au proviseur de

votre lycée.

3. Compréhension. Lisez le texte et répondez : Le transport des vins.

Une fois résolu le problème du choix des vins, il faut les transporter.

Le transport de vins de qualité impose quelques précautions et obéit

à une réglémentation stricte. Qu’on le transporte soi-même en voiture

ou qu’on utilise des services d’un transporteur, le gros de l’été

et le cœur de l’hiver ne sont pas favorables au voyage du vin.

II faut préserver le vin des températures extrêmes, surtout des

températures élevées qui ne l’affectent pas temporairement

mais définitivement, quels que soient sa couleur, son type et son

origine. Arrivé à domicile on deposera tout de suite les bouteilles

en cave.

(1) Dites vrai ou Faux : [3]

(a) On peut transporter le vin dans n’importe quelle condition.

(b) On peut transporter le vin pendant toute l’année.

(c) Le vin rouge nécessite plus de précautions.
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(2) Trouvez des noms à partir des verbes suivants : [2]

(a) Impose

(b) déposera.

(3) Trouvez des adjectifs à partir des adverbes : [2]

(a) Temporairement

(b) définitivement.

(4) Traduisez en anglais à partir de « Qu’on le transporte ................

au voyage du vin « [3]

4. Répondez en 4 ou 5 phrases complètes. 5 au choix : [5×5=25]

(a) Quelles sont les émissions à la télé ?

(b) Quel est votre sport préféré ? Pourquoi ?

(c) Pourquoi l’histoire de Roméo et Juliette, est-elle triste ?

(d) Quelle tâche quotidienne aimez-vous ? Pourquoi ?

(e) A quoi sert une ceinture de sécurité dans une voiture ?

(f) Quelle est votre région préférée ? (parlez des endroits, touristiques,

la gastronomie et la culture locales).

5. Grammaire et Vocabulaire : [20]

(1) Translate into French : to spend money, a TV anchor, A fire

in a factory, His car has broken down, winter sports.
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(2) Trouvez des adverbs : sec, doux, prudent, gentil, vif.

(3) Recrivez la phrase en trouvant le nom pour le mot souligné.

‘Il n’est pas capable de faire ce travail’

Nous avons applaudi ce chanteur’.

(4) Utilisez un pronom relatif : Voici Aradhya ................... la

mère est une vedette de cinéma. C’est un enfant ....................

est déjà célèbre et ...................... ses parents protègent du

média.

(5) Faites des phrases complètes avec ces mots :

*s’en aller,*blague, *être distrait,*bavard, *coup.



Total No. of Questions—5] [Total No. of Printed Pages—2

Seat

No. [4301]-212

S.Y. B.A. EXAMINATION, 2013

GUJARATI (General—II)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

1. GLR[GFDF\YL SM.56 V[S V[S V[S V[S V[S lJQFI 5Z lGA\W ,BM o Ú16Û

s!f J;\TGM J{EJ

sZf DFZF UFDDF\ O[,FI[,M ZMURF/M

s#f U|FD“JG VG[ XC[ZL“JG

s$f DFT'5|[D

2. GLR[GFDF\YL SM.56 V[S V[S V[S V[S V[S 5|`GGM ;lJ:TZ pøZ ,BM o   Ú16Û

s!f óóU]HZFTL ;FlCtI VG[ EFQFFGM V[S VD}<I JFZ;M :JFDL VFG\N[ VF%IM

K[Pòò pNFCZ6 VF5L ;D‘JMP

sZf óó:JFDL VFG\NGF UnDF\ ;\TMGL JF6L J6FI[,L K[Pòò ;N'Q8F\T VF,[BMP

3. GLR[GFDF\YL SM.56 V[S V[S V[S V[S V[S 5|`GGM ;lJ:TZ pøZ ,BM o [16]

s!f óó5|[DFG\N[ 5MTFGF VFbIFGDF\ ,F{lSS Z;R8SF VG[ ;RM8 J6"GS/FG[ :YFG

VF%I]\ K[Pòò ;]NFDFRlZ+GF VFWFZ[ ,BMP

sZf óó;]NFDFRlZTòò DF\ CF:I5F+ E… ;]NFDF K[Pòò J6"JMP

P.T.O.
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4. sVf 8}\S GM\W ,BM sSM.56 V[SV[SV[SV[SV[Sf o [8]

s!f KM8]SFSFGF\ V;L,M

sZf DMG“ ~NZGM 5F+5lZRIP

sAf 8}\S GM\W ,BM sSM.56 V[SV[SV[SV[SV[Sf o [8]

s!f ;]NFDFGL 5lZl:YlT

sZf S'Q6V[ SZ[,M ;]NFDFGM ;tSFZP

5. sVf 5}JF"5Z ;\A\W ,BM sV[S Un4 V[S 5nf o [4]

s!f óóDMG“V[ ZF\0[,L 5MZLG[ OZL 5Z6FJLG[ WD"XF`;T lJZ]WG]\ SFD SLW]\Pòò

sZf óó,. ‘VM TDFZL UFIP VD[ S[8,F lNJ; ;FRJLV[ mòò

sAf s!f óó38 38DF\ jIF5L ZÊM4 5}Z6 5]Z]QF 5]ZF6Pòò [4]

sZf óóUCG NL;[ EF.4 SD"GL UlT4 V[S U]Z]GF VDM lJWFZYLPòò

sSf TDFZF lD+q;BLG[ AFZDLGL AM0" 5ZL1FFDF\ 5|YD ÃDF\S VFjIF AN, VlEG\NG

5+ ,BMP [8]

VYJFVYJFVYJFVYJFVYJF

TD[ ,LW[,L 5]:TS D[/FGL D],FSFTGM VC[JF, T{IFZ SZMP



Total No. of Questions—5] [Total No. of Printed Pages—4

[4301]-213

S.Y. B.A. EXAMINATION, 2013

URDU

General Paper  II

(2008 PATTERN)

Time : Three Hours   Maximum Marks : 80

N.B. :—(1) Attempt  All  questions.

(2) Figures to the left indicate full marks.

  




  




  

P.T.O.

 Seat
  No.






     

 

 

 

    

 

 

 

     

 


 



 


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 


  

 

 


  

 

    

  

 

  


 

 

 


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  

 

  

 

 



4 [4301]-213
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[4301]-214
S.Y. B.A. EXAMINATION, 2013

URDU

Special Paper  I

[History of Urdu Literature (1901 to 2000)]

(2008  PATTERN)

Time : Three Hours   Maximum Marks : 80

N.B. :— (i ) Attempt  All  questions.

 (i i ) Figures to the left indicate full marks.

  




  




  




P.T.O.

 Seat
  No.



  




    
 
 
 
 

2 [4301]-214
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[4301]-215
S.Y. B.A. EXAMINATION, 2013

URDU
Special  Paper II

(Prose  and  Poetry  Text)
(2008  PATTERN)

Time : Three Hours   Maximum Marks : 80

 

  


 

  




  




P.T.O.

 Seat
  No.



    

 

 

 

 

    

 



 



 



 



 


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 


 


 



3 [4301]-215



Total No. of Questions—5+5] [Total No. of Printed Pages—7

Seat

No. [4301]-218

S.Y. B.A. EXAMINATION, 2013

fganh % lkekU;&2

HINDI (G2)

(dgkuh] Nk;koknksŸkj dkO; ,oa ys[ku)

(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

ikB~;&iqLrdsa :— (i)  dFkk fogkjµlaik- MkW- lqjs'kdqekj tSu

            MkW- oh.kk eupank

(ii) dkO; dqlqekoyhµlaik- MkW- lqjs'kdqekj tSu

              MkW- Ωpk 'kekZ

lwpuk,° :— (i) lHkh iz'u vfuok;Z gSaA

(ii) nkfguh vksj fy[ks vad iz'u ds iw.kk±d gSaA

1. fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mŸkj fyf[k, % [16]

(1) ^fnYyh es a ,d ekSr* dgkuh es a cnyrh ekuoh; laosnuk dks Li"V

dhft,A

(2) ^cMs+ ?kj dh csVh* dgkuh dh dFkkoLrq ij izdk'k Mkfy,A

P.T.O.
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2. fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mŸkj fyf[k, % [16]

(1) ^xhr Qjks'k* dfork dk vk'k; Li"V dhft,A

(2) ^t; gks* dfork dk HkkokFkZ fyf[k,A

3. fuEufyf[kr esa ls fdUgha nks vorj.kksa dh llanHkZ O;k[;k dhft, % [16]

(1) ^^ij ml lyksuh ds ihNs&ihNs

?kql vk;ha fctyh dh cfŸk;k°

csg;k /kM+&/kM+ xkfM+;ksa dh %

ekuq"kksa dh [kM+h&[kM+h cksfy;k°A**

(2) ^^eSa gh ckdh

D;ksafd deks± dh ifŸk;k° vHkh dqN 'ks"k Fkha

gekjs vius iq'rSuh iks[kj esa

eukscy 'ks"k Fkk lw[ks 'kjhj esa---------**

(3) ^^Lo.kZ&‹k`a[kyk ds cU/ku esa

viuh xfr] mM+ku lc Hkwys]

cl liuksa esa ns[k jgs gSa

r# dh Qquxh ij ds >wys!**
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(4) ^^dadj fujkys uhys@yky lrjaxh ihys

f'k'kq dh ltkoV viuh

f'k'kq dh izohurkA

ok.kh dh nhurk@viuh eSa phUgrkA**

4. (v) fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k, % [8]

(1) ^ijnk* dgkuh dh izrhdkRedrkA

(2) ^vkdk'k&nhi* dk cqºxqIrA

(3) ^ve`rlj vk x;k gS--------* dgkuh % foHkktu dh =klnhA

(vk) fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k, % [8]

(1) ^rktegy dh Nk;k esa* dfork esa fpf=r izse&HkkoukA

(2) ^mudks iz.kke* dfork dk lkjka'kA

(3) ^t; gks* dfork dk izfrikn~;A

5. (v) fuEufyf[kr es a ls foKkiu vFkok O;kolkf;d i= dk uewuk r S;kj

dhft,A [8]

fdlh ,d ugkus ds lkcqu ds yqHkkous foKkiu dk uewuk rS;kj dhft,A

vFkok

O;oLFkkid] Hkkjr lapkj fuxe fyfeVsM] eqacbZ ds uke vius foHkkx ds nwjHkk"k

dsaÊ dh f'kdk;r djrk@djrh gSA
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(vk) fuEufyf[kr okD;ksa esa ls fdUgha pkj okD;ksa dks ldkj.k 'kqn~/k djds fQj ls

fyf[k, % [8]

(1) eSaus pIiysa iguhA

(2) ;g 'kqn~/k HkSal dk nw/k gSA

(3) fot; dk vkokt lqanj gSA

(4) jes'kus fdrkc i<+kA

(5) eSa Lo;a xhr xk jgk FkkA

(6) eksgu ukxiwj dks tk jgk gSaA
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[4301]-218

iz;kstuewyd fganh (oSdfYid)

le; % rhu ?kaVs iw.kk±d % 80

lwpuk,° :— (i) lHkh iz'u vfuok;Z gSaA

(ii) nkfguh vksj fy[ks vad iz'u ds iw.kk±d gSaA

1. fuEufyf[kr iz'uksa esa ls fdUgha vkB ds laf{kIr mŸkj fyf[k, % [16]

(1) iz;kstuewyd fganh dk vFkZ crkb,A

(2) iz;qfDr dh ladYiuk Li"V dhft,A

(3) 'kSyh fdls dgrs gSa \

(4) dk;kZy;hu fganh dh nks fo'ks"krk,° fyf[k,A

(5) O;kolkf;d i=kpkj ds izdkj fyf[k,A

(6) tulapkj dk dk;Z crkb,A

(7) foKkiu dh Hkk"kk ds xq.k fyf[k,A

(8) baVjusV dh mi;ksfxrk crkb,A

(9) eqfÊr ek/;e ds izdkj fyf[k,A

(10) laoknnkrk ds xq.k fyf[k,A

2. (v) fuEufyf[kr 'kCn&;qXeksa esa ls fdUgha pkj ds vFkZ crkdj okD; esa iz;ksx

dhft, % [8]

(1) dqtuµdwtu

(2) vrqyµvry
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(3) N=µNk=

(4) cgqµcgw

(5) ef.kµe.kh

(6) 'k'k/kjµ'kf'k/kj

(7) jaxµjad

(8) uhjtµuhjnA

(vk) fuEufyf[kr esa ls fdUgha nks ?kVukvksa@izlaxksa dh laoknkRed vfHkO;fDr

fyf[k, % [8]

(1) thrs gq, usrk ls eqykdkr

(2) ck<+&ihfM+r O;fDr ls laokn

(3) jk"V™ifr Jherh izfrHkk ikfVy ls eqykdkr

(4) lM+d nq?kZVukA

3. (v) fuEufyf[kr esa ls fdlh ,d ij vkdk'kok.kh ds fy, foKkiu dk uewuk rS;kj

dhft, % [8]

(1) thou chek dk foKkiu

(2) cktkj esa vk;k u;k ySiVkWiA

(vk) fuEufyf[kr esa ls fdlh ,d ij nwjn'kZu ds fy, foKkiu dk uewuk rS;kj

dhft, % [8]

(1) Ldwyh f'k{kk laca/kh foKkiu

(2) fctyh&cpr ds mik;A
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4. fuEufyf[kr esa ls fdUgha pkj y?kwŸkjh; iz'uksa ds mŸkj fyf[k, % [16]

(1) iz;kstuewyd fganh dk ifjp; nhft,A

(2) O;kolkf;d i=kpkj dk Lo:i fyf[k,A

(3) okf.kT; ,oa O;kikj dh fganh dh fo'ks"krk,° crkb,A

(4) tulapkj ek/;eksa dh mi;ksfxrk crkb,A

(5) laikndh; ys[ku ds xq.k crkb,A

5. fuEufyf[kr fo"k;ksa esa ls fdUgha pkj ij fVIif.k;k° fyf[k, % [16]

(1) laoknnkrkvksa dh Jsf.k;k°

(2) foKkiu ds iz;kstu

(3) bZ&dkelZ

(4) cSafdax i=kpkj dk egRo

(5) lkfgfR;d fganhA



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4301]-219

S.Y. B.A. EXAMINATION, 2013

fganh % fo'ks"k I

(HINDI : SPECIAL I)

(dkO;'kkL=)

(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

lwpuk,° :— (i) lHkh iz'u vfuok;Z gSaA

(ii) nkfguh vksj fy[ks vad iz'u ds iw.kk±d gSaA

1. fuEufyf[kr esa ls fdUgha nl iz'uksa ds mŸkj la{ksi esa fyf[k, % [20]

(1) dkO;fo"k;d laLœr dh ,d ifjHkk"kk fyf[k,A

(2) vfHk/kk 'kCn'kfDr ls D;k rkRi;Z gS \

(3) dkO; ds rhu gsrw fyf[k,A

(4) egkdkO; esa fdrus lxZ gksus pkfg, \

(5) dkO; ds pkj rRo dkSuls gSa \

(6) ukVd dh ifjHkk"kk fyf[k,A

(7) lapkjh Hkko fdls dgrs gSa \

P.T.O.
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(8) of.kZd Nan fdls dgrs gSa \

(9) fuca/k ds nks rRo fyf[k,A

(10) jsfM;ks ukVd dk izk.k fdls le>k tkrk gS \

(11) dgkuh fo/kk ds pkj rRo fyf[k,A

(12) jl ds vaxksa ds uke fyf[k,A

(13) vkykspd ds fy, vko';d nks xq.k fyf[k,A

2. fuEufyf[kr esa ls fdUgha nks Nanksa ds y{k.k crkdj lksnkgj.k Li"V dhft, % [10]

(1) nksgk

(2) dqaMfy;k

(3) f'k[kfj.kh

(4) ÊqrfoyafcrA

3. fuEufyf[kr esa ls fdUgha pkj iz'uksa ds mŸkj fyf[k, % [20]

(1) dkO; esa HkkorRo ds egRo dks izfrikfnr dhft,A

(2) fganh fon~okuksa }kjk nh xbZ dkO; dh izeq[k ifjHkk"kk,° fyf[k,A

(3) jsfM;ks ukVd dk Lo:i Li"V dhft,A

(4) ohj jl dk lksnkgj.k ifjp; nhft,A

(5) thouh fo/kk dk Lo:i fo'kn dhft,A

(6) vkykspuk ds mÌs'; dks Li"V dhft,A
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4. fuEufyf[kr esa ls fdUgha rhu iz'uksa ds mŸkj foLrkj ls fyf[k, % [30]

(1) egkdkO; ds y{k.kksa ij izdk'k Mkfy,A

(2) 'kCn'kfDr dh ifjHkk"kk nsrs gq, mlds Hksnksa dks fo'kn dhft,A

(3) dgkuh vkSj miU;kl dh ikjLifjd rqyuk dhft,A

(4) fuca/k dh ifjHkk"kk nsrs gq, mlds rRoksa dks Li"V dhft,A

(5) jl dh ifjHkk"kk nsrs gq, jlkaxksa dk foospu dhft,A



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [4301]-220

S.Y. B.A. EXAMINATION, 2013

HINDI (fganh)

Special Paper II

(ukVd] miU;kl vkSj e/;;qxhu dkO;)

(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

ikB~;iqLrdsa :— (i) ^cdjh* µ losZ'ojn;ky lDlsuk A

(ii) ^nkSM+* µ eerk dkfy;k A

(iii) ^dkO;dqat* µ ^e/;;qxhu fganh dkO;*

laik- µ MkW- ts- vkj- cksjls

MkW- Ωpk 'kekZ A

lwpuk,° :— (i) lHkh iz'u vfuok;Z gSa A

(ii) nkfguh vksj fy[ks vad iz'u ds iw.kk±d gSa A

1- fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj lfoLrkj fyf[k, % [16]

(1) miU;kl ds rRoksa ds vk/kkj ij ^nkSM+* miU;kl dh leh{kk dhft, A

(2) oS'ohdj.k ds lanHkZ esa ^nkSM+* miU;kl ij izdk'k Mkfy, A

2- fuEufyf[kr iz'u dk mŸkj foLrkjiwoZd fyf[k, % [16]

dchj dh HkfDr in~/kfr dks Li"V dhft, A
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vFkok

fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k, %

(1) lwj dk okRlY; o.kZu A

(2) in~ekor esa fojg o.kZu A

(3) fcgkjh dk ‹k`axkj fp=.k A

(4) ehjka dh œ".k HkfDr A

3- (v) fuEufyf[kr vorj.kksa esa ls fdlh ,d dh llanHkZ O;k[;k dhft, % [8]

(1) flvjs ek° vkt ds tekus esa L=h vkSj iq#"k dk mfpr vyx&vyx

ugha jgk gS A vki rks i<+h fy[kh gks ek°] le; dh nLrd igpkuksa A

bDdhloha lnh esa ;s lM+s xys fopkj ysdj ugha pyuk gS gesa] budk

riZ.k dj Mkyks Afi

(2) flcgqr vPNh tknqbZ A jktqy] eqYd dh lkjh glhu yM+fd;k° foKkiuksa

esa pyh x;ha gSa] rHkh rks jktdksV dh lM+dksa ij ,d Hkh glhuk

utj ugha vkrh Afi

(vk) fuEufyf[kr vorj.k dh llanHkZ O;k[;k dhft, % [8]

fldks dfg ldS c<s u lksa] y[ks cM+h ;ksa Hkwy A

nhus nbZ xqykc ds] bu Mkju ds Qwy ˚fi

vFkok

flizhre dks dwa ifr;k° fy[kw dmok] rw ys tkbZ A

izhre th lwa ;w dgS js Fkkjh fojg.kh /kku u [kkbZ A

ehjk nklh C;kdqyh js] fio fio djr fogkbZ ˚

csfx feyks izHkq varjtkeh] rqe fcu jg~;ks u tkbZ ˚fi
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4- fuEufyf[kr iz'u dk mŸkj foLrkjiwoZd fyf[k, % [16]

^cdjh* ukVd dh izklafxdrk fo'kn dhft, A

vFkok

fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k, %

(1) ^cdjh* ukVd esa fpf=r va/kfo'okl A

(2) ^cdjh* ukVd dh izrhdkRedrk A

(3) ^cdjh* ukVd esa laokn&rŸo A

5- fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k, % [16]

(1) ^nkSM+* miU;kl esa fpf=r vFkZyksyqirk A

(2) ^nkSM+* miU;kl dh Hkk"kk&'kSyh A

(3) ^nkSM+* miU;kl esa ikfjokfjd laca/k A



Total No. of Questions—4] [Total No. of Printed Pages—4

[4301]-221

S.Y.  B.A. EXAMINATION, 2013

PERSIAN

General  Paper  II

(2008  PATTERN)

Time : Three Hours   Maximum Marks : 80

N.B. :—(1) All questions are compulsory.

(2) Figures to the right indicate full marks.

1. Give an account of life and literary works of Dr. Allama Iqbal. [14]

OR

Give an account of life history of Mulla Wa-iz Husain Kashfee.

2. (A) Comment on the book ‘‘Gulistaan-e-Saadi’’. [15]

OR

Give an account of life and literary works of Maulana

Roomi.

(B) Write the salient features of the poetry of Hafiz Shirazi. [15]

OR

Draw a sketch of life and literary works of Abul Hasan

Ameer Khusrau.

P.T.O.

 Seat
  No.



3. Reproduce in your own words in Persian any two of the following : [12]


 

 

 

 

4. (A) Explain in Persian or translate into English, Urdu or Marathi

any three of the following : [12]

 






 



 




 

 


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  

 

 


 


 
 






  










(B) Explain in Persian or translate into English, Urdu or Marathi

any four of the following : [12]

 


 


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 




 

 
 



 


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No. [4301]-222

S.Y.B.A. EXAMINATION, 2013

SANSKRIT (G-II)

(Raghuvamsha Canto V & VI, Bhagavadgita Chapter III to VI)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

1. (A) Translate into English or Marathi any two of the following

passage : [8]

[kkyhyiSdh dks.kR;kgh nksu i| mrkÚ;kaps baxzthr fdaok ejkBhr Hkk"kkarj djk %

(1) ,oa r;ksj/ofu nSo;ksxknklsnq"kks% l[;efpUR;gsrq A

,dks ;;kS pS=jFkizns'kkUlkSjkT;jE;kuijks fonHkkZu~ ˚

(2) vFks'ojs.k ÿFkdSf'kdkuka Lo;aojkFk± LoklqfjUnqeR;k% A

vkIr% dqekjku;uksRlqdsu Hkkstsu nqrks j?kos fol`"V% ˚

(3) dkea u`ik% lUrq lgÚ'kksMU;s jktUorhekgqjusu Hkwfee~ A

u{k=rkjkxzgladqykfi T;ksfr"erh pUÊelSo jkf=% ˚
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(B) Explain with reference to the context any two of the

following : [8]

[kkyhyiSdh dks.kR;kgh nksgkassps llanHkZ Li"Vhdj.k djk %

(1) jktk iztkj¥¥kuyC/ko.kZ% ijariks uke ;FkkFkZukek A

(2) lw;sZ riR;koj.kk; n`"Vs% dYisr yksdL; dFka rfeÚk A

(3) dkjkx`gs fuftZroklosu y≥~ds'ojs.kksf"krek izlknkr~ A

2- Write an essay type answer to any one of the following : [16]

[kkyhyiSdh dks.kR;kgh ,dk iz'ukps lfoLrj mŸkj fygk %

(1) Describe the similes in the fifth canto of j?kqoa'k-

j?kqoa'kkP;k ikpO;k lxkZrhy miek Li"V djk-

(2) Critically appreciate the sixth canto of j?kqoa'k-

j?kqoa'kkP;k lgkO;k lxkZps jlxzg.k djk-

3- Explain any two of the following verses : [16]

[kkyhyiSdh dks.kR;kgh nksu 'yksdkaps Li"Vhdj.k djk %

(1) ,oa cgqfo/kk ;Kk forrk cz„.kks eq[ks A

deZtkfUofºrkUlokZuso KkRok foeks{;ls ˚

(2) lka[;;ksxkS i`FkXckyk% izonfUr u if.Mrk% A

,deI;kfLFkr% lE;xqHk;ksfoZUnrs Qye~ ˚

(3) ;ks eka i';fr loZ= lo± p ef; i';fr A

rL;kga u iz.k';kfe l p es u iz.k';fr ˚
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4- Write an essay type answer to any one of the following : [16]

[kkyhyiSdh dks.kR;kgh ,dk iz'ukps lfoLrj mŸkj fygk %

(1) Summarise the fourth chapter of Bhagavadgita.

Hkxon~xhrsP;k pkSF;k v/;k;kpk lkjka'k-

(2) Explain ^deZ;ksx* with the help of third chapter of Hkxon~xhrk-

Hkxon~xhrsP;k frlÚ;k v/;k;kP;k vk/kkjs ^deZ;ksx* ladYiuk Li"V djk%

5- Write a short note on any one from Sections A and B each :

^v* vkf.k ^c* foHkkxkrhy izR;sdh ,dkoj laf{kIr Vhi fygk %

Section A [8]

 (foHkkx ^v*)

(1) Description of miracles in the 5th canto of the Raghuvansha.

j?kqoa'kkP;k ikpO;k lxkZrhy vn~Hkqr o.kZu-

(2) The Pauranic references of the 6th canto of Raghuvansha.

j?kqoa'kkP;k lgkO;k lxkZrhy ikSjkf.kd lanHkZ-

Section B [8]

 (foHkkx ^c*)

(1) Dhyana Yoga.

/;ku;ksx

(2) Threefold karma.

f=fo/k deZ-
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S.Y. B.A. EXAMINATION, 2013

SANSKRIT (S-1)

(dkO;'kkL=foe'kZ] o`Rrfopkj o dkSfVyh; vFkZ'kkL= (vf/kdj.k 1] 6)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

1. (A) Explain into English or Marathi any two of the following :  [8]

iq<hyiSdh dks.kR;kgh nksgksaps baxzthr fdaok ejkBhr Li"Vhdj.k djk %

(i) dkO;a l|% ijfuo`Zr;sA

(ii) 'kekfnon~ ofrZrO;a u 'kok.kkfnor~A

(iii) ladsrks x`·rs tkrkS xq.kÊO;fÿ;klq pA

(B) Explain with Sanskrit definition and Sanskrit illustration any two

of the following figures of speech : [8]

iq<hyiSdh dks.kR;kgh nksu vyadkjkaps laLœre/khy y{k.k vkf.k mnkgj.k lkaxwu

Li"Vhdj.k djk %

(i) 'ys"k

P.T.O.
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(ii) mies;ksiek

(iii) mRizs{kk

(iv) vizLrqriz'kalkA

2. Write an essay type answer to any one of the following : [16]

[kkyhyiSdh dks.kR;kgh ,dk iz'ukps lfoLrj mRrj fygk %

Discuss the definition of dkO; according to eEeV-

eEeVkus lkafxrysY;k dkO;y{k.kkph ppkZ djk-

Or

(fdaok)

Explain the six types of y{k.kk-

^"kn~fo/kky{k.kk* Li"V djk-

3. (A) Explain with reference to the context any two of the following : [8]

iq<hyiSdh dks.kR;kgh nksgksaps llanHkZ Li"Vhdj.k djk %

(i) viz.khrLrq ekRL;U;k;eqn~Hkko;frA

(ii) dk;ZlkeF;kZfº iq#"klkeF;± dYI;rsA

(iii) 'keO;k;kekS ;ksx{kse;ks;ksZfu%A
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(B) Explain with Sanskrit definition and Sanskrit illustrations any

two of the following meters : [8]

laLœre/khy y{k.k vkf.k mnkgj.k lkaxwu iq<hyiSdh dks.krsgh nksu o`Rrs Li"V

djk %

(i) Hkqt≥~xiz;kr

(ii) olarfrydk

(iii) ekfyuh

(iv) eUnkÿkUrk-

4. Write an essay type answer to any one of the following : [16]

[kkyhyiSdh dks.kR;kgh ,dk iz'ukps lfoLrj mRrj fygk %

(i) Explain seven factors of the State.

jkT;kP;k ^lIrizœfr* Li"V djk-

(ii) Discuss the types of fo|k in ^fo|kleqÌs'k%*-

^fo|kleqÌs'k%* ;k v/;k;krhy fo|kaps izdkj Li"V djk-

5. Write a critical paragraph on any one from each Section A

and B :

iq<hyiSdh ^v* vkf.k ^c* foHkkxkrwu izR;sdh dks.kR;kgh ,dkoj foospd ifjPNsn

fygk %
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Section A

(foHkkx ^v*)

(i) Benediction of dkO;izdk'k-

dkO;izdk'kkps eaxykpj.k-

(ii) dkO;gsrq%A [8]

Section B

(foHkkx ^c*)

(i) Types and nature of work of envoys.

nwrkaps izdkj o dk;kZph izœfr-

(ii) jktiq=j{k.ke~- [8]
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SANSKRIT (S-II)

laLœr

Vedasaurabha (osnlkSjHk)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(i) loZ iz'u vfuok;Z vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. (A) Translate into English or Marathi any two of the following

Mantras with necessary notes : [6]

[kkyhyiSdh dks.kR;kgh nksu ea=kaps ejkBhr fdaok baxzthr vko';d Vhislg

vuqokn fygk %

(i) ;ks tkr ,o izFkeks euLoku~ nsoks nsoku~ ÿrquk i;ZHkw"kr~ A

;L; 'kq"ekÊksnlh vH;lsrka ùE.kL; e�k l tukl bUÊ% ˚

(ii) rLekf}jkˇtk;r fojktks vf/k iq#"k% A

l tkrks vR;fjP;r i‹pk⁄wfeeFkks iqj% ˚

(iii) iz okrk okfUr ir;fUr fonÓqr mnks"k/khftZgrs fiUors Lo% A

bjk fo‹oLeS Hkqouk; tk;rs ;r~ itZU;% i`fFkoha jsrlkofr ˚
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(B) Write an essay type answer to any one of the following : [10]

[kkyhyiSdh dks.kR;kgh ,dkps lfoLrj mŸkj fygk %

(i) Describe the deity Varuna in the Rgveda.

ΩXosnkrhy o#.k nsorsps o.kZu djk-

(ii) Appreciate the ljekif.klaoknlwDr in the Rgveda.

ΩXosnkrhy ljekif.klaoknlwDrkps jlxzg.k djk-

2. (A) Translate into English or Marathi any two of the following

Mantras with necessary notes : [6]

[kkyhyiSdh dks.kR;kgh nksu ea=kaps baxzthr fdaok ejkBhr lVhi Hkk"kkUrj

djk %

(i) ;s f="kIrk% ifj;fUr fo‹ok :ikf.k fcHkzr% A

okpLifrcZyk rs"kka rUoks vnÓ n/kkrq es ˚

(ii) iqujsfg okpLirs nsosu eulk lg A

olks"irs fu je; e∏;sokLrq ef; Jqre~ ˚

(iii) beka 'kkyka lfork ok;qfjUÊks c`gLifrfuZ feuksrq iztkuu~ A

m{kUrwnuk e#rks ?k`rsu Hkxks uks jktk fu œf"ka ruksrq ˚

(B) Write an essay type answer to any one of the following : [10]

[kkyhyiSdh dks.kR;kgh ,dkps lfoLrj o.kZu djk %

(i) liZfo"kuk'kulwDr in the Atharvaveda.

vFkoZosnkrhy liZfo"kuk'kulwDr-

(ii) Various subjects dealt in the Atharvaveda.

vFkoZosnkrhy fofo/k fo"k; Li"V djk-
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3. (A) Explain with reference to the context any one of the

following : [6]

[kkyhyiSdh dks.kR;kgh ,dkps llanHkZ Li"Vhdj.k djk %

(i) lkseks oS jktk ;tekuL; x`gkukxPNfr A

(ii) loZnsaoR;ks oS ;wi% A

(B) Write an essay type answer to any one of the following : [10]

[kkyhyiSdh dks.kR;kgh ,dkps lfoLrj mŸkj nÓk %

(i) Explain the rite of miu;u.

miu;ufo/kh Li"V djk-

(ii) How does Taittiriya Brahmana justify the sacrifice of

Apamarga ?

rSfRrjh; czk„.kke/ks vikekxZgksekps leFkZu dls dsys vkgs \

4. (A) Explain any one of the following with reference to the

context : [6]

[kkyhyiSdh dks.kR;kgh ,dkps llanHkZ Li"Vhdj.k nÓk %

(i) okpkjEHk.ka fodkjks uke/ks;a e`fRrdsR;so lR;e~ A

(ii) vfonÓ;k e`R;qa rhRokZ fonÓ;k∑e`re'uqrs A

(B) Write an essay type answer to any one of the following : [10]

[kkyhyiSdh dks.kR;kgh ,dkps lfoLrj mŸkj fygk %

(i) Explain HkkxZohok#.khfonÓk-

HkkxZohok#.khfonÓk Li"V djk-

(ii) Explain the conversation between Asvala and Yajnavalkya.

v‹oyk vkf.k ;kKoYD; ;kaP;krhy laokn Li"V djk-
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5. (A) Write a critical note on any one of the following : [6]

[kkyhyiSdh dks.kR;kgh ,dkoj foospd ifjPNsn fygk %

(i) Peculiarities of Rgvedic Language.

ΩXosnkph Hkkf"kd oSf'k"VÓs-

(ii) Usas deity in the Rgveda.

ΩXosnkrhy m"kl~ nsork-

(B) Write critical notes on any two of the following : [10]

[kkyhyiSdh dks.kR;kgh nksgksaoj foospd ifjPNsn fygk %

(i) The name ^vFkokZf≥~xjl~* of the vFkoZosn.

vFkoZosnkps ^vFkokZf≥~xjl~* gs ukao-

(ii) Style of the Brahmanagranthas.

czk„.kxzaFkkaph Hkk"kk'kSyh-

(iii) The yo.kksnd analogy.

yo.kksnd n`"Vkar-
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ARDHAMAGADHI (Prakrit) (G-2)

(i) vxMnŸkeqf.kvŸkdgk

   (ii) vHk;D[kk.k of vEcnso

(2008 PATTERN)

osˇ % rhu rkl ,dw .k xq.k % 80

(x| foHkkx)

1. Translate any two from the following into English or Marathi : [8]

iq<hyiSdh dks.kR;kgh nksgksaps baxzthr vFkok ejkBhr Hkk"kkarj djk %

(i) rrks /kfEeYyks fo mÎs≈.k rfga ft..kqTtk.ks fgafMma i;ŸkksA rRFk ; ?k.kiŸky&folky&

xaHkhj&r#.kiŸkiYyo&fucºfumjacHkw;Ll dqlqeHkjksuearlap;Ll] Hkejeqgjsjo&

xqaft;flgjLl] ok;olidaiek.kuPpa riYyoXxgRFkLl vlksxojik;oLl fgÎk fufoÎa]

ft.klkl.klkjfnÎijeRFklCHkkoa cgqxq.kearlqe.ka le.kojxa/kgfRFk isPNfrA

(ii) iqfPN;k ; esµHkÌs ! dkfl rqea \ dLl ok \ dqvks ok ,fl \ fŸkA rrks

rh, bZlhflgfl;nhlar:oyÎlqºnariarh, okeik;axqÎ,.ka Hkwferya rhgarh, vga Hkf.kvksµ

vTtmŸk! ,;Ll l,T>;Hko.kLl xgobtD[knŸkLl /kw;k ga lksenŸkk ukeA
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(iii) mfÎvks ; Hk.kb eeaµvb ! uxja xPNkeks fŸkA

rrks vgefo llafdvks Ns;cqºhi;kjs.k re.kqxPNkfeA

fpafr;a p e,µ,l lks uxjifjekslvks rDdjks fŸkA

ifoÎk eks ; u;jaA rRFk ; mŸkk.k.k;.kisPNf.kTta

dLlb iq..kfolslflfjlw;xa Hko.kaA rLl ; vkjkeqgs.k ugj.ks.ka laf/ka fNafnma i;Ÿkks

lqgPNsnHkwfeHkkxs fufoÎkA

2. Explain with reference to the context any two of the following :  [8]

iq<hyiSdh dks.kR;kgh nksgksaps lanHkkZlfgr Li"Vhdj.k djk %

(i) gk ! gk ! grks Hkk;?kk;mfŸkA

(ii) ^^folsls.k ek;k, lRFks.k ; garOoks vIi.kks fooÔek.kks lŸkq** fŸkA

(iii) vgks !!! lkgla efgyk.kaA

3. Critically appreciate the story—vxMnŸkeqf.kvŸkdgk- [16]

vxMnŸkeqf.kvŸkdgsps leh{k.k djk-

Or

(fdaok)

Give the character-sketch of lksenŸkk-

lksenŸksps O;fDrfp=.k djk-
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4. Write a critical paragraph on any one of the following : [8]

iq<hyiSdh dks.kR;kgh ,dk fo"k;koj foospd ifjPNsn fygk %

(i) lqHkkf"krs in the vxMnŸkeqf.kvŸkdgk

vxMnŸkeqf.kvŸkdgk e/khy lqHkkf"krs

(ii) eqfunh{kk of vxMnŸk-

vxMnŸkkph eqfunh{kk-

5. Translate any two of the following stanzas into English or Marathi : [8]

iq<hyiSdh dks.kR;kgh nksu 'yksdkaps baxzthr fdaok ejkBhr Hkk"kkarj djk %

(i) rks Hkwob.kk Hkf.k;a ^HkÌ rqea HkÌlsfV~B.kks /kw;aA

ifj;k.ksfl lq.kana rks vHkvks Hk.kb ^vkea* fr˚

rks lk;ja ufjans.k iqfPN;a *rh, oPN xCHkfEeA

fda tk;a* fr li.k;a ^iqRrks* fRr i;ai,˚

(ii) lqdqekjpj.ktq;ya i;pkjs.ka egh, xPNaraA

dqeja nV~BqelRrks lq;.kks Oo llh voDdarks˚

^fdg oPNb* fRr nV~Bqa fn.ksljks mn;fxjhojk:<ksA

t.k;koek.knqgHkkjiwfj;a lsf.k;dqekja˚

(iii) xqfM;d;koj#oks jk;nqokjfEe vko.ka ?ksRrqaA

ikjºks oogfjma vHkvks vg vUufnolfEe˚

xaPNars.k ufjans.k rkvks xf.k;kvks fxgxoD[kfEeA

mofoÎkvks fnÎkvks Hkqo.kvCHkfg;:okvks˚
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6. Explain with reference to the context any two of the following :  [8]

iq<hyiSdh dks.kR;kgh nksgksaps lanHkkZlg Li"Vhdj.k djk %

(i) [kk;xnal.kj;.ka ikob g;ikiCHkkjksA

(ii) ^jk;fxgu;jiaMjdqÏk xkscky;* fRr i;aA

(iii) ^jD[ks;Ooks dqejks vyD[k,fga vok;k.k*A

7. Attempt any one of the following : [16]

iq<hyiSdh dks.krkgh ,d iz'u lksMok %

Write a detailed note on vkeznsolwjh and his vk[;kudef.kdks'ko`fRr%-

vkeznsolwjh vkf.k R;kaph ^vk[;kudef.kdks'ko`fRr%* ;koj lfoLrj Vhi fygk-

Or

(fdaok)

Write critical explanation on ikfj.kkfedhµcqfn~/k of vHk;dqekj-

vHk;dqekjkph ikfj.kkfedh&cqn~/kh ;koj fpfdRld Li"Vhdj.k fygk-

8. Write critical paragraph on any one of the following : [8]

iq<hyiSdh dks.kR;kgh ,dkoj foospd ifjPNsn fygk %

(i) Examination of princes by the king izlsuftr-

jktk izlsuftrk}kjs jktdqekjkaph ijh{kk-

(ii) Kidnapping of vHk;dqekj-

vHk;dqekjkps vigj.k-
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1. Translate into English or Marathi any two from each Section. [24]

izR;sd foHkkxkrhy dks.kR;kgh nksgksaps baxzth fdaok ejkBhr Hkk"kkarj djk-

Part I

(foHkkx I)

(A) vFk [kks oklsÎHkkj}ktk ek.kok ;su Hkxok rsuqil¡fealq_ mil¡feRok Hkxork

lfºa lEeksfnalqA lEeksnuh;a dFka lkj.kh;a ohfrlkjsRok ,deUra fulhfnalqA ,deUra

fuflUuks [kks oklsÎks ek.koks HkxoUra ,rnokspµ^^b/k] Hkks xksre] vEgkda t–fogkja

vuqp¡eUrkua vuqfopjUrkua eXxkeXxs dFkk mnikfnA vga ,oa onkfe&^v;eso

mtqeXxks] v;e¥tlk;uks fu∏;kfudks fu∏;kfr rDdjLl cz„lgC;rk;] ∏ok;a vD[kkrks

czk„.ksu iksD[kjlkfruk*frA Hkkj}ktks ek.koks ,oekgµ^v;eso mtqeXxks v;e¥tlk;uks

fu∏;kfudks fu∏;kfr rDdjLl cz„lgC;rk;] ∏ok;a vD[kkrks czk„.ksu rk#D[ksuk*frA

,RFk] Hkks xksre] vRFkso foXxgks] vfRFk fooknks] vfRFk ukukoknks**frA

P.T.O.
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(B) ^^fda uq rkga] ekyqDÓiqŸk] ,oa vopaµ^,fg Roa] ekyqDÓiqŸk] ef; cz„pfj;a

pj] vga rs C;kdfjLlkfe&^lLlrks yksdks*fr ok] ^vlLlrks yksdks*fr ok] ^vUrok

yksdks*fr ok] ^vuUrok yksdks*fr ok] ^ra thoa ra ljhj*fUr ok] ^v¥k~¥ka thoa

v¥k~¥ka ljhj*fUr ok] ^gksfr rFkkxrks ija ej.kk*fr ok] ^u gksfr rFkkxrks ija

ej.kk*fr ok] ^gksfr p u p gksfr rFkkxrks ija ej.kk*fr ok] \ ^^uks gsra]

HkUrs**A ^^Roa ok iu ea ,oa vopµvga] HkUrs] Hkxofr cz„pfj;a pfjLlkfe]

Hkxok es C;kdfjLlfrµ^lLlrks yksdks*fr ok] ^vlLlrks yksdks*fr ok] ^vUrok

yksdks*fr ok] ^vuUrok yksdks*fr ok] ^ra thoa ra ljhj*fUr ok] ^v¥k~¥ka thoa

v¥k~¥ka ljhj*fUr ok \

(C) vFk [kks vk;Lek iq..kks eUrkf.kiqŸkks lsuklua lalkesRok iŸkphojeknk; ;su

lkofRFk rsu pkfjda iDdkfeA vuqiqCcsu pkfjda pjekuks ;su lkofRFk tsroua

vukFkfif.MdLl vkjkeks ;su Hkxok rsuqil¡fe_ mil¡feRok HkxoUra

vfHkoknsRok ,deUra fulhfnA ,deUra fuflUua [kk s vk;LeUra iq..ka

eUrkf.kiqŸka Hkxok ËkfEe;k dFkk; lUnLlsfl leknisfl leqŸkstsfl lEigalsflA

vFk [kks vk;Lek iq..kks eUrkf.kiqŸkks Hkxork /kfEe;k dFkk; lUnfLlrks

leknfirks leqŸksftrks lEigaflrks Hkxorks Hkkflra vfHkufUnRok vuqeksfnRok

mÎk;kluk HkxoUra vfHkoknsRok infD[k.ka dRok ;su vU/koua rsuqil¡fe

fnokfogkjk;A
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Part II

(foHkkx II)

(A) ^^rwyiq..klfnlksiek mHkks] lksHkjs lq iknk iqjs eeA

rs tjk; QqfVrk oyherk] lPpokfnopua vu¥¥kFkk˚

^^,fnlks vgq v;a leqLl;ks] tTtjks cgqnqD[kkueky;ksA

lksiysiifrrks tjk?kjks] lPpokfnopua vu¥¥kFkk**˚

(B) ^^bnkfu rs bea iqŸka] n.Msu Nqfjdk; okA

Hkwfe;a ok fulqEHks∏;a] iqŸklksdk u xPNfl**˚

^^lps iqŸka fl¬kykua] dqDdqjkua inkfgflA

u ea iqŸkdŸks tfEe] iqujkoŸkf;Llfl**˚

(C) ^^rLl rs ufRFk HkhrŸka] fHk∏;ks o..kks ilhnfrA

dLek u ifjnsosfl] ,o:is egCHk;s˚

^^ufRFk psrflda nqD[ka] vuisD[kLl xkef.kA

vfrDdUrk Hk;k lCcs] [kh.kla;kstuLl os˚

2. Explain with reference to the context any two from each Section. [16]

izR;sd foHkkxkrhy dks.kR;kgh nksgksaps lanHkkZlfgr Li"Vhdj.k djk-

Part I

(foHkkx I)

(A) bna nqD[k*fUr] ekyqDÓiqŸk] e;k C;kdra_ ^v;a nqD[kleqn;ks*frµe;k C;kdra_

^v;a nqD[kfujks/kks*frµe;k C;kdra_ ^v;a nqD[kfujks/kxkfeuh ifVink*frµe;k C;kdraA

dLek psra] ekyqDÓiqŸk] e;k C;kdra \
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(B) dfPp iu oks] leXxk] lEeksnekuk vfonekuk [khjksndhHkwrk v¥¥ke¥¥ka fi;pD[kwfg

lEiLlUrk fogjkek** frA

(C) ^ek Hkkf; egkjkt] brks dkj.kk fdf¥p rs ve¬ya ufRFk] gRFkouxYyegkfogkjs

dksfp egkFksjks vjgŸka ikiq.kh* fr vkgA

Part II

(foHkkx II)

(A) ^^ek es dqfT> egkohj] ek es dqfT> egkeqfuA

u fg dks/kijsrLl] lqfº vfRFk dqrks riks˚

(B) fcUnqlkjLl iqŸkkua lCcsla tsÎHkkrquksA

lqeuLl dqekjLl iqŸkks lks fg dqekjdks˚

(C) ^^lqeŸka ea e¥¥kekuk] pkik iqŸkerkslf;A

pkik; cU/kua NsRok] iCcftLla iquksiga˚

3. Attempt any one from each part in detail. [24]

izR;sd foHkkxkrhy dks.kR;kgh ,dk iz'ukps lfoLrj mŸkj |k-

Part I

(foHkkx I)

(A) pwyekyq≥~D;lqŸkkps foospd ijh{k.k djk-

Critically evaluate pwyekyq≥~D;lqŸk-
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(B) lks.kdksfˇfolRFksjkapk vk/;kfRed izokl lfoLrj Li"V djk-

Explain in detail the spiritual journey of lks.kdksfˇfolRFksj-

Part II

(foHkkx II)

(A) fuxzks/klke.ksjps thou-

Life of fuxzks/klke.ksj-

(B) vEcikyhps thou-

Life of vEcikyh-

4. Write a detailed note on any one from each part. [16]

izR;sd foHkkxkrhy dks.kR;kgh ,dkoj Vhi fygk-

Part I

(foHkkx I)

(A) vC;kdr iz'u

(B) dqywidfHkD[kq

Part II

(foHkkx II)

(A) nkuikjeh

(B) FksjhxkFkk-
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1. Translate into English or Urdu or Marathi any two of the following

passages : [16]

 









 



P.T.O.

 Seat
  No.











 











2. Translate and explain wi th Shaan-e-Nuzool  any two of the

following : [16]

 

 

 
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3. (A) Translate with reference to the context any four  of the

following : [8]

 



 



 



 



 



 



P.T.O. 3 [4301]-227



 



 



(B) Summarize any two of the following : [8]

 

 

 

 

4. Define and illustrate any two of the following : [16]

 

 

 

 
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5. (A) Translate the following passage into ‘‘English’’ only : [8]











(B) Translate the following passage into ‘‘Arabic’’ only : [8]

Go to the room and read your book. Majid sit on your desk and

read the new lesson. Open your note-book and write a short

essay. Fatima go to the school in the morning and play

in the garden in the evening. Write your name on the new note- 

book.
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-228

S.Y. B.A. EXAMINATION, 2013

ECONOMICS

General Paper II (G-2)

(Banking and Co-operation in India)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer the following questions in 50 words each (any

two) : [10]

(i) State types of deposits.

(ii) Explain the evolution of banking in India.

(iii) Explain the co-operative movement in Maharashtra.

(iv) Explain the three-tier structure of Co-operative Banks.

2. Write notes in 100 words each (any four) : [20]

(i) Advantages of Automated Teller Machine.

(ii) Explain the main principles of co-operation.

P.T.O.
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(iii) Primary agricultural co-operative society.

(iv) State Trading Corporation.

(v) Functions of NABARD.

(vi) Types of cheques.

3. Answer the following questions in 200 to 250 words each (any

three) : [30]

(i) What is Bill of Exchange ? Explain the features of Bill of

Exchange.

(ii) Explain the role of Co-operative Agricultural Marketing.

(iii) Explain the functions of Reserve Bank of India.

(iv) What is credit control ? Explain the quantitative weapons of

credit control.

(v) Explain the nature and importance of co-operation.

4. Answer any one of the following questions in 500 words : [20]

(i) What is credit creation ? Explain the process of multiple credit

creation by banks.

(ii) Explain the problems and suggest the remedies of sugar industry

in Maharashtra.



[4301]-228 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœfr dk<k-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) %  [10]

(i) Bsohaps fofo/k izdkj lkaxk-

(ii) Hkkjrkrh« c°d O;olk;kph mRÿkarh Li"V djk-

(iii) egkjk"V™krh« lgdkj pˇoˇ Li"V djk-

(iv) lgdkj c°dkph f=Lrjh; jpuk Li"V djk-

2. [kk«h« izðukaph izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) %  [20]

(i) Lo;apf«r x.kd ;a=kps Qk;ns-

(ii) lgdkjkph eq[; rRos Li"V djk-

(iii) izkFkfed œ"kh lgdkjh laLFkk

(iv) jkT; O;kikj egkeaMˇ

(v) ukckMZph dk;sZ

(vi) /kuknsðkkps izdkj-

3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) fofue; i= Eg.kts dk; \ fofue; i=kph oSfðk"VÓs Li"V djk-

(ii) lgdkjh œ"kh foi.kukph Hkwfedk Li"V djk-



[4301]-228 4

(iii) Hkkjrh; fj>OgZ c°dsph dk;sZ Li"V djk-

(iv) irfu;a=.k Eg.kts dk; \ irfu;a=.kkph la[;kRed lk/kus Li"V djk-

(v) lgdkjkps Lo:i o egRo Li"V djk-

4. [kk«h«iSdh dks.krkgh ,d izðukph mŸkj 500 ðkCnkar f«gk % [20]

(i) irfufeZrh Eg.kts dk; \ O;kikjh c°dkph cgwxqf.kr irfufeZrhph izfÿ;k Li"V

djk-

(ii) egkjk"V™krh« lk[kj m|ksxkP;k leL;k o R;kojh« mik; Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-229

S.Y. B.A. EXAMINATION, 2013

ECONOMICS

Special Paper I

(Micro-Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer the following questions in 50 words each (any

two) : [10]

(i) State the determinants of demand.

(ii) Explain the concept of opportunity cost.

(iii) Explain the various types of market.

(iv) Describe the concept of product differentiation.

P.T.O.
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2. Write notes in 100 words each (any four) : [20]

(i) Internal and External Economies

(ii) Income effect

(iii) Uncertainty theory of Profit

(iv) Characteristics of Monopoly

(v) Selling cost

(vi) Characteristics of duopoly.

3. Answer the following questions in 200-250 words each (any

three) : [30]

(i) Explain the Law of Variable Proportions.

(ii) What is supply ? Explain the determinants of supply.

(iii) Define monopoly. Explain the short-run equilibrium under

monopoly.

(iv) Explain innovation theory of Profit.

(v) State the characteristics of perfect competition.

4. Answer the following questions in 500 words (any one) : [20]

(i) Explain the Law of Diminishing Marginal Utility.

(ii) Explain Ricardian theory of Rent.



[4301]-229 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) %  [10]

(i) ekx.kh Bjfo.kkjs ?kVd lkaxk-

(ii) oSdfYid [kpkZph ladYiuk Li"V djk-

(iii) cktkjkps fofo/k izdkj Li"V djk-

(iv) oLrwHksn ladYiuk foðkn djk-

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) %  [20]

(i) varxZr o ck· cprh

(ii) mRiUu ifj.kke

(iii) u∂;kpk vfufðprrk flºkUr

(iv) eDrsnkjhph oSfðk"VÓs

(v) foÿh[kpZ

(vi) }Sf/kdkjkph oSfðk"VÓs-

3. [kk«h« izðukaph izR;sdh 200-250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) %  [30]

(i) cn«R;k izek.kkapk fu;e Li"V djk-

(ii) iqjoBk Eg.kts dk; \ iqjoBÓkps fu/kkZjd Li"V djk-
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(iii) eDrsnkjhph O;k[;k |k- eDrsnkjhrh« vYidk«hu lerks« Li"V djk-

(iv) u∂;kpk uoizorZu flºkar Li"V djk-

(v) iq.kZLi/ksZph oSfðk"VÓs lkaxk-

4. [kk«h« izðukaph mŸkjs 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(i) ?kVR;k flekar mi;ksfxrspk fu;e Li"V djk-

(ii) fjdkMksZpk [kaM flºkUr Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-230

S.Y. B.A. EXAMINATION, 2013

ECONOMICS

Special Paper II

(Macro-Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer the following questions in 50 words each (any

two) : [10]

(i) State the limitations of Macro-Economic Analysis.

(ii) Explain the concept of Autonomous and induced investment.

(iii) Explain the concept of demand-pull inflation.

(iv) State the characteristics of Business Cycle.

2. Write notes in 100 words each (any four) : [20]

(i) Keynesian Psychological law of Consumption.

(ii) Factors affecting the Investment Function.

P.T.O.
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(iii) Causes of inflation

(iv) Elements of Monetarism

(v) Philips curve

(vi) Stagflation.

3. Answer the following questions in 200 to 250 words each (any

three) : [30]

(i) Explain the two sector model of circular flow of National

Income.

(ii) State and explain the Say’s law of Market.

(iii) Describe the consequences of deflation.

(iv) Explain the anti-cyclical monetary policy.

(v) Explain the New Policy options against the problem of

Stagflation.

4. Answer the following questions in 500 words (any one) : [20]

(i) Critically evaluate the Keynesian theory of Employment.

(ii) State the meaning of Business Cycle. Explain the phases of

Business Cycle.



[4301]-230 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) %  [10]

(i) lexz«{kh vFkZðkkL=h; foð«s"k.kkP;k e;kZnk lkaxk-

(ii) Lok;Ÿk o izsjhr xqaro.kwd ;k ladYiuk Li"V djk-

(iii) ekx.kh rk.kfufeZr p«uok< gh ladYiuk Li"V djk-

(iv) O;kikj pÿkph oSfðk"VÓs lkaxk-

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) %  [20]

(i) dsUlpk miHkksxklaca/khpk ekulðkkL=h; fu;e-

(ii) xqaro.kwd Q«ukoj ifj.kke dj.kkjs ?kVd-

(iii) p«uok<hph dkj.ks

(iv) eqÊkoknkph ew«rRos

(v) fQ«hIl oÿ

(vi) eanh;qDr p«uok<-

3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krkgh rhu) % [30]

(i) jk"V™h; mRiUukP;k pÿkdkj izokgkps f}{ksf=; izfreku Li"V djk-

(ii) ls pk cktkjisBsfo"k;d fu;e lkaxk o Li"V djk-
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(iii) p«u?kVhps ifj.kke foðkn djk-

(iv) O;kikjpÿ fojks/kh ekSÊhd /kksj.k Li"V djk-

(v) eanh;qDr p«uok< fojks/kh uohu /kksj.kkRed mik; Li"V djk-

4. [kk«h« izðukaph mŸkjs 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(i) dsUl ;kaP;k jkstxkjfo"k;d flºkarkps fVdkRed ewY;ekiu djk-

(ii) O;kikj pÿkpk vFkZ lkaxk- O;kikj pÿkP;k voLFkk Li"V djk-



Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [4301]-231

S.Y. B.A. EXAMINATION, 2013

POLITICS

General Paper II

(Constitutional and Political Process in India)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two questions in 50 words each : [10]

(1) Judicial Activism

(2) Importance of 1967 Loksabha Elections

(3) Delimitation of Constituencies

(4) Nature of OBCs Politics.

2. Answer any four questions in 100 words each : [20]

(1) Legislative relationship between Centre and State

(2) Right to Constitutional Remedies

(3) Importance of 1989 Loksabha Elections

P.T.O.
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(4) Relationship between the Parliament and the Executive

(5) Nature of Communalism after 1990

(6) 73rd constitutional amendment.

3. Answer any three questions in 200 to 250 words each : [30]

(1) Describe the salient features of the Indian Constitution.

(2) Women’s Movement : Nature and major issues.

(3) State the nature of Congress Party after 1990.

(4) Comment on the important issues in Politics of Development.

(5) Nature and importance of Coalition Politics.

4. Answer any one question in 500 words : [20]

(1) Critically examine centralizing tendency in Indian Federation.

(2) Define Fundamental Rights. Critically analyse ‘Right to Equality’

and ‘Right to Liberty’.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iz'ukaps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-



[4301]-231 3 P.T.O.

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mRrjs izR;sdh 50 ðkCnkar f«gk % [10]

(1) U;k;k«;hu lfÿ;rk

(2) 1967P;k «ksdlHkk fuoM.kqdhps egRo

(3) ernkjla?k iqujZpuk

(4) brj ekxkl oxhZ;kaP;k (vks-ch-lh-) jktdkj.kkps Lo:i-

2. [kk«h«iSdh dks.kR;kgh pkj iz'ukaph mRrjs izR;sdh 100 ðkCnkar f«gk % [20]

(1) dsaÊ o jkT; ;karh« dk;nsfo"k;d laca/k

(2) ?kVukRed mik;kapk vf/kdkj

(3) 1989P;k «ksdlHkk fuoM.kqdhps egRo

(4) laln o dk;Zdkjh eaMˇ ;krh« laca/k

(5) 1990 uarjP;k tekroknkps Lo:i

(6) 73oh ?kVuknq#Lrh-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mRrjs izR;sdh 200 rs 250 ðkCnkar f«gk % [30]

(1) Hkkjrh; ?kVusph Bˇd oSf'k"VÓs Li"V djk-

(2) L=h pˇoˇ % Lo:i vkf.k egRokps eqÌs

(3) 1990 uarj dk°xzsl i{kkps cn««s«s Lo:i Li"V djk-

(4) fodklkP;k jktdkj.kkrh« egRokP;k eqÌÓkaoj Hkk"; djk-

(5) vk?kkMh 'kklukps Lo:i vkf.k egŸo Li"V djk-
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4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mRrj 500 ðkCnkar f«gk % [20]

(1) Hkkjrh; la?kjkT;krh« dsaÊhdj.kkP;k izo`Rrhps fpfdRld ijh{k.k djk-

(2) eq«Hkwr vf/kdkjkph O;k[;k f«gk- ^lerspk vf/kdkj* vkf.k ^Lokra´;kpk vfËkdkj*

;kaps fpfdRld ewY;ekiu djk-



[4301]-231 5 P.T.O.

[4301]-231

(Optional)

(Political and Social Movements in India)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(1) Important issues in Social Reform Movement.

(2) Quit India Movement : Background and Importance.

(3) Narmada Bachao Aandolan.

(4) Challenges in front of Women Movement.

2. Answer any four of the following in 100 words each : [20]

(1) The causes for the rise of Hinduist Movement

(2) Sub-Regionalism in India

(3) Nature and limitations of Workers Movement in India

(4) Extremists methodology

(5) Contribution of Mahatma Phule in Non-Brahmnic Movement

(6) Chipko Aandolan.
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3. Answer any three of the following questions in 250 words

each : [30]

(1) Problems of Project affected people

(2) Women empowerment : Objectives and Program

(3) Nature and importance of Bahujan Movement

(4) Nature and problems of peasants movement

(5) Methods and future of Dalit Movement.

4. Answer any one of the following in 500 words : [20]

(1) Write an essay on ‘The Nature, Methods and Future of Women’s

Movement in India.

(2) Explain the contribution of OBC movement in Indian

Politics.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-
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1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mRrjs izR;sdh 50 ðkCnkar f«gk % [10]

(1) lkekftd lq/kkj.kk pˇoˇhrh« egRokps eqÌs

(2) p«stko pˇoˇ % ik'oZHkweh vkf.k egRo

(3) ueZnk cpko vkanks«u

(4) L=hpˇoˇhiq<h« vkOgkus-

2. [kk«h«iSdh dks.kR;kgh pkj iz'ukaph mRrjs izR;sdh 100 ðkCnkar f«gk %  [20]

(1) fganqRooknh pˇoˇhP;k mn;kph dkj.ks

(2) Hkkjrkrh« mi&izknsf'kdrkokn

(3) Hkkjrkrh« dkexkj pˇoˇhps Lo:i o e;kZnk

(4) tgk«kaph dk;Ziºrh

(5) e- Qq«s ;kaps czkEg.ksrj pˇoˇhrh« ;ksxnku

(6) fpidks vkanks«u-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mRrjs izR;sdh 250 ðkCnkar f«gk % [30]

(1) izdYixzLrkaP;k leL;k

(2) efg«k lc«hdj.k % mfÌ"Vs vkf.k dk;Zÿe

(3) cgqtu pˇoˇhps Lo:i vkf.k egRo

(4) 'ksrdjh pˇoˇhps Lo:i vkf.k leL;k

(5) nf«r pˇoˇhph dk;Ziºrh vkf.k HkforO;-
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4. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mRrj f«gk % [20]

(1) ^Hkkjrkrh« L=hoknh pˇoˇhps Lo:i] dk;Ziºrh o HkforO;* ;koj fucaËk

f«gk-

(2) Hkkjrh; jktdkj.kkrh« brj ekxkl oxhZ;kaP;k pˇoˇhps ;ksxnku lfoLrj Li"V

djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-232

S.Y. B.A. EXAMINATION, 2013

POLITICS

Special Paper I

(S-1 : Western and Indian Political Thinkers)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any two of the following questions (in 50 words each) : [10]

(1) Features of Social Contract given by John Locke.

(2) J.S. Mill’s views on ‘Liberty’.

(3) Dr. Bahasaheb Ambedkar’s doctrine of Dhamma.

(4) Justice M.G. Ranade’s views about British Government.

2. Attempt any four of the following questions in 100 words each : [20]

(1) Aristotle’s views on ‘Slavery’

(2) John Locke’s views on Civil Society

P.T.O.
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(3) Mahatma Phule’s understanding of British Rule

(4) Economic thought of M.G. Ranade

(5) Mahatma Gandhiji’s idea of ‘Sarvodaya’

(6) Dr. Ambedkar’s critique of Caste system.

3. Attempt any three questions (in 250 words each) : [30]

(1) Aristotle’s views on ‘Revolution’

(2) J.S. Mill on ‘Representative Government’

(3) Liberalism of M.G. Ranade

(4) ‘Theory of Satyagraha’ given by Mahatma Gandhi

(5) ‘Social Democratic Theory’ of Dr. Babasaheb Ambedkar.

4. Attempt any one question of the following (in 500 words) :  [20]

(1) Critically examine Karl Marx’s views on ‘State’ and ‘Revolution’.

(2) ‘Mahatma Jyotiba Phule—the great Visionary Social Reformer.’

Explain critically.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iz'ukaps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-
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1. [kk«h«iSdh dks.krsgh nksu izðu lksMok (izR;sdh 50 ðkCnkar) % [10]

(1) tkWu «kWd izf.kr lkekftd djkjkph oSfðk"VÓs-

(2) ts- ,l~- fe« ps Lokra´;fo"k;d fopkj-

(3) MkW- ckcklkgsc vkacsMdjkaps /kEe rRoKku-

(4) U;k- e-xks- jkuMs ;kaps fczVhðk ðkkluklaca/kh fopkj-

2. [kk«h«iSdh dks.krsgh pkj izðu lksMok (izR;sdh 100 ðkCnkar) % [20]

(1) vWfjLVkWV«ps xq«kefxjhfo"k;d fopkj

(2) tkWu «kWdpk ukxjhlektklaca/khpk fopkj

(3) e- Qq«s ;kaph fczVhðk ðkklukcÌ«ph ers

(4) U;k- e-xks- jkuMs ;kapk vkfFkZd fopkj

(5) e- xka/khthaph ^loksZn;* ladYiuk

(6) MkW- ckcklkgsc vkacsMdjkaph tkrh O;oLFksojh« ehekalk-

3. [kk«h«iSdh dks.krsgh rhu izðu lksMok (izR;sdh 250 ðkCnkar) % [30]

(1) vWfjLVkWV«ps ÿkafrfo"k;d fopkj

(2) ts- ,l~- fe«ps izkfrfuf/kd ðkkluklaca/khps fopkj

(3) U;k- e-xks- jkuMs ;kapk mnkjerokn

(4) e- xka/khapk lR;kxzgkpk flºkar

(5) MkW- ckcklkgsc vkacsMdjkapk ^lkekftd «ksdðkkghpk flºkar*-
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4. [kk«h«iSdh dks.krkgh ,d izðu lksMok (500 ðkCnkar) % [20]

(1) dk«Z ekDlZP;k ^jkT;fo"k;d* o ^ÿkarhfo"k;d* fopkjkaps VhdkRed ijh{k.k

djk-

(2) ^e- T;ksfrck Qq«s ,d Ê"Vk lektlq/kkjd !* ;k fo/kkukpk ijke"kZ

?;k-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-233

S.Y. B.A. EXAMINATION, 2013

POLITICS

Special Paper II

(S-2 : Modern Political Analysis)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any two questions (in 50 words each) : [10]

(1) Systems approach

(2) Agencies of socialization

(3) Causes of political change

(4) Factors influencing political development.

2. Attempt any four questions (in 100 words each) : [20]

(1) Features of post-behaviourism.

(2) Types of political communication.

P.T.O.
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(3) Milbrath’s diagram of political participation.

(4) Features of political modernization.

(5) Types of political change.

(6) Field study : Meaning and objectives.

3. Attempt any three questions (in 250 words each) : [30]

(1) Mention the difference between ‘Traditional’ and ‘Modern’ political

analysis.

(2) Explain the agencies of the formation of public

opinion.

(3) Huntington’s theory of political modernization.

(4) Types of political recruitment.

(5) Survey method.

4. Attempt any one question (in 500 words) : [20]

(1) Explain, the meaning and the nature of the concept ‘Political

Culture’. Discuss classification of political culture given by Almond

and Verba.

(2) Explain in detail the meaning and the nature of the term

‘Political development’.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.krsgh nksu izðu lksMok (izR;sdh 50 ðkCnkar) %  [10]

(1) O;oLFkk n`f"Vdksu

(2) lkekftdj.kkph lk/kus

(3) jktdh; cn«kph dkj.ks

(4) jktdh; fodklkoj ijh.kke dj.kkjs ?kVd-

2. [kk«h«iSdh dks.krsgh pkj izðu lksMok (izR;sdh 100 ðkCnkar) %  [20]

(1) mŸkjorZuoknkph oSfðk"VÓs

(2) jktdh; lalwpukps izdkj

(3) fe«czWFkizf.kr jktdh; lgHkkxkpk vkœrhca/k

(4) jktdh; vk/kqfudhdj.kkph oSfðk"VÓs

(5) jktdh; cn«kps izdkj

(6) {ks=h; vH;kliºrh % vFkZ o mfÌ"VÓs-

3. [kk«h«iSdh dks.krsgh rhu izðu lksMok (izR;sdh 250 ðkCnkar) %  [30]

(1) ^ikjaikfjd* o ^vk/kqfud* jktdh; foð«s"k.kkrh« Qjd f«gk-

(2) «ksderfufeZrhph ek/;es Li"V djk-
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(3) jktdh; vk/kqfudhdj.kkpk gafVaXVupk flºkar

(4) jktdh; Hkjrhps izdkj

(5) losZ{k.k iºrh-

4. [kk«h«iSdh dks.krkgh ,d izðu lksMok (500 ðkCnkar) %  [20]

(1) ^jktdh; laLœrh* ;k ladYiuspk vFkZ o Lo:i Li"V d:u vkeaM o OgckZizf.kr

jktdh; laLœrhP;k oxhZdj.kkph ppkZ djk-

(2) ^jktdh; fodkl* ;k ladYiuspk vFkZ vkf.k Lo:i lfoLrj Li"V djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-234

S.Y. B.A. EXAMINATION, 2013

HISTORY

General Paper 2

(Modern India, 1885-1992)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) State the objectives of the Indian National Congress.

(2) State the programme of Non-co-operation Movement.

(3) Write the principles of ‘Panchsheel’.

(4) What is ‘Globalization’ ?

2. Write short notes in 100 words each (any four) : [20]

(1) Causes of the rise of Extremism.
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(2) Ghadar Party.

(3) Mountbatten Plan.

(4) Consequences of the India-Pakistan Partition.

(5) India and Non-Alignment Movement.

(6) Industrial development in India.

3. Answer the following questions in 250 words each (any three) : [30]

(1) Explain the background of the rise of Indian Nationalism.

(2) Evaluate the achievement of the Indian National Army.

(3) Discuss the salient features of Indian Constitution.

(4) Give an account of the relations between India and Pakistan.

(5) Explain the rise and growth of Feminist Movement in India.

4. Answer the following question in 500 words (any one) : [20]

(1) Give an account of the Quit India Movement in India.

(2) Explain the concept ‘Dalit’ and give an account of the Dalit

Movement in India.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) Hkkjrh; jk"V™h; lHksph mfÌ"VÓs lkaxk-

(2) vlgdkj pˇoˇhpk dk;Zÿe f«gk-

(3) ^iapðkh«*ph rRos f«gk-

(4) tkxfrdhdj.k Eg.kts dk; \

2- izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) tgk«eroknkP;k mn;kph dkj.ks

(2) xnj i{k

(3) ekmaVcWVu ;kstuk

(4) Hkkjr&ikfdLrku Qkˇ.khps ifj.kke

(5) Hkkjr vkf.k vf«Irrkoknh pˇoˇ

(6) Hkkjrkrh« vkSnÓksfxd fodkl-

3- [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krhgh rhu) % [30]

(1) Hkkjrh; jk"V™oknkP;k mn;kph ikðoZHkweh Li"V djk-
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(2) vk>kn fgan lsusP;k dkefxjhps ewY;ekiu djk-

(3) Hkkjrh; jkT;?kVusP;k Bˇd oSfðk"VÓkaph ppkZ djk-

(4) Hkkjr&ikfdLrku laca/kkpk vk<kok ?;k-

(5) Hkkjrkrh« L=h ca/k&eqDr pˇoˇhP;k mn; o fodklkpk vk<kok ?;k-

4- [kk«h« izðukps mŸkj 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(1) Hkkjrkrh« p«stko pˇoˇhpk vk<kok ?;k-

(2) ^nf«r* gh ladYiuk Li"V d:u Hkkjrkrh« nf«r pˇoˇhpk vk<kok ?;k-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-235

S.Y. B.A. EXAMINATION, 2013

HISTORY

Special Paper I

(Introduction to History)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) “All History is contemporary History.” Explain.

(2) State the significance of History in Human Life.

(3) What is ‘Negative Criticism’ ?

(4) Define Nationalist School of Historiography.

2. Write short notes in 100 words each (any four) : [20]

(1) Importance of un-written sources.
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(2) Salient features of V.K. Rajwade’s History writing.

(3) Interpretation of History.

(4) Relationship between History and Economics.

(5) Define, ‘Subaltern School of Historiography’.

(6) Historical Materialism.

3. Answer the following questions in 250 words each (any three) : [30]

(1) Is History an Art or Science ? Explain.

(2) How far did the external criticism useful to the authenticity

of the sources ?

(3) Explain the contribution of T.S. Shejwalkar as a historian of

the Marathas.

(4) What is ‘Imperialist School of Historiography’ ? State its salient

features.

(5) State the achievement of K.A. Nilkantha Shastri to the

knowledge of Indian History.

4. Answer the following question in 500 words (any one) : [20]

(1) Explain the contribution of Arnold Toyanbee as a world

Historian.

(2) Make an assessment of R.C. Majumdar as a historian.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk (dks.krsgh nksu) % [10]

(1) flloZ bfrgkl gk ledk«hu bfrgkl vlrks-fi Li"V djk-

(2) bfrgklkps ekuoh thoukrh« egRo lkaxk-

(3) ^udkjkRed ijh{k.k* Eg.kts dk; \

(4) jk"V™oknh bfrgkl «s[ku iz.kk«hpk vFkZ lkaxk-

2- izR;sdh 100 ðkCnkr laf{kIr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) vf«f[kr lk/kukaps egRo-

(2) fo-dk- jktokMs ;kaP;k bfrgkl «s[kukph Bˇd oSfðk"BÓs-

(3) bfrgklkpk vUo;kFkZ-

(4) bfrgkl o vFkZðkkL= ijLijlaca/k-

(5) ^oafprkapk bfrgkl «s[ku izokg*-

(6) ,sfrgkfld HkkSfrdokn-

3- [kk«h« izðukaph izR;sdh 250 ðkCnkr mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) bfrgkl gs d«k vkgs dh ðkkL= \ foðkn djk-
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(2) lk/kukaph lR;rk Bjfo.;klkBh cfgjax ijh{k.kkpk fdrir mi;ksx gksrks \

(3) ejkBÓkapk bfrgkldkj ;k ukR;kus Vh-,l- ðksto«djkaps ;ksxnku foðkn djk-

(4) fllkezkT;oknh bfrgkl «s[ku izokgfi Eg.kts dk; \ R;kaph Bˇd oSfðk"VÓs

uewn djk-

(5) ds-,- fuˇdaB ðkkL=haph Hkkjrh; bfrgklkP;k Kkukrh« dkefxjh lkaxk-

4- [kk«h« izðukpk mŸkj 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(1) ,d tkxfrd bfrgkldkj Eg.kwu vukZYM VkW;Uch ;kaps ;ksxnku Li"V djk-

(2) bfrgkldkj ;k ukR;kus vkj-lh- etqenkj ;kaP;k dk;kZps ewY;ekiu djk-



P.T.O.

Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [4301]-236

S.Y. B.A. EXAMINATION, 2013

HISTORY

Special Paper II

[Ancient India : 3000 B.C. to 1200 A.D.]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Explain the importance of Numismatics sources.

(2) What were the causes for decline of the Harappan

Civilization ?

(3) State the progress in science during the period of Imperial

Guptas.

(4) Mention the salient features of an Art under the Cholas.

2. Write short notes in 100 words each (any four) : [20]

(1) Scope of Harappan Civilization.
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(2) Religious beliefs in later Vedic culture.

(3) Philosophical Foundation of Buddhism.

(4) Cultural contribution of Satavahanas.

(5) Significance of Sangam literature.

(6) Chalukya Pulkeshi-II.

3. Answer the following questions in 250 words each (any three) : [30]

(1) State the Foreign Accounts for the study of Ancient Indian

History.

(2) Explain the nature of urbanisation in the 6th century B.C.

(3) Examine the administration under the Mauryas with special

reference to Kautilya’s ‘Arthashastra’.

(4) Give an account of the achievements of Kanishka.

(5) Who were the Pallavas ? State their social life.

4. Answer the following question in 500 words (any one) : [20]

(1) Discuss the socio-economic life of Aryans depicted in the Vedic

literature.

(2) Estimate the achievements of Harshavardhana as a benevolent

ruler.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1- [kk«h« izðukaph izR;sdh 50 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) ,d lk/ku Eg.kwu uk.kdðkkL=kps egRo foðkn djk-

(2) gjIik laLœrhP;k Úgklkph dkj.ks dk; gksrh \

(3) xqIrkaP;k dkˇkrh« foKkukr >k«s«h izxrh lkaxk-

(4) pksˇdk«hu d«sph Bˇd oSfðk"VÓs uewn djk-

2- izR;sdh 100 ðkCnkr laf{kIr fVik f«gk (dks.krsgh pkj) % [20]

(1) gjIik laLœrhph O;kIrh-

(2) mŸkjoSfnd laLœrhe/kh« /kkfeZd letwrh-

(3) ckSºkaps rkfRod vf/k"Bk.k (fðkdo.k)-

(4) lkrokgukaps lkaLœfrd ;ksxnku-

(5) laxe lkfgR;kps egRo-

(6) pk«qD; iq«dsðkh 2jk-

3- [kk«h« izðukaph izR;sdh 250 ðkCnkr mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) izkphu Hkkjrh; bfrgklkP;k vH;klkl mi;qDr vl«s«s ijdh;kaps o`Ÿkkar lkaxk-
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(2) b-l-iw- 6O;k ðkrdkrh« ukxjhdj.kkps Lo:i Li"V djk-

(3) dkSfVY;h; vFkZðkkL=kP;k foðks"k lanHkkZr ekS;Zdk«hu izðkklu&O;oLFksps ijh{k.k

djk-

(4) dfu"dkP;k dkefxjhpk o`Ÿkkar ?;k-

(5) iY«o dks.k gksrs \ R;kaP;kdkˇkrh« lkekftd thou lkaxk-

4- [kk«h« izðukph mŸkj 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(1) oSfnd lkfgR;kr fpf=r ds«sY;k vk;k±P;k lkekftd&vkfFkZd&thoukph ppkZ

djk-

(2) dY;k.kdkjh jktk Eg.kwu g"kZo/kZukP;k dkefxjhps ewY;ekiu djk-
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[4301]-236

[History of U.S.A. : 1914 to 2001 A.D.]

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Explain the main causes of the Great Depression of 1929.

(2) Why did America participate in the World War II ?

(3) What is ‘Cold War’ ?

(4) Define ‘Black Movement’.

2. Write short notes in 100 words each (any four) : [20]

(1) Principle of self-determination.

(2) Civil Rights Movement.

(3) Truman Doctrine.

(4) STAR WAR.

(5) Open trade policy.

(6) Meaning of Terrorism.



[4301]-236 6

3. Answer the following questions in 250 words each (any three) : [30]

(1) Examine the causes for the failure of the League of Nations.

(2) Give an account of the New Deal Measures in the fields of

Industry and Labour.

(3) State the effects of Vietnam-USA War.

(4) Examine the foreign policy of America towards Pakistan.

(5) Explain the consequences of the Terrorism.

4. Answer the following question in 500 words (any one) : [20]

(1) Explain the relations between USA and India during the period

of your study.

(2) Assess the causes of the rise of U.S.A. as a super-power from

1990 to 2001 A.D.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1- [kk«h« izðukaph izR;sdh 50 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) 1929P;k tkxfrd egkeanhph izeq[k dkj.ks foðkn djk-
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(2) vesfjdsus nqlÚ;k egk;qºkr Hkkx dka ?ksr«k \

(3) ^ðkhr;qº* Eg.kts dk; \

(4) œ".k pˇoˇhpk vFkZ lkaxk-

2- izR;sdh 100 ðkCnkr laf{kIr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) Lo;a fu.kZ;kps rRo-

(2) ukxjh gDd pˇoˇ-

(3) V™qeu flºkar-

(4) LVkj okWj [STAR WAR].

(5) [kq«s O;kikj /kksj.k-

(6) ngðkroknkpk vFkZ-

3- [kk«h« izðukaph izR;sdh 250 ðkCnkr mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) jk"V™la?kkP;k vi;ðkkph dkj.kfeekalk djk-

(2) m|ksx o dkexkj {ks=krh« U;q Mh«P;k mik;;kstukapk o`Ÿkkar |k-

(3) fOg,Vuke&vesfjdk ;qºkps ifj.kke lkaxk-

(4) vesfjdsP;k ikfdLrkufo"k;d ijjk"V™h; /kksj.kkps ijh{k.k djk-

(5) ngðkroknkps ifj.kke foðkn djk-
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4- [kk«h« izðukph mŸkj 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(1) rqeP;k vH;klkP;k dk«[kaMkrh« vesfjdk o Hkkjr ;kaP;krh« laca/kkps ijh{k.k

djk-

(2) 1990 rs 2001 ;k dk«[kaMkrh« ,d tkxfrd egklŸkk Eg.kwu vesfjdsP;k mn;kph

dkj.kfeekalk djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-237

S.Y. B.A. EXAMINATION, 2013

ANTHROPOLOGY

General Paper 2

(Indian Tribes and Tribal Welfare)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in 50 words each : [10]

(1) What is fieldwork study ?

(2) State in short the classification of Indian Tribes on the basis

of economy.

(3) What is Denotified Tribe ?

(4) Write the meaning of Youth Dormitory.
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2. Write short notes on any four of the following in 100 words

each : [20]

(1) Report writing

(2) Uses of Magic

(3) Scheduled Tribe

(4) Deforestation

(5) School dropout

(6) Concept of development.

3. Answer any three of the following in 250 words each : [30]

(1) Explain the differences between Caste and Tribe.

(2) Discuss the economical and social life of Warli Tribe.

(3) Explain the process of Acculturation among the tribes.

(4) Elaborate the Integrated Tribal Development Programme.

(5) Describe the various approaches of Tribal Development.

4. Answer any one of the following in 500 words : [20]

(1) Explain the structure and functions of Youth dormitories.

(2) Discuss the various problems of Scheduled Tribes.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1- [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkai;±r f«gk % [10]

(1) {ks=vH;kl iºrh Eg.kts dk; \

(2) Hkkjrh; vkfnoklh lektkps vkfFkZd oxhZdj.k FkksMD;kr lkaxk-

(3) foeqDr tekrh Eg.kts dk; \

(4) ;qokx`gkpk vFkZ f«gk-

2- [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh 100 ðkCnkai;±r fVik f«gk % [20]

(1) vgok« «s[ku

(2) tknwps mi;ksx

(3) vuqlwphr tekrh

(4) tax«rksM

(5) ðkk«s;xˇrh

(6) fodklkph ladYiuk-

3- [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 250 ðkCnkai;±r f«gk % [30]

(1) tkr o tekr ;krh« Qjd Li"V djk-
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(2) okj«h tekrhP;k vkfFkZd o lkekftd ftoukph ppkZ djk-

(3) vkfnoklh lektkrh« lelaLœrhdj.kkph izÿh;k Li"V djk-

(4) ,dkRehd vkfnoklh fodkl dk;Zÿekps o.kZu djk-

(5) vkfnoklh fodklkps fofo/k n`"Vhdksu Li"V djk-

4- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkai;±r f«gk % [20]

(1) ;qokx`gkph jpuk o dk;sZ foðkn djk-

(2) vuqlwphr tekrhaP;k izeq[k leL;kaph ppkZ djk-



P.T.O.

Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [4301]-238

S.Y. B.A. EXAMINATION, 2013

GEOGRAPHY

General Paper II

[Gg-210 : Geography of Human Resources]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of map stencils is allowed.

(iv) Draw neat diagrams wherever necessary.

1. Answer in about 20 words each (any ten) : [20]

(1) State any two social branches of Human Geography.

(2) What is determinism ?

(3) State the names of Tigris and Euphratis civilization.

(4) Give any four physical racial traits of human race.

(5) What is Iglu ?

(6) State the economic activities of Bushmen.

(7) Define the Gotul.

(8) Give the name of Islam religion founder.

(9) Write the main religious book of Christian religion.
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(10) Write the natural causes of migration.

(11) State the pattern of rural settlement.

(12) Define the compact settlement.

(13) Define the population growth.

2. Answer in about 50 words each (any two) : [10]

(1) Possibilism

(2) Stages of Human Evolution

(3) Economic activities of Naga Tribe

(4) Cultural factors affecting on the location of rural settlement.

3. Answer in about 150 words each (any two) : [20]

(1) Describe the Stop and Go Determinism.

(2) Explain the physical traits of Human Race.

(3) Give the comparison of Buddhist and Jain Religion.

(4) Explain the adverse effect on natural resources of population

growth.

4. Answer in about 300 words each (any two) : [30]

(1) Define Human Geography. Explain the nature and scope of

Human Resource Geography.

(2) Give the geographical account of Eskimo.

(3) Give the geographical account of Bhil Tribe.

(4) Define the migration. Explain the types of migration.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vfuok;Z vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) udkðkk LVsfUl«pk okij.;kl ijokuxh vkgs-

(iv) vkoð;d rsFks lqcd vkœR;k dk<k-

1- izR;sdh lqekjs 20 ðkCnkai;±r mŸkjs f«gk (dks.krsgh ngk) % [20]

(1) ekuoh Hkwxks«kP;k dks.kR;kgh nksu lkekftd ðkk[kk lkaxk-

(2) fuðp;okn Eg.kts dk; \

(3) frxzhl&;q›kfVl laLœrhph ukos lkaxk-

(4) ekuoh oaðkkps dks.krsgh pkj ekinaM nÓk-

(5) bX«w Eg.kts dk; \

(6) cqðkesu «ksdkaP;k vkfFkZd fÿ;k lkaxk-

(7) xksrwˇph O;k[;k nÓk-

(8) bLyke /kekZP;k laLFkkidkps uko nÓk-

(9) f[kzðpu /kekZP;k ifo= xzaFkkps uko f«gk-

(10) LFk«karjkph uSlfxZd dkj.ks f«gk-

(11) xzkeh.k olkgrhaph izk:is lkaxk-

(12) dsaÊhr olkgrhaph O;k[;k-

(13) «ksdla[;k ok<hph O;k[;k-

2- izR;sdh lqekjs 50 ðkCnkai;±r mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) ðkD;rkokn
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(2) ekuoh mRÿkarhps VIis

(3) ukxk tekrhP;k vkfFkZd fÿ;k

(4) xzkeh.k olkgrhaP;k LFkkukoj ifj.kke dj.kkjs lkaLœfrd ?kVd-

3- izR;sdh lqekjs 150 ðkCnkai;±r mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) ^^Fkkack o Tkk** fuðp;oknkps o.kZu djk-

(2) ekuoh oaðkkps ðkkfjjhd ekinaM Li"V djk-

(3) ckSº vkf.k tSu /kekZph rq«uk nÓk-

(4) «ksdla[;k ok<hps uSlfxZd lk/kulaiRrhoj gks.kkjs izfrdw« ifj.kke Li"V

djk-

4- izR;sdh lqekjs 300 ðkCnki;±r mŸkjs f«gk (dks.krsgh nksu) % [30]

(1) ekuoh Hkwxks«kph O;k[;k f«gk- ekuoh lalk/ku Hkwxks«kph Lo:i o O;kIrh

Li"V djk-

(2) ,fLdeks «ksdkapk HkkSxksf«d o`Ÿkkar nÓk-

(3) fHkÀ tekrhpk HkkSxksf«d o`Ÿkkar f«gk-

(4) LFkykarj Eg.kts dk; \ LFkykarjkps izdkj Li"V djk-
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[4301]-238

Gg-210 : Geography and Natural Hazards

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

(iv) Use of map stencils is allowed.

1. Answer in about 20 words each (any ten) : [20]

(1) What is “Ecosystem” ?

(2) What is Hazard ?

(3) Give two examples of the ‘Natural Hazard’.

(4) What is ‘Risk Analysis’ ?

(5) Define the concept of “Hazard Management”.

(6) Write any two causes of cyclones.

(7) Give two management policies of Flood Hazards.

(8) Define ‘Drought’.

(9) Give any two causes of ‘Earthquake’.

(10) Write any two names of countries affected by Tsunami.

(11) Write two effects of ‘Deforestation’.

(12) Define the term ‘Forest Fire’.

(13) Write the definition of overpopulation.



[4301]-238 6

2. Answer in about 50 words each (any two) : [10]

(1) Importance of Ecosystem

(2) Man-made Hazards

(3) The Posthazard Management of Flood

(4) Management of desertification.

3. Answer in about 150 words each (any two) : [20]

(1) Explain the importance of Environmental Geography.

(2) Give the importance of Posthazard Rescuing after any Man-

made Hazard.

(3) Explain the causes and effects of dry drought.

(4) Give the causes of Landslide in India.

4. Answer in about 300 words each (any two) : [30]

(1) Describe the causes, effects and management of Tsunami Disaster.

(2) Classify Hazards and explain any one of them with

examples.

(3) Give the causes, effects and measurement of “Population Explosion”

in India.

(4) Define and explain the causes, effects and management of

cyclone.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) udkðkk LVsfUl«pk okij.;kl ijokuxh vkgs-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- izR;sdh lqekjs 20 ðkCnki;±r mŸkjs f«gk (dks.krsgh ngk) % [20]

(1) ^ifjlaLFkk* Eg.kts dk; \

(2) vkiŸkh Eg.kts dk; \

(3) uSlfxZd vkiŸkhph nksu mnkgj.ks |k-

(4) /kksD;kps foð«s"k.k Eg.kts dk; \

(5) ^vkiŸkhps O;oLFkkiu* ;k ladYiusph O;k[;k f«gk-

(6) pÿhoknˇkph dks.krhgh nksu dkj.ks lkaxk-

(7) iwj vkiŸkh O;oLFkkiukph nksu /kksj.ks lkaxk-

(8) vko"kZ.kkph O;k[;k f«gk-

(9) Hkwdaikph dks.krhgh nksu dkj.ks |k-

(10) dks.kR;kgh nksu Rlqukeh vkiŸkhxzLr nsðkkaph ukos |k-

(11) fuoZuhdj.kkps nksu ifj.kke f«gk-

(12) ^ou vkxh* ;k ladYiusph O;k[;k f«gk-

(13) vfrfjDr «ksdla[;sph O;k[;k f«gk-
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2- izR;sdh lqekjs 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) ifjlaLFksps egRo

(2) ekuofufeZr vkiŸkh

(3) iwj vkiŸkhuarjps O;oLFkkiu lkaxk

(4) okˇoaVhdj.kkps O;oLFkkiu-

3- izR;sdh lqekjs 150 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) i;kZoj.kh; Hkwxks«kps egRo Li"V djk-

(2) dks.kR;kgh ekuoh vkiŸkhps vkiŸkhuarj lqVdk dj.;kps egRo foðkn djk-

(3) dksjMÓk nq"dkˇkph dkj.ks vkf.k ifj.kke Li"V djk-

(4) Hkkjrkrh« HkwL[k«u fdaok Hkwehikrkph dkj.ks |k-

4- izR;sdh lqekjs 300 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [30]

(1) Rlqukeh vkiŸkhph dkj.ks] ifj.kke o O;oLFkkiukps o.kZu djk-

(2) vkiŸkhaps ofxZdj.k ns≈u dks.kR;kgh ,dk vkiŸkhps mnkgj.kklg Li"Vhdj.k |k-

(3) Hkkjrkrh« ^«ksdla[;k foLQksV* dkj.ks] ifj.kke o mik;;kstuk lkaxk-

(4) pÿhoknˇkph O;k[;k lkaxwu R;kph dkj.ks] ifj.kke vkf.k O;oLFkkiu Li"V

djk-



P.T.O.

Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [4301]-239

S.Y.B.A. EXAMINATION, 2013

GEOGRAPHY

Gg-220 : India—A Geographical Analysis (S-1)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

(iv) Use of map stencils is allowed.

1. Answer in about 20 words each (any ten) : [20]

(1) State the two names of eastern neighbouring countries of

India.

(2) Write the names of Himalayan ranges.

(3) Give the names of two west flowing rivers of India.

(4) Define Monsoon.

(5) Write the two measures of soil conservation.

(6) What is forest conservation ?

(7) Write the two names of Atomic Power Projects in India.

(8) What is Green Revolution ?
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(9) Give the two names of Iron and Steel Industrial centers in

India.

(10) Write two causes of Rural-Urban migration.

(11) State the names of two states of India with low population

density.

(12) Write two major characteristics of Indian Agriculture.

(13) Write two major communication tools.

2. Answer in 50 words each (any two) : [10]

(1) Summer season

(2) Laterite and Black soil of India

(3) Cotton Industries in India

(4) Problems of urbanization.

3. Answer in 150 words each (any two) : [20]

(1) Describe the Brahmaputra River system.

(2) Describe the soil degradation of India.

(3) Explain the problems of Indian Agriculture.

(4) Give an account of population composition in India.

4. Answer in 300 words each (any two) : [30]

(1) Mention the major physiographic divisions of India. Describe

the Peninsular plateau of India.
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(2) Describe the types of forests in India.

(3) Write a detailed account of power resources in India.

(4) State the types of transportation. Give an account of Road

and Railway transportation in India.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) udkðkk LVsfUlYl okij.;kl ijokuxh vkgs-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- izR;sdh 20 ðkCnkar mŸkjs f«gk (dks.krsgh ngk) % [20]

(1) HkkjrkP;k iwosZdMh« ðkstkjh nsðkkaph nksu ukos lkaxk-

(2) fgek«;kP;k jkaxkaph ukos f«gk-

(3) Hkkjrkrh« nksu ifðpe okfguh u|kaph ukos |k-

(4) ekulwuph O;k[;k-

(5) ènk la/kkj.kkps nksu mik; f«gk-

(6) ou&lao/kZu Eg.kts dk; \

(7) Hkkjrkrh« nksu v.kw ≈tkZ izdYikph ukos f«gk-

(8) gfjr ÿkarh Eg.kts dk; \

(9) Hkkjrkrh« nksu «ksg&iks«kn m|ksx dsaÊkph ukos f«gk-

(10) xzkeh.k&ukxjh LFk«karjkph nksu dkj.ks f«gk-
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(11) Hkkjrkrh« «ksdla[;sph ?kurk deh vl«s«h nksu jkT;s lkaxk-

(12) Hkkjrh; ðksrhph nksu izeq[k oSfðk"VÓs f«gk-

(13) nˇ.koˇ.kkph nksu izeq[k lk/kus f«gk-

2- izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) mUgkˇk Ωrq

(2) Hkkjrkrh« «WVsjkbZV o dkˇh e`nk

(3) Hkkjrkrh« lqrh dkiM m|ksx

(4) ukxjhdj.kkP;k leL;k-

3- izR;sdh 150 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) cz„iw=k unh iz.kk«hps o.kZu djk-

(2) Hkkjrkrh« ènk Úgklkps o.kZu djk-

(3) Hkkjrkrh« ðksrhP;k leL;k Li"V djk-

(4) Hkkjrkrh« «ksdla[;sP;k lajpusoj o`rkar f«gk-

4- izR;sdh 300 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [30]

(1) Hkkjrkrh« izeq[k izkœfrd foHkkx lkaxwu Hkkjrh; f}idYih; iBkjh iznsðkkps

o.kZu djk-

(2) Hkkjrkrh« vj.;s izdkjkps o.kZu djk-

(3) Hkkjrkrh« ≈tkZ lk/kulaiŸkhpk lfoLrj o`rkar f«gk-

(4) okgrwdhps izdkj lkaxwu Hkkjrkrh« jLrs o jsYos okgrwdhpk o`rkar f«gk-
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[4301]-239

Gg-220 : China : A Geographical Analysis (S-1)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of map stencils is allowed.

(iv) Draw neat diagrams wherever necessary.

1. Answer in 20 words each (any ten) : [20]

(1) Mention the names of any four neighbouring countries of

China.

(2) Give the geographical location of Gobi desert in China.

(3) State the names of any two tributaries of Yangtse river in

China.

(4) Write any two characteristics of winter monsoon in China.

(5) Name the soil types in China.

(6) Define conservation of forests.

(7) Write the names of any two atomic power projects in China.

(8) Name any two manganese producing areas in China.

(9) Define ‘White Revolution’.

(10) Write any two factors affecting on location of chemical

industry.
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(11) What is urbanisation ?

(12) State the types of transportation in China.

(13) Define ‘Trade Balance’.

2. Answer in 50 words each (any two) : [10]

(1) Mechanism of Chinese Monsoon

(2) Deforestation in China

(3) Thermal power projects in China.

(4) ‘Blue Revolution’ in China.

3. Answer in 150 words each (any two) : [20]

(1) Describe various seasons of China.

(2) Explain the Great Plains in China.

(3) Give an account of rural-urban migration in China.

(4) Explain Multinational and Liberalization Policy of China.

4. Answer in 300 words each (any two) : [30]

(1) Give a detailed account of major drainage patterns of China.

(2) Give an account of forest distribution of China.

(3) Explain the development of transportation network and its

complementary role in regional development of China.

(4) Explain the problems related to urbanization in China.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) udkðkk LVsfUlYl~ okij.;kl ijokuxh vkgs-

1- izR;sdh 20 ðkCnkar mŸkjs f«gk (dks.krsgh ngk) % [20]

(1) phuP;k ðkstkjh« dks.kR;kgh pkj nsðkkaph ukos lkaxk-

(2) phue/kh« xkschP;k okˇoaVkps HkkSxksf«d LFkku lkaxk-

(3) ;kaxRls unhP;k dks.kR;kgh nksu miunÓkaph ukos lkaxk-

(4) phue/kh« fgokˇh ekUlwuph dks.krhgh nksu oSfðk"VÓs f«gk-

(5) phue/kh« e`nk izdkj lkaxk-

(6) oulao/kZukph O;k[;k nÓk-

(7) phue/kh« dks.kR;kgh nksu v.kq≈tkZ izdYikaph ukos f«gk-

(8) phue/kh« dks.krsgh nksu e°xsuht mRiknd iznsðk lkaxk-

(9) ^/ko« ÿkarh* O;k[;k nÓk-

(10) jklk;fud mnÓksxkaP;k LFkkfudhdj.kkoj ifj.kke dj.kkjs dks.krsgh nksu ?kVd

f«gk-

(11) ukxjhdj.k Eg.kts dk; \

(12) phue/kh« okgrwdhps izdkj lkaxk-

(13) ^O;kikj larq«u* O;k[;k nÓk-
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2- izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) phue/kh« eksleh okÚ;kaph fuehZrh-

(2) phue/kh« fuoZuhdj.k-

(3) phue/kh« vkSf".kd fonÓqr izdYi-

(4) phue/kh« ^fu« ÿkarh*-

3- izR;sdh 150 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) phuP;k fofo/k Ωrwaps o.kZu djk-

(2) phuP;k foLr`r eSnkuh iznsðkkps Li"Vhdj.k djk-

(3) phue/kh« xzkfeu&ukxjh LFk«karjkpk o`Ÿkkar nÓk-

(4) phups cgqjk"V™h; vkf.k mnkjhdj.kkps /kksj.k Li"V djk-

4- izR;sdh 300 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [30]

(1) phue/kh« izeq[k unhiz.kk«hapk lfoLrj o`Ÿkkar nÓk-

(2) phue/kh« oukaP;k forj.kkpk o`Ÿkkar nÓk-

(3) phue/kh« okgrwd fodklkps tk š vkf.k R;kaph izknsfðkd fodklkrh« Hkwfedk

Li"V djk-

(4) phue/kh« ukxjhdj.kkP;k leL;k Li"V djk-
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Seat

No. [4301]-240

S.Y.B.A. EXAMINATION, 2013

MUSIC (G-2)

(laxhr) (th&2)

(2008 PATTERN)

fof'k"V lwpuk :— ;k lapkrh« jkxlaxhr xk;u] lrkj vkf.k rc«k ;kiSdh dks.krhgh

,d izðuif=dk lksMok-

jkxlaxhr xk;u

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk %µ ifg«k izðu vfuok;Z vkgs- ifgY;k vfuok;Z izðuklg moZfjr iz'ukaiSdh  dks.krsgh

rhu vls ,dw.k pkj izðu lksMok-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph e/; y; cafnðk Lojf«ihcº djk- [5]

2. fcgkx vkf.k ekydal ;kiSdh dks.kR;kgh ,dk jkxkph laiw.kZ ðkkL=h; ekfgrh vkjksg&vojksg&idM

;klg f«gk- [5]

3. pkSrky] vºk rhurky vkf.k >irky ;kiSdh dks.kR;kgh ,dk rkykph ekfgrh fygwu

Vkˇh&dky iºrhus rky ys[ku djk- [5]

4. [kkyhyiSdh dks.kR;kgh ikpph O;k[;k fygk % [5]

(i) va'k Loj

(ii) vYiRo

(iii) laoknh

P.T.O.
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(iv) xk;d

(v) fooknh

(vi) vuqoknh

(vii) xzke

(viii) o.kZ-

5. [kkyhyiSdh dks.kR;kgh nksuoj fVik fygk % [5]

(i) rkukaps izdkj

(ii) [;ky xk;dh

(iii) xf.krh iºrhus mŸkj&Hkkjrh; 32 FkkVkaph jpuk-

6. [kkyhyiSdh dks.kR;kgh ,dk laxhrKkps thou&dk;Z fo'kn djk % [5]

(i) ia- vksadkjukFk Bkdwj

(ii) cStq ckojk

(iii) m- vYykfn;k [kk°-

7. [kkyhyiSdh dks.kR;kgh ,dk fo"k;koj foLrkjkus fygk % [5]

(i) eh ,sdysyh eSfQy

(ii) yksdlaxhr-



[4301]-240 3 P.T.O.

[4301]-240

lrkj

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— ifg«k izðu vfuok;Z vkgs- moZjhr iz'ukaiSdh dks.krsgh rhu vls ,dw.k pkj
izðu lksMok-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph e/; y; cafnðk vFkok j>k[kkuh xr
Lojf«ihcº djk- [5]

2. HkSjoh vkf.k fcgkx ;kiSdh dks.kR;kgh ,dk jkxkph laiw.kZ ðkkL=h; ekfgrh vkjksg&vojksg&
idM ;klg f«gk- [5]

3. >irky vkf.k :id ;kiSdh dks.kR;kgh ,dk rk«kph ekfgrh fygwu ,diV vkf.k
nwIiV f«gk- [5]

4. [kkyhyiSdh dks.kR;kgh ikpph O;k[;k dj % [5]

(i) xzg
(ii) va'k
(iii) cgqRo
(iv) y;dkjh
(v) xed
(vi) >kyk
(vii) U;kl Loj-

5. [kkyhyiSdh dks.kR;kgh ,dk laxhrKkps thou&dk;Z foðkn djk- [5]

(i) ckck vYykmÌhu [kk°
(ii) m- vCnqy djhe [kk°-

6. [kkyhyiSdh dks.kR;kgh ,dk fo"k;koj foLrkjkus f«gk % [5]

(i) eh ,sdysyh eSfQy

(ii) ek>s rarqok|-
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[4301]-240

rc«k

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— ifg«k izðu vfuok;Z vkgs- ,dw.k pkj izðu lksMok-

1. fnipanh fdaok :id ;kiSdh dks.kR;kgh ,dk rkykph ekfgrh fygwu ,diV o nwIiV

fygk- [5]

2. ,drky vkf.k pkSrky ;k nksu rkykaph rqyuk djk- [5]

3. Vhik |k (,dw.k nksu) % [5]

(i) tkrh

(ii) frxqu

(iii) yXxh

(iv) pÿnkj

4. rhurky fdaok >irkyke/;s ,d rqdMk fygwu lesiklwu lesi;±r frgkbZ fygk-[5]

5. [kkyhyiSdh ,dk fo"k;koj foLrkjkus fygk % [5]

(i) ia- Hkkr[kaMs rkyfyih

(ii) rcY;kph lkFklaxr (xk;u&oknuklkBh)-
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fo'ks"klwpuk :—;k lapkrh« ^jkxlaxhr xk;u] lrkj vkf.k rc«k* ;kiSdh dks.krhgh ,d

izðuif=dk lksMok-

jkxlaxhr xk;u

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— ifg«k izðu vfuok;Z vkgs- ifgY;k vfuok;Z izðuklg moZfjr izðukaiSdh  dks.krsgh

rhu vls ,dw.k pkj izðu lksMok-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph fo«afcr cafnðk (cMk [;k«) Lojf«ihcº

djk- [5]

2. Nk;kuV vkf.k ðkqº lkjax ;kiSdh dks.kR;kgh ,dk jkxkph laiw.kZ ðkkL=h; ekfgrh

vkjksg&vojksg&idM vkf.k oSfðk"VÓkalg f«gk- [5]

3. fo«afcr ,drk«] fo«afcr rhurk« vkf.k >qejk ;kiSdh dks.kR;kgh ,dk rk«kph ekfgrh

f«gwu rk««s[ku djk- [5]

4. [kk«h«iSdh dks.kR;kgh ikp O;k[;k f«gk % [5]

(i) rhoz Loj

P.T.O.
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(ii) ean lIrd

(iii) vkjksg

(iv) U;kl

(v) ek=k

(vi) vaðk

(vii) [kaM-

5. [kk«h«iSdh dks.kR;kgh nksuoj fVik f«gk % [5]

(i) jkxkax jkx

(ii) foU;kl&viU;kl

(iii) Jqrh&Loj foHkktu

(iv) rjkuk

(v) f=oV

6. [kk«h«iSdh dks.kR;kgh ,dk laxhrKkps thou dk;Z foðkn djk % [5]

(i) ia- ckˇœ".kcqok bp«djathdj

(ii) ≈- vY«kj[kk°-

7. [kk«h«iSdh dks.kR;kgh ,dk fo"k;koj foLrkjkus f«gk % [5]

(i) laxhrkrh« ?kjk.kh

(ii) daBlk/kuk-
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[4301]-241

lrkj

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— ifg«k izðu vfuok;Z vkgs-

ifgY;k vfuok;Z izðuklg moZfjr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj

izðu lksMok-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph fo«afcr cafnðk (eflr[kkuh xr) Lojf«ihcº

djk- [5]

2. dsnkj vkf.k ckxsJh ;kiSdh dks.kR;kgh ,dk jkxkph laiw.kZ ðkkL=h; ekfgrh vkjksg&vojksg&idM

vkf.k oSfðk"VÓkalg f«gk- [5]

3. >irk« vkf.k ,drk« ;kiSdh dks.kR;kgh ,dk rk«kph ekfgrh f«gwu ,diV vkf.k

nqIiV f«gk- [5]

4. [kk«h«iSdh dks.kR;kgh ,dk laxhrKkps thou dk;Z foðkn djk % [5]

(i) iafMr xtkuujko tksðkh

(ii) ≈- vY«kj[kk°-

5. [kk«h«iSdh dks.kR;kgh ,dk fo"k;koj foLrkjkus f«gk % [5]

(i) fj;ktkps egŸo

(ii) lrkjhP;k mRiRrhfo"k;h ,sfrgkfld lanHkZ-
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rc«k

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :—ifg«k izðu vfuok;Z vkgs- ,dw.k pkj izðu lksMok-

1. fr«okMk fdaok iatkch ;kiSdh dks.kR;kgh ,dk rk«kph ðkkL=h; ekfgrh f«gwu rk«kph

nwIiV djk- [5]

2. vkMkpkSrk« vkf.k >wejk ;k nksu rk«kaph rw«uk djk- [5]

3. Vhik |k (,dw.k nksu) % [5]

(i) «;hps izdkj

(ii) frlz tkrh

(iii) dk;nk

(iv) i«Vk

4. ok|oknu vkf.k xk;ukcjkscj rc«k lkFklaxrhph oSfðk"VÓs f«gk- [5]

5. [kk«h«iSdh ,dk fo"k;koj foLrkjkus f«gk % [5]

(i) rc«Ókrh« can o [kw«k ckt

(ii) rc«k ok|fufeZrh lanHkkZr fofo/k fopkj izokg-
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fo'ks"k lwpuk :— ;k lapkrh« ^jkxlaxhr xk;u] lrkj vkf.k rc«k* ;kiSdh dks.krhgh
,d izðuif=dk lksMok-

(jkxlaxhr xk;u)

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— ifg«k izðu vfuok;Z vkgs- ifgY;k vfuok;Z izðuklg moZfjr izðukaiSdh dks.krsgh
rhu vls ,dw.k pkj izðu lksMok-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph fo«afcr cafnðk (cMk [;k«) Lojf«ihcº
djk-  [5]

2. ckxsJh vkf.k tkSuiqjh ;kiSdh dks.kR;kgh ,dk jkxkph laiw.kZ ðkkL=h; ekfgrh vkjksg&vojksg&idM
vkf.k oSfðk"VÓkalg f«gk- [5]

3. pkSrk«] >irk« vkf.k fo«afcr ,drk« ;kiSdh dks.kR;kgh ,dk rk«kph ekfgrh f«gwu
rk««s[ku djk-  [5]

4. [kk«h«iSdh dks.kR;kgh nksuoj fVik f«gk % [5]

(1) ikðoZlaxhr

(2) Lojf«ihph e;kZnk

(3) ek>k vkoMrk xhrizdkj

P.T.O.
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5. [kk«h«iSdh dks.kR;kgh nksuoj FkksMD;kr f«gk % [5]

(1) /k`in xk;uðkS«h

(2) [;k« xk;dh

(3) dkO; o laxhr

6. [kk«h«iSdh dks.kR;kgh ,dk laxhrKkps thou dk;Z foðkn djk % [5]

(1) ia- Hkhelsu tksðkh

(2) ia- Ogh- th- tksx

7. [kk«h«iSdh dks.kR;kgh ,dk fo"k;koj foLrkjkus f«gk % [5]

(1) lqxe laxhr ðkS«h

(2) e«k visf{kr vl«s«s laxhr fðk{k.k-
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[4301]-242

lrkj

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— (i) ifg«k izðu vfuok;Z vkgs-

(ii) ifgY;k vfuok;Z izðuklg moZfjr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj

izðu lksMok-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph fo«afcr cafnðk (eflr[kkuh xr) Lojf«ihcº

djk-  [5]

2. tkSuiqjh vkf.k ðkqºlkjax ;kiSdh dks.kR;kgh ,dk jkxkph laiw.kZ ðkkL=h; ekfgrh

vkjksg&vojksg&idM vkf.k oSfðk"VÓkalg f«gk- [5]

3. fr«okMk vkf.k lw«rk« ;kiSdh dks.kR;kgh ,dk rk«kph ekfgrh f«gwu ,diV vkf.k

nqIiV f«gk-  [5]

4. [kk«h«iSdh dks.kR;kgh ,dk laxhrKkps thou dk;Z foðkn djk % [5]

(1) iafMr ftrsaÊ vfHk"ksdh

(2) �m- vetnv«h [kk°

5. [kk«h«iSdh dks.kR;kgh ,dk fo"k;koj foLrkjkus f«gk % [5]

(1) laxhr fðk{k.kkps Lo:i

(2) fluslaxhrkr ok|kapk iz;ksx-



[4301]-242 4

[4301]-242

rc«k

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :—ifg«k izðu vfuok;Z vkgs- ,dw.k pkj izðu lksMok-

1. lq«rk« fdaok rsojk ;kiSdh dks.kR;kgh ,dk rk«kph ðkkL=h; ekfgrh f«gwu rk«kph

nqIiV djk-  [5]

2. dks.kR;kgh ,dk rk«kr ,d dk;nk] ,d js«k vkf.k rhu i«Vs f«gk- [5]

3. Vhik |k (dks.krsgh nksu) %  [5]

(1) iju

(2) xr dk;nk

(3) FkkV (xk;ukrh«)

(4) vken-

4. uxek («sgjk) ;kcÌ« ;ksX; rh ekfgrh |k- [5]

5. [kk«h«iSdh ,dk fo"k;koj foLrkjkus f«gk % [5]

(1) rhlz o prwjlz tkrh

(2) ia- Hkkr[kaMs rk«f«ih-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-243

S.Y. B.A. EXAMINATION, 2013

PUBLIC ADMINISTRATION

General Paper II

(Theory of Public Administration)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any

two) : [10]

(i) State the bases of Departmental Organisation.

(ii) Mention the peculiarities of Private Administration.

(iii) Explain the qualities of Leadership.

(iv) Describe the types of staff unit.

2. Write notes in 100 words each (any four) : [20]

(i) Legislative control over Public Administration.

P.T.O.
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(ii) Span of control

(iii) Nature of Public Administration

(iv) Types of training

(v) Lok Nyayalaya

(vi) Functions of line unit.

3. Answer the following questions in 200 to 250 words each (any

three) : [30]

(i) Explain the traditional approaches to the study of Public

Administration.

(ii) State the budgetary process in India.

(iii) Evaluate the Administrative Tribunals in India.

(iv) Explain the merits and demerits of principle of Hierarchy.

(v) Mention the importance of Public Administration.

4. Answer any one question of the following in 500 words : [20]

(i) Explain the types and functions of Chief Executive.

(ii) What is Recruitment ? Explain the methods of

Recruitment.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk (dks.krsgh nksu) %  [10]

(i) [kkR;kps vk/kkjHkwr ?kVd lkaxk-

(ii) [kktxh izðkklukph oSfðk"VÓs ueqn djk-

(iii) usr`Rokps xq.k Li"V djk-

(iv) LVkQ ?kVdkps izdkj o.kZu djk-

2. izR;sdh 100 ðkCnkr fVik f«gk (dks.krsgh pkj) % [20]

(i) «ksdizðkklukojh« fo/kheaMˇkps fu;a=.k

(ii) fu;a=.k d{kk

(iii) «ksdizðkklukps Lo:i

(iv) izfðk{k.kkps izdkj

(v) «ksd U;k;k«;

(vi) js"kk ?kVdkaph dkes-

3. [kk«h«iSdh dks.krsgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkr f«gk % [30]

(i) «ksdizðkklu vH;klkpk ijaijkxr n`f"Vdksu Li"V djk-

(ii) Hkkjrkrh« vFkZladYih; izfÿ;k lkaxk-
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(iii) Hkkjrkrh« izðkkldh; U;k;kf/kdj.kkps eqY;ekiu djk-

(iv) vf/kdkjinijaijsP;k rRokps xq.k&nks"k o.kZu djk-

(v) «ksdizðkklukps egRo ueqn djk-

4. [kk«h«iSdh dks.krkgh ,d izðu 500 ðkCnkr lksMok % [20]

(i) izeq[k dk;kZf/kdkÚ;kps izdkj vkf.k dk;sZ Li"V djk-

(ii) Hkjrh Eg.kts dk; \ HkjrhP;k iºrh Li"V djk-



P.T.O.
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Seat

No. [4301]-244

S.Y. B.A. EXAMINATION, 2013

PUBLIC ADMINISTRATION

Special Paper I

(Administrative Thinkers)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) State F.W. Taylor’s concept of scientific management.

(2) Mention Herbert Simon’s view on behaviourism.

(3) Mention Fred Riggs’ features of prismatic society.

(4) Describe Weber’s view on rational authority.

2. Write notes in 100 words each (any four) : [20]

(1) Simon’s Decision Making Model

(2) Nature of ‘Sala Model’

(3) Kautilya’s principle of Administration
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(4) Woodrow Wilson’s view on Administration

(5) Weber’s views on Legitimacy

(6) Kautilya’s views on Administrative Corruption.

3. Answer the following questions in 200 to 250 words each (any three) : [30]

(1) Mention Kautilya’s nature of Rajdharm.

(2) Describe Riggs’ Ecological Approach.

(3) Explain Herbert Simon’s views on Traditional Administration.

(4) Explain Nehru’s views on Bureaucracy.

(5) Explain the powers and functions of the Chief Executive suggested

by Chester Bernard.

4. Answer any one question in 500 words : [20]

(1) Evaluate Chester Bernard’s theory of Authority.

(2) Explain Max Weber’s Model of Bureaucracy.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1- [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) ,Q- MC«q- Vs«j ;kaph ðkkL=h; O;oLFkki.kkph ladYiuk lkaxk-
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(2) orZuoknkojh« gcZVZ lk;euph ers uewn djk-

(3) ›sM fjXtps leikfðZod lektkph oSfðk"VÓs uewn djk-

(4) foosdiz/kku vf/kdkjkojh« oscjph ers o.kZu djk-

2- izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) % [20]

(1) lk;eups fu.kZ; izfÿ;k izk:i

(2) ^lk«k ekWMs«*ps Lo:i

(3) dkSfVY;kph izðkkldh; rRos

(4) izðkklukojh« oqM™ks foYluph ers

(5) vf/kekU;rs laca/kh oscjph ers

(6) dkSfVY;kph izðkkldh; Hkz"Vkpkjklaca/kh ers-

3- [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) dkSfVY;kps jkt/kekZps Lo:i Li"V djk-

(2) fjXtpk okrkoj.kkRed n`"Vhdksu o.kZu djk-

(3) ijaijkxr izðkkluklaca/kh gcZVZ lk;euph ers Li"V djk-

(4) uksdjðkkgh laca/kh usg:aph ers Li"V djk-

(5) psLVj cukZMZus lkafxr«s«h eq[; vf/kdkÚ;kps vf/kdkj o dkes uewn djk-

4- [kk«h«iSdh dks.krkgh ,d izðu lksMok (500 ðkCnkar) % [20]

(1) psLVj cukZMZ iz.khr vf/kdkj flºkarkps eqY;ekiu djk-

(2) eWDl oscjps uksdjðkkghps izk:i Li"V djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4301]-245

S.Y.B.A. EXAMINATION, 2013

PUBLIC ADMINISTRATION

Special Paper II

(Institutions and Issues in Indian Administration)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) State the methods of Recruitment.

(2) Describe the functions of Public  Undertaking Committee.

(3) State the features of Indian Services.

(4) Mention the significance of E-Governance.

2. Write the notes in 100 words each (any four) : [20]

(1) Types of Budget

(2) Globalization

(3) Central Reserve Police

(4) Functions of Voluntary Organisation

(5) Social Justice

(6) Types of Training.
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3. Answer the following questions in 200 to 250 words each (any three) : [30]

(1) Explain the recommendations of National Commission for

Woman.

(2) State the structure and functions of National Development

Council.

(3) Describe the role of Lokpal and Lokayukta.

(4) Explain the structure and functions of Departments of Home

Affairs.

(5) Evaluate the role of Public Account Committee.

4. Answer any one the following questions in 500 words : [20]

(1) Explain the composition and functions of Union Public Service

Commission.

(2) Discuss the various stages of Budgetary Process in India.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(1) HkjrhP;k iºrh lkaxk-

(2) lkoZtfud miÿeklaca/khP;k lferhph dkes o.kZu djk-

(3) vkf[k« Hkkjrh; lsosph oSfðk"VÓs lkaxk-

(4) bZ&ðkklukps egRo uewn djk-
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2- izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) % [20]

(1) vankti=dkps izdkj

(2) tkxfrdhdj.k

(3) dsaÊh; jk[kho iks«hl

(4) Lo;alsoh la?kVusph dkes

(5) lkekftd U;k;

(6) izfðk{k.kkps izdkj-

3- [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(1) jk"V™h; efg«k vk;ksxkP;k fðkQkjðkh Li"V djk-

(2) jk"V™h; fodkl ifj"knsph jpuk o dkes lkaxk-

(3) «ksdik« o «ksdk;qDrkph Hkwfedk o.kZu djk-

(4) x`g[kkR;kph jpuk o dkes Li"V djk-

(5) «ksd«s[kklferhP;k Hkwfedsps ifj{k.k djk-

4- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) dsaÊh; «ksdlsok vk;ksxkph jpuk o dk;Zs lfoLrj f«gk-

(2) HkkjrkP;k vankti=dkP;k fofo/k voLFkkaph ppkZ djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4301]-246

S.Y. B.A. EXAMINATION, 2013

PSYCHOLOGY

(G-2 : Social Psychology)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) State the self-report.

(ii) Explain the Personal versus Social Identity.

(iii) State the social loafing.

(iv) Explain the Verbal Communication.

2. Write short notes in 100 words each (any four) : [20]

(i) Interview

(ii) Altruism

(iii) Discussion skills

(iv) Group structure

(v) Impact of schemas

(vi) Experimental method

P.T.O.
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3. Answer any three questions in 200-250 words each : [30]

(i) Discuss the correlation and survey method.

(ii) Discuss the self-presentation and self-regulation.

(iii) Explain the Kelly’s theories of causal attributions.

(iv) Describe the leadership styles.

(v) Illustrate the Sheriff and Asch study.

4. Answer any one of the following questions in 500 words : [20]

(i) What is Attraction ? Explain the determinants of

Attraction.

(ii) Define Aggression. Describe the nature and causes of

Aggression.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk (dks.krsgh nksu) %  [10]

(i) ^Lo* o`Ÿk (lqph) lkaxk-
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(ii) oS;fDrd fo#º lkekftd vksˇ[k Li"V djk-

(iii) lkekftd crko.kh lkaxk-

(iv) ðkkCnhd laizs"k.k Li"V djk-

2. izR;sdh 100 ðkCnkr FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) eq«k[kr

(ii) ijkFkZizo`Ÿkh (ijksidkj)

(iii) ppkZ dkSðkY;

(iv) leqg jpuk

(v) vkfn:ikpk izHkko

(vi) izk;ksfxd iºrh-

3. [kk«h« izðukaph mŸkjs izR;sdh 200&250 ðkCnkr f«gk (dks.krsgh rhu) % [30]

(i) lglaca/k vkf.k losZ{k.k iºrhph ppkZ djk-

(ii) ^Lo* lknjhdj.k vkf.k ^Lo* fu;eukph ppkZ djk-

(iii) ds«h ;kapk dkj.kkRed vkjksi.k flºkar Li"V djk-

(iv) usr̀Ro ðkS«hps o.kZu djk-

(v) ðksjhQ o vWðk ;kapk iz;ksx (vH;kl) f«gk-

4. [kk«h« izðukaph mŸkjs 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(i) vkd"kZ.k Eg.kts dk; \ vkd"k.kkZph fu;keds Li"V djk-

(ii) vkÿedrsph O;k[;k f«gk- vkÿedrsps Lo:i o dkj.kkaps o.kZu djk-



Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [4301]-247

S.Y. B.A. EXAMINATION, 2013

PSYCHOLOGY

Special Paper I

(Psychology of Adjustment)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) What is very important in happiness ?

(ii) Explain the concept of coping behaviour.

(iii) State the Obsessive–Compulsive Disorder (OCD)

(iv) Explain the concept of poor nutrition.

2. Write short notes in 100 words each (any four) : [20]

(i) Sexual Harassment

(ii) Work and career issues

P.T.O.
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(iii) Selecting a mate

(iv) Sources of Frustration

(v) Blaming yourself as common coping pattern

(vi) Eating disorders.

3. Attempt any three questions in 200-250 words each : [30]

(i) Explain the adjustment of occupational hazards.

(ii) Define anxiety. State the types of anxiety disorder.

(iii) Define stress. Explain the sources of stress.

(iv) Explain the striking out at others and indulging yourself as

a common coping pattern.

(v) State the effects of smoking on health.

4. Answer any one of the following questions in 500 words : [20]

(i) State in brief the psychoanalytical approach given by Dr. Freud.

(ii) Discuss the Placebo therapy in Health Psychology.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-
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1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) %  [10]

(i) lq[kkP;k ckcr vf/kd egRokps dk; vlrs \

(ii) lk/kd orZu gh ladYiuk foðkn djk-

(iii) fopkj&vfuok;Zrkµfÿ;k&vfuok;Zrk foœrh (OCD) Li"V djk-

(iv) dqiks"k.k gh ladYiuk Li"V djk-

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) «Saxhd Nˇ

(ii) dke vkf.k O;kolk;hd iS«w

(iii) tksfMnkjkph fuoM

(iv) oSQY;kph mxeLFkkus

(v) Lor%oj nks"kjksi dj.kkjk lkekU; lk/kd vkœrhca/k-

(vi) [kk.;kP;k foœrh-

3. [kk«h« izðukaph mŸkjs izR;sdh 200&250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(i) O;kolk;hd /kksD;kðkh lek;kstu Li"V djk-

(ii) fparsph O;k[;k |k- fparkfoœrhps izdkj Li"V djk-

(iii) r.kkokph O;k[;k |k- r.kkokph mxeLFkkus Li"V djk-
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(iv) brjkaoj vkÿe.k dj.ks vkf.k Lor%ps lek/kku dj.ks gk lkekU; lk/kd

vkœrhca/k Li"V djk-

(v) /kqezikukps LokLF;kojh« ifj.kke Li"V djk-

4. [kk«h« izðukaph mŸkjs 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(i) MkW- ›kWbZM ;kapk euksfoð«s"k.k n`f"Vdksu lfoLrj foðkn djk-

(ii) LokLF; ekulðkkL=krh« I«slhcks mipkj iºrhph ppkZ djk-
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[4301]-247

(Abnormal Psychology and Therapeutic Interventions)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two questions in 50 words each : [10]

(i) Definition and nature of abnormal behaviour.

(ii) Explain the obsessive-compulsive disorder.

(iii) State the importance of Humanistic therapy.

(iv) State the importance of professional in psychotherapy.

2. Write short notes in 100 words each (any four) : [20]

(i) Bipolar disorder

(ii) Paranoid personality disorder

(iii) Aversion

(iv) Modelling

(v) Gestalt therapy

(vi) Becks cognitive therapies.
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3. Answer any three questions in 200-250 words each : [30]

(i) Explain the classification system of abnormal behaviour with

special reference to DSM IV.

(ii) Explain the types of Phobia.

(iii) Explain the types of Anxious and fearful personality

disorder.

(iv) Describe the characteristics of psychotherapy.

(v) Explain the behaviour therapy.

4. Answer any one question in 500 words : [20]

(i) What is schizophrenia ? Explain the various types of schizo-

phrenia.

(ii) Discuss the marital and family therapy.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-
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1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk (dks.krsgh nksu) %  [10]

(i) euksfoœrh orZukph O;k[;k o Lo:i lkaxk-

(ii) fopkj&œrhµvfuok;Zrk foœrh Li"V djk-

(iii) ekuorkoknh mipkj iºrhps egRo lkaxk-

(iv) ekulksipkjkrh« O;kolkf;drsps egRo lkaxk-

2. izR;sdh 100 ðkCnkr FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) f}/k`fo; foœrh

(ii) laHkzkfrtU; O;fDreRo foœrh

(iii) ijko`rh

(iv) izfr:i vuqlj.k

(v) le"Vhoknh mipkj iºrh

(vi) csdph cks/kkRed mipkj iºrh-

3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkr mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) vilkekU; orZukph oxhZdj.k iz.kk«h fM- ,l- ,e- IV P;k lanHkkZus Li"V

djk-

(ii) nqfHkZrhps izdkj Li"V djk-
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(iii) fparkÿkar vkf.k Hk;xzLr O;fDreRo foœrhps izdkj Li"V djk-

(iv) ekulksipkjkP;k oSfðk"VÓkaps o.kZu djk-

(v) orZuksipkj iºrh Li"V djk-

4. [kk«h« izðukaph mŸkjs 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(i) fNUueuLdrk Eg.kts dk; \ fNUueuLdrsps fofo/k izdkj Li"V djk-

(ii) oSokfgd o dkSVwafcd mipkj iºrhph ppkZ djk-



Total No. of Questions—4+4] [Total No. of Printed Pages—7

Seat

No. [4301]-248

S.Y. B.A. EXAMINATION, 2013

PSYCHOLOGY

Special Paper II

(S-2 : Positive Psychology and Counselling Psychology)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any two questions in 50 words each : [10]

(1) Explain how children differ from adults.

(2) Write a note on emotional intelligence.

(3) Describe resilience in childhood.

(4) Explain the concept ‘hope’.

2. Write short notes in 100 words each (any four) : [20]

(1) Developmental tasks in adulthood

(2) Positive emotions

(3) Learned optimism

P.T.O.
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(4) Assessment of children

(5) Counselling process with older adults

(6) Trait-Factor counselling.

3. Attempt any three questions in 200-250 words each : [30]

(1) Discuss successful aging.

(2) Explain the determinants and measurement technique of

happiness.

(3) Describe in detail person-centered counselling.

(4) State the importance of communication with children.

(5) Explain the characteristics of older adults as a client.

4. Attempt any one question in 500 words : [20]

(1) What is positive psychology ? Explain the negative aspects of

human nature on the basis of traditional psychology.

(2) Define counselling. Explain the stages of counselling process.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-
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1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(1) ck«d izkS<kais{kk osxˇs dls \ Li"V djk-

(2) Hkkofud cqfºeŸksoj fVi f«gk-

(3) ckY;koLFksrh« vkuanho`Ÿkhps o.kZu djk-

(4) ^vkðkk* ladYiuk Li"V djk-

2. [kk«h« izðukaph izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(1) izkS<koLFksrh« oSdkfld dk;sZ

(2) ldkjkRed Hkkouk

(3) v/;f;r vkðkkokn

(4) ck«dkaps dk;kZRed ekiu

(5) o;Ld izkS<kaP;k ckcrhr leqinsðku izfÿ;k

(6) xq.krRo leqinsðku-

3. [kk«h« izðukaph mŸkjs izR;sdh 200-250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(1) o`ºkoLFksrh« ;ðkfLork- ppkZ djk-

(2) vkuanho`Ÿkhps ?kVd o ekiura= Li"V djk-

(3) O;fDr&dsafÊr leqinsðku lfoLrj foðkn djk-

(4) ck«dkacjkscjh« laoknkps egRo lkaxk-

(5) ,d lY«kFkhZ Eg.kwu o;Ld izkS<kph oSfðk"VÓs Li"V djk-
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4. [kk«h« izðukph mŸkj 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(1) ldkjkRed ekulðkkL= Eg.kts dk; \ ijaijkxr ekulðkkL=kP;k vk/kkjs ekuoh

LoHkkokrh« udkjkRed iS«w Li"V djk-

(2) leqinsðku O;k[;k |k- leqinsðku izfÿ;sP;k voLFkk (ik;Ú;k) Li"V

djk-
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[4301]-248

(S-2 : Developmental Psychology)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any two questions in 50 words each : [10]

(1) Explain the characteristics of neo-natal period.

(2) Explain the motor development in infancy.

(3) How do identity and self-esteem develop in adolescence ?

(4) Explain the alternative views of intelligence in early adulthood.

2. Write short notes in 100 words each (any four) : [20]

(1) Puberty.

(2) Family relationships in adolescence.

(3) Educational problems in middle childhood.

(4) Problems of working women.

(5) Play interests in the pre-school years.

(6) Stress factors in early adulthood.

3. Attempt any three questions in 200-250 words each : [30]

(1) Explain the threats of pre-natal development.
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(2) What is effective parenting ? Explain the different parenting

styles.

(3) Discuss the family relationship in middle age.

(4) Describe the primary and secondary sex characteristics in

adolescence.

(5) Explain the daily life in late adulthood.

4. Attempt any one question in 500 words : [20]

(1) Explain Piaget’s approach of cognitive development in infancy.

(2) Explain in detail physical development in early adulthood.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(1) uotkr voLFksph oSfðk"VÓs lkaxk-

(2) ðkSðkkokoLFksrh« dkjd fodkl Li"V djk-

(3) fdðkksjkoLFksr Lo&vknj o Lo&vksˇ[k dðkh fodflr gksrs \

(4) iwoZizkS<koLFksrh« cqfºeŸksfo"k;h fofo/k izokg Li"V djk-
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2. [kk«h« izðukaph izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) % [20]

(1) ikSxaM

(2) fdðkksjkoLFksrh« dkSVqafcd laca/k

(3) e/;ckY;koLFksrh« eq̌ kaP;k ðkS{kf.kd leL;k

(4) uksdjh dj.kkÚ;k L=h;kaP;k leL;k

(5) iwoZðkkˇs; o;krh« [ksˇkph vfHk#ph

(6) iwoZizkS<koLFksrh« rk.kkps ?kVd-

3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(1) tUeiwoZ fodklkps /kksds Li"V djk-

(2) ;ðkLoh ikˇdRo Eg.kts dk; \ ikˇdRokP;k fofo/k izdkjkaps o.kZu djk-

(3) e/;e o;krh« dkSVaqfcd laca/kkph ppkZ djk-

(4) fdðkksjkoLFksrh« izkFkfed o nq∏;e «{k.ks Li"V djk-

(5) o`ºkaP;k nSuafnu thoukps lfoLrj o.kZu djk-

4. [kk«h« izðukph mŸkj 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(1) fi;kts ;kapk uotkrkapk cks/kkRed fodkl n`f"Vdksu lfoLrj Li"V djk-

(2) iwoZizkS<koLFksrh« ðkkjhfjd fodkl lfoLrj Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-249

S.Y. B.A. EXAMINATION, 2013

GANDHIAN THOUGHT

General Paper II

(Socio-Political and Religious Thought)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(1) According to Gandhiji which are the four dimensions of

Freedom (Swarajya).

(2) Explain briefly Gandhiji’s opinions on Varna and Caste

System.

(3) What are the goals of Sarvodaya according to Gandhiji ?

(4) Explain Gandhiji’s idea of Panchayat Raj.

2. Write short notes on any four of the following in 100 words

each : [20]

(1) Gandhiji’s views on Science and Technology

(2) Gandhiji’s role regarding Interreligious Harmony

P.T.O.
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(3) Civil Disobedience : An effective way of Satyagraha

(4) Principle of Dignity of Labour

(5) Gandhiji’s idea of Spiritualization of Politics

(6) Gandhiji’s idea of Trusteeship.

3. Answer any three of the following questions in 200 to 250 words

each : [30]

(1) “Satyagraha is a way of Mass Movement.” Explain this idea

of Gandhiji.

(2) Explain the importance of Khadi and Village industries according

to Gandhiji.

(3) Explain the interrelationship between Religion and Morality

according to Gandhiji.

(4) Explain Gandhiji’s view regarding social reconstruction.

(5) Explain Gandhiji’s criticism on Industrialization.

4. Answer any one of the following in 500 words : [20]

(1) Explain fully Gandhiji’s doctrine of Sarvodaya and critically evaluate

the same.

(2) Bring out the importance of Eighteenth point constructive

programme of Gandhiji for the social change.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph izR;sdh 50 ðkCnkr mŸkjs f«gk % [10]

(1) xka/khthaP;k erkuwlkj LojkT;kph pkj vaxs dks.krh vkgsr \

(2) o.kZ vkf.k tkrhO;oLFkscÌ« xka/khthaph ers FkksMD;kr lkaxk-

(3) xka/khthaP;k ers loksZn;kps mÌh"B dk; vkgs \

(4) xka/khthaph iapk;rjkt gh dYiuk Li"V djk-

2. [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkr fVik f«gk % [20]

(1) foKku vkf.k ra=KkukcÌ« xka/khthapk n`"Vhdksu

(2) vkarj/kehZ; lkeatL;kcÌ« xka/khthaph Hkwfedk

(3) lfou; dk;nsHkax % lR;kxzgkpk ,d izHkkoh ekxZ

(4) Jeizfr"Bsps lw=

(5) xka/khthaph jktdkj.kkps vk/;kfRedj.k gh dYiuk

(6) xka/khthaph ^foðoLr* gh dYiuk-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mRrjs izR;sdh 200 rs 250 ðkCnkr f«gk % [30]

(1) ^lR;kxzg gk ,d tuvkanks«ukpk ekxZ vkgs gh xka/khthaph dYiuk Li"V djk-

(2) xka/khthaP;k erkuwlkj [kknh xzkeks|ksxkaps egRo foðkn djk-
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(3) xka/khthaP;k erkizek.ks /keZ vkf.k uhrh ;krh« ijLijlaca/k Li"V djk-

(4) lkekftd iqujZpuscÌ«pk xka/khthapk n`"Vhdksu Li"V djk-

(5) vkS|ksfxdj.kkcÌ« xka/khthaph Vhdk Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkr mRrj f«gk % [20]

(1) xka/khthapk loksZn; flºkar lfoLrj Li"V d:u R;kps fpfdRld ewY;ekiu

djk-

(2) lkekftd ifjorZukcÌ« xka/khthauh ekaM«sY;k vBjk d«eh fo/kk;d dk;Zÿekps

egRo Li"V djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4301]-250

S.Y. B.A. EXAMINATION, 2013

YOGVIDYA

General Paper II

(Yogachi Sarvangeen Baithak)

(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain any one from the following in 50 words : [5]

(i) Write the meaning of yoga science according to Swami

Swatmaram.

(ii) State defaults of personality.

2. Write short notes (any two) : [10]

(i) Yogasutra

(ii) Sutraneti

(iii) Techniques of Chittavritti Nirodha

(iv) Pranav Omkar.
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3. Answer any two questions from the following in 200 to 250 words

each : [15]

(i) State the types of Darshan. Explain the Charvak Darshan.

(ii) State the name, precautions and benefits of Shuddhikriya and

Bandha.

(iii) How does Yoga help to social health ?

4. Attempt any one question in detail : [10]

(i) Explain the effect of yoga on human life.

(ii) Explain the causes and effects of frustration.

(ejkBh :ikarj)

osˇ % nksu rkl ,dw.k xq.k % 40

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h«iSdh dks.kR;kgh ,dkps 50 ðkCnkr Li"Vhdj.k |k % [5]

(i) Lokeh LokRekjkekauh lkafxr«sY;k ;ksxðkkL=kpk vFkZ f«gk-

(ii) O;fDreRokpk m.khok lkaxk-

2- FkksMD;kr fVik |k (dks.kR;kgh nksu) % [10]

(i) ;ksxlw=
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(ii) lw=usrh

(iii) fpŸko`Ÿkh fujks/kkps ra=s

(iv) iz.ko ¨-

3- [kk«h«iSdh dks.kR;kgh nksu izðukaps izR;sdh 200 rs 250 ðkCnkr mŸkjs |k % [15]

(i) nðkZukaps izdkj lkaxk- pkokZd nðkZukps lfoLrj o.kZu djk-

(ii) ðkqfºfÿ;k o ca/kkps izdkj lkaxwu n{krk o «kHk lkaxk-

(iii) lkekftd LokLF; lao/kZuklkBh ;ksxkpk mi;ksx dlk gksrks \

4- [kk«h«iSdh dks.kR;kgh ,dk izðukps lfoLrj mŸkj |k % [10]

(i) ekuoh thoukoj ;ksxkps ifj.kke lfoLrj ppkZ djk-

(ii) oSQY;kph dkj.ks o ifj.kke Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-251

S.Y. B.A. EXAMINATION, 2013

HISTORY OF CIVILIZATION

General Paper II

(Indian Culture)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) What is pre-history ?

(ii) State the ‘Ashram System’ in Ancient Indian Society.

(iii) Explain the contribution of ‘Varkari Cult’.

(iv) Write the work of Ramkrishna Mission.

2. Write short notes in 100 words each (any four) : [20]

(i) Importance of Indian Culture.

P.T.O.
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(ii) Neolithic Age.

(iii) Merit-demerits of Caste System.

(iv) Sufism.

(v) Cave in Ancient Period.

(vi) Information Technology.

3. Answer the following questions in 200-250 words each (any three) : [30]

(i) Write in detail ‘Cultural Identity’ of India.

(ii) Discuss the archaeological sources of Ancient Indian History.

(iii) Explain the contribution of Kabir and Meerabai in Bhakti

Movement.

(iv) State the work of Brahmo Samaj in socio-religious movement

in India.

(v) Write the progress in science from ancient to medieval

period.

4. Answer any one of the following questions in 500 words : [20]

(i) State the teaching of Jainism.

(ii) Discuss the art and architecture in Medieval period.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) izkxSfrgkfld dk«[kaM Eg.kts dk; \

(ii) izkphu Hkkjrh; lektkrh« vkJe O;oLFkk lkaxk-

(iii) okjdjh laiznk;kps ;ksxnku Li"V djk-

(iv) jkeœ".k feðkups dk;Z lkaxk-

2. izR;sdh 100 ðkCnkar FkksMD;kr Vhik f«gk (dks.krsgh pkj) % [20]

(i) Hkkjrh; laLœrhps egRo-

(ii) uokðe;qx-

(iii) tkfrlaLFksps xq.knks"k-

(iv) lqQh iaFk-

(v) izkphu dkˇkrh« «s.kh-

(vi) ekfgrh ra=Kku-

3. [kk«h« izðukaph izR;sdh 200&250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) Hkkjrkph ^lkaLœfrd vksˇ[k* lfoLrj f«gk-
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(ii) izkphu Hkkjrh; bfrgklkP;k HkkSfrd lk/kukaph ppkZ djk-

(iii) HkDrh pˇoˇhrh« dchj o ehjkckbZ ;kaps ;ksxnku Li"V djk-

(iv) Hkkjrkrh« lkekftd&vkfFkZd pˇoˇhr czkEgks lektkps dk;Z lkaxk-

(v) izkphu rs e/;;qxhu dkˇkrh« foKkuke/;s >k«s«h izxrh f«gk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) tSu /kekZph fðkdo.k lkaxk-

(ii) e/;;qxhu dkˇkrh« d«k o LFkkiR;d«k ;kfo"k;h ppkZ djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-252

S.Y. B.A. EXAMINATION, 2013

HOME ECONOMICS

(G-2 : Sociology of Family)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer of the following concepts in 50 words each (any two) : [10]

(i) Social Institutions.

(ii) Socialisation.

(iii) Voluntary Agencies.

(iv) Human Race.

2. Write short notes in 100 words each (any four) : [20]

(i) Nature of sociology.

(ii) Demerits of nuclear family system.

P.T.O.
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(iii) Woman education and family development.

(iv) Types of marriages.

(v) Family disorganisation.

(vi) Rural family.

3. Answer the following questions in 200 words each (any three) : [30]

(i) Explain the importance of study of sociology for family

life.

(ii) Explain the functions of the family.

(iii) Explain the causes of family disintegration rural and urban

sector in India.

(iv) “Marriage as an Institution.’ Explain.

(v) Explain the role of Government in family and child welfare

in Indian society.

4. Answer the following questions in 500 words (any one) : [20]

(i) Explain the merits and demerits of joint family.

(ii) Write an essay on social legislation about marriage and family

in India after independence.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h« ladYiukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) lkekftd laLFkk-

(ii) lkekftdhdj.k-

(iii) ,SfPNd la?kVuk-

(iv) ekuoh oaðk-

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) % [20]

(i) lektðkkL=kps Lo:i-

(ii) v.kq dqVqac iºrhps nks"k-

(iii) L=hfðk{k.k vkf.k dqVqac fodkl-

(iv) fookgkps izdkj-

(v) dqVqackps foLFkkiu-

(vi) xzkeh.k dqVqac-



[4301]-252 4

3. [kk«h« izðukaph mŸkjs izR;sdh 200 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(i) lektðkkL=kP;k vH;klkps egRo dkSVqafcd thoukdfjrk Li"V djk-

(ii) dqVqackph dk;sZ Li"V djk-

(iii) Hkkjrkrh« xzkeh.k o ðkgjh Hkkxkrh« dqVqac fo?kVukph dkj.ks Li"V djk-

(iv) ^^fookg ,d laLFkk** Li"V djk-

(v) Hkkjrh; lektkrh« dqVqac vkf.k ck« dY;k.kkrh« ðkklukph Hkwfedk Li"V

djk-

4. [kk«h« izðukaph mŸkjs izR;sdh 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(i) ,d= dqVqac iºrhps xq.k&nks"k Li"V djk-

(ii) Hkkjrkrh« Lokra´;ksŸkj dkˇkrh« fookg vkf.k dqVqacfo"k;d lkekftd fo/ks;dkoj

fuca/k f«gk-



Total No. of Questions—4+4+4] [Total No. of Printed Pages—8+4

Seat

No. [4301]-253

S.Y. B.A. EXAMINATION, 2013

DEFENCE AND STRATEGIC STUDIES

D.S. G-2(A) : India’s National Security

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) State the concept of National Security.

(ii) What are the objectives of Indian Foreign Policy ?

(iii) State the strategic importance of Indian Ocean.

(iv) What are the objectives of SAARC ?

2. Write short notes in 100 words each (any four) : [20]

(i) Meaning of Terrorism.

(ii) MacMahon Line.

P.T.O.
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(iii) Measures of Insurgency.

(iv) Nuclear Agreement between India and USA.

(v) India’s Naval Strategy.

(vi) Nuclear Doctrine.

3. Answer in 200 to 250 words each (any three) : [30]

(i) Discuss ‘Military Power as a capability factor’.

(ii) Describe India’s Nuclear Policy since 1970.

(iii) Evaluate the Indo-Pak relations with special reference to the

‘Kashmir issue’.

(iv) Explain the India’s role in SAARC.

(v) State Indo-Soviet relations after disintegration of

USSR.

4. Answer in 500 words each (any one) : [20]

(i) Explain the determinants of Foreign Policy of India.

(ii) ‘How the border problem is a crucial issue in India-China relations’ ?

Explain.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) jk"V™h; lqj{ksph ladYiuk lkaxk-

(ii) Hkkjrh; ijjk"V™h; /kksj.kkph mÌh"Vs dks.krh \

(iii) fganh egklkxjkps lkefjd egRo lkaxk-

(iv) lkdZph mÌh"Vs dks.krh \

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) % [20]

(i) ngðkroknkpk vFkZ-

(ii) eWdeksgu js"kk-

(iii) foI«o ðkefo.;kps mik;-

(iv) Hkkjr o vesfjdse/kh« ukxjh vkf.od djkj-

(v) Hkkjrkps ukfod /kksj.k-

(vi) v.kq flºkar-
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3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) ^«"djh ðkDrh gk ,d lkeF;Zoku ?kVd vkgs* ppkZ djk-

(ii) 1970 iklwuP;k HkkjrkP;k vkf.od /kksj.kkps o.kZu djk-

(iii) dkðehj izðukpk lanHkZ ns≈u Hkkjr&ikd laca/kkps eqY;ekiu djk-

(iv) Hkkjrkph lkdZe/kh« Hkwfedk foðkn djk-

(v) lksfOg,r ;qfu;uP;k fo?kVukuarjps Hkkjr&jfðk;k laca/k lkaxk-

4. [kk«h« izðukps mŸkj 500 ðkCnkar f«gk (dks.krsgh ,d) % [20]

(i) HkkjrkP;k ijjk"V™h; /kksj.kkps ?kVd Li"V djk-

(ii) Hkkjr&phu laca/kkr lhek leL;k ,d tfV« izðu dlk vkgs] rs Li"V

djk-
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[4301]-253

D.S. G-2(B) : Cold War

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) Define Cold War.

(ii) State the characteristics of CENTO Pact.

(iii) Explain in brief the Bay of Pigs Campaign.

(iv) Describe the Moscow Summit 1972.

2. Write short notes in 100 words each (any four) : [20]

(i) Concept of Cold War.

(ii) Characteristics of Truman Doctrine.

(iii) Concept of Detente.

(iv) Cold War in Asia.

(v) Aims of SEATO Pact.

(vi) New Cold War.
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3. Answer in 200 to 250 words each (any three) : [30]

(i) Explain the Cuban Missile Crisis.

(ii) Evaluate the NATO Pact.

(iii) Explain in detail the American-China relations in Detente

Period.

(iv) State the causes of Soviet Intervention in Afghanistan.

(v) Explain the challenges of Gorbachev in 1985.

4. Answer any one of the following questions in 500 words : [20]

(i) Explain the importance of Middle-east.

(ii) Explain nature and scope of Cold War.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-
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1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) ðkhr ;qºkph O;k[;k |k-

(ii) lsaVks djkjkph oSfðk"Vs lkaxk-

(iii) cs&vkWQ fiXt eksfge FkksMD;kr Li"V djk-

(iv) 1972 e/kh« ekLdks ifj"kn foðkn djk-

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) % [20]

(i) ðkhr ;qºkph ladYiuk-

(ii) V™qeu flºkUrkph oSfðk"Vs-

(iii) r.kkoðkSfFkY;@l«ks[kk ladYiuk-

(iv) vkfðk;krh« ðkhr ;qº-

(v) flvWVks (SEATO) djkjkps gsrw-

(vi) ufou ðkhr ;qº-

3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) D;qcu {ksi.kkL= la?k"kZ Li"V djk-

(ii) ukVks djkjkps eqY;ekiu djk-

(iii) l«ks[kk dkˇkrh« vesfjdk&phu laca/k lfoLrj Li"V djk-
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(iv) vQxkfuLrkukrh« lksfOg,V jfðk;kP;k gLr{ksikph dkj.ks lkaxk-

(v) 1985 e/kh« xksckZpsOg iq<h« vkOgkus Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) e/;iwoZps egRo Li"V djk-

(ii) ðkhr ;qºkps Lo:i vkf.k O;kIrh Li"V djk-
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[4301]-253

D.S. G-2(C) : Evolution of Strategic Thought

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) What are the Jomini’s principles of War ?

(ii) Explain the concept of total war by Clausewitz.

(iii) State the concept of Grand Strategy by Liddle Hart.

(iv) According to Fuller what are the causes of War ?

2. Write short notes in 100 words each (any four) : [20]

(i) Mackinder.

(ii) Karl Houshopher.

(iii) Moltke.

(iv) Dupica.

(v) Marshal Foch.

(vi) Ludendorff.
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3. Answer in 200 to 250 words each (any three) : [30]

(i) Explain theory of sea power by Ad. A. T. Mahan.

(ii) State strategic thought by Che Guevara.

(iii) Describe Geopolitical theories by Karl Houshopher.

(iv) Explain in brief Mackinder’s Heartland theory.

(v) State military thought by Ludendorff.

4. Answer in 500 words each (any one) : [20]

(i) Describe views by Mao Zedong about Guerrilla Warfare.

(ii) Explain in detail theory of Air Power by Douhet.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) tksfeuhph ;qº rRos dks.krh \
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(ii) D«kWtfoV>~ph lo±d"k ;qºkph ladYiuk Li"V djk-

(iii) f«M« gkVZph ^foðkk« ;qºfurh* gh ladYiuk Li"V djk-

(iv) Qq«jP;k ers ;qºkph dkj.ks dks.krh \

2. izR;sdh 100 ðkCnkr FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(i) eWfdUMj-

(ii) dk«Z gkSðkksQj-

(iii) eksYVds-

(iv) Mwfid-

(v) ekðkZ« Qksp-

(vi) «wMsu MkWQZ-

3. izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krhgh rhu) % [30]

(i) vWMfej« ,- Vh- egku ;kapk lkxjh lŸkspk flºkar Li"V djk-

(ii) ps xsOgjk ;kaps lkefjd fopkj lkaxk-

(iii) dk«Z gkSðkksQj ;kaps Hkwjktdh; flºkar foðkn djk-

(iv) eWfdUMj ;kapk eeZHkweh flºkar FkksMD;kr Li"V djk-

(v) «wMsuMkWQZps «"djh fopkj lkaxk-
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4. 500 ðkCnkar mŸkj f«gk (dks.krkgh ,d) % [20]

(i) ekvks >sMk°x ;kaP;k xfueh ;qºiºrh fo"k;hP;k fopkjkaps o.kZu

djk-

(ii) MwgsV ;kapk gokbZ ðkDrhpk flºkar lfoLrj Li"V djk-



Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [4301]-254

S.Y. B.A. EXAMINATION, 2013

DEFENCE AND STRATEGIC STUDIES

D.S. S-1 (A) : International and Regional Organisation

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) State the aims of European Union.

(ii) Explain the structure of NAFTA.

(iii) State the role of UN in the social field.

(iv) Explain the Declaration of Human Rights.

2. Write short notes in 100 words each (any four) : [20]

(i) Structure of ASEAN.

P.T.O.
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(ii) Functions of SAARC.

(iii) Hindrances in the working of UN.

(iv) International Bill of Human Rights.

(v) Structure of UN.

(vi) Future of UN.

3. Answer in 200 to 250 words each (any three) : [30]

(i) Explain the role of UN in maintaining world peace and

security.

(ii) State the aims, objectives and structure of SAARC.

(iii) Explain the functions of UN in political field.

(iv) Describe the aims and functions of ASEAN.

(v) Explain the functions of the European Union.

4. Answer any one of the following questions in 500 words : [20]

(i) Explain the structure of UN.

(ii) Describe the aims, objectives and functions of NAFTA.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk (dks.krsgh nksu) % [10]

(i) ;qjksfi;u ;qfu;uph mfÌ"Vs lkaxk-

(ii) uk∂rkph jpuk Li"V djk-

(iii) la;qDr jk"V™kaph lkekftd {ks=krh« Hkwfedk lkaxk-

(iv) ekuo vf/kdkjkapk tkghjukek lkaxk-

2. izR;sdh 100 ðkCnkr fVik f«gk (dks.krsgh pkj) % [20]

(i) vkfðk;kuph jpuk-

(ii) lkdZps dk;Z-

(iii) la;qDr jk"V™kaP;k dk;kZrh« vMFkˇs-

(iv) ekuo vf/kdkjkaps vkarjjk"V™h; fo/ks;d-

(v) la;qDr jk"V™kaph jpuk-

(vi) ;quksps HkforO;-
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3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkr mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) tkxfrd ðkkarrk vkf.k lqjf{krrk fVdfo.;klkBh la;qDr jk"V™kauh ikj ikM«s«h

Hkwfedk Li"V djk-

(ii) lkdZps gsrw] mfÌ"Vs vkf.k jpuk lkaxk-

(iii) la;qDr jk"V™kaph jktdh; {ks=krh« dk;sZ Li"V djk-

(iv) vkfðk;ups /;s; vkf.k dk;sZ foðkn djk-

(v) ;qjksfi;u ;qfu;uph dk;sZ Li"V djk-

4. [kk«h« izðukps mŸkj 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(i) la;qDr jk"V™kaph jpuk Li"V djk-

(ii) uk∂rkps gsrw] mfÌ"Vs vkf.k dk;sZ foðkn djk-
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[4301]-254

D.S. S-1(B) : India and Her Neighbours

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) What are the problems of SAARC ?

(ii) State the political lessons of 1962 War.

(iii) Explain the geostrategic importance of Kashmir.

(iv) State the co-operation of India and Myanmar.

2. Write short notes in 100 words each (any four) : [20]

(i) MacMahon Line.

(ii) Land Border of India.

(iii) Cause of Kargil operation.

(iv) Tamil Problem.

(v) Achievements of SAARC.

(vi) The role of Navy in 1971 War.
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3. Answer in 200 to 250 words each (any three) : [30]

(i) Explain in brief the India-Bhutan Relations.

(ii) ‘Tibet problem is a crucial issue in India-China relations’.

Explain.

(iii) State the factors of India’s National Power.

(iv) Explain the issues in Indo-Bangladesh relations.

(v) Discuss India’s geostrategic location.

4. Answer in 500 words (any one) : [20]

(i) Evaluate the India-Pakistan relations with special reference to

‘Kashmir Issue’.

(ii) Describe in detail Indo-Nepal relations.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk (QDr nksu) % [10]

(i) lkdZP;k leL;k dks.kR;k \
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(ii) 1962 P;k ;qºkrwu feˇk«s«s jktdh; /kMs lkaxk-

(iii) dkðehjps Hkqlkefjd egRo Li"V djk-

(iv) Hkkjr vkf.k E;kuekj e/kh« lgdk;Z lkaxk-

2. izR;sdh 100 ðkCnkr fVik f«gk (dks.krsgh pkj) % [20]

(i) eWdeksgu js"kk-

(ii) Hkkjrkph Hkw&lhek-

(iii) dkjxh« dk;Zokghph dkj.ks-

(iv) rehˇ leL;k-

(v) lkdZps ;ðk-

(vi) 1971P;k ;qºkrh« ukSn«kph Hkwfedk-

3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkr f«gk (dks.krsgh rhu) % [30]

(i) Hkkjr&Hkqrku laca/k lfoLrj Li"V djk-

(ii) ^Hkkjr&phu laca/kkr frcsV izðu gh ,d dBh.k leL;k vkgs-* Li"V

djk-

(iii) HkkjrkP;k jk"V™h; ðkDrhps ?kVd lkaxk-
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(iv) Hkkjr&ckax«knsðk laca/kkrh« izðu fdaok leL;k Li"V djk-

(v) HkkjrkP;k Hkwlkefjd LFkkukcÌ« ppkZ djk-

4. [kk«h« izðukps mŸkj 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(i) dkðehj izðukpk lanHkZ nsowu Hkkjr&ikfdLrku laca/kkps eqY;ekiu

djk-

(ii) Hkkjr&usik« laca/kkps lfoLrj o.kZu djk-



Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [4301]-255

S.Y. B.A. EXAMINATION, 2013

DEFENCE AND STRATEGIC STUDIES

D.S. S-2(A) : (Defence Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) State the kinds of loans.

(ii) State the effects of War Finance.

(iii) What are the functions of Estimate Committee ?

(iv) How is defence budget prepared ?

2. Write short notes in 100 words each (any four) : [20]

(i) Importance of war finance.

P.T.O.
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(ii) Price control.

(iii) Importance of strategic minerals.

(iv) Public Accounts Committee.

(v) Defence budget.

(vi) Importance of defence.

3. Answer in 200 to 250 words each (any three) : [30]

(i) Explain the effects of war on industry.

(ii) “Defence and development are correlated to each other.”

Discuss.

(iii) Analyze India’s defence expenditure from 1947 to date.

(iv) State the problems of wartime economy.

(v) Describe the determinants of India’s defence expenditure.

4. Answer in 500 words each (any one) : [20]

(i) Explain the means and nature of economic warfare.

(ii) Describe the determinants of war potential.



[4301]-255 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) dtkZps izdkj lkaxk-

(ii) ;qº foŸkkps ifj.kke lkaxk-

(iii) vankt lferhph dk;sZ dks.krh vkgsr \

(iv) laj{k.k vankti=d dls r;kj ds«k tkrs \

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.kR;kgh pkj) % [20]

(i) ;qºfoŸkkps egRo-

(ii) fdaer fu;a=.k-

(iii) lkefjd [kfutkaps egRo-

(iv) lkoZtfud «s[kk lferh-

(v) laj{k.k vankti=dkph jpuk-

(vi) laj{k.kkps egRo-



[4301]-255 4

3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(i) ;qºkps vkS|ksxhd {ks=kojh« ifj.kke Li"V djk-

(ii) ^^laj{k.k vkf.k fodkl ijLij iwjd vkgs-** ppkZ djk-

(iii) b-l- 1947 iklwu vkti;±rP;k HkkjrkP;k laj{k.k [kpkZps foð«s"k.k djk-

(iv) ;qºdk«hu vFkZO;oLFksP;k leL;k lkaxk-

(v) HkkjrkP;k laj{k.k [kpkZP;k ?kVdkaps o.kZu djk-

4. [kk«h« izðukaph mŸkjs 500 ðkCnkar f«gk (dks.krsgh ,d) % [20]

(i) vkfFkZd ;qºiºrhph lk/kus o Lo:i Li"V djk-

(ii) ;qº {kersP;k ?kVdkaps o.kZu djk-



[4301]-255 5 P.T.O.

[4301]-255

D.S. S-2(B) : (Military Psychology and Sociology)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) Write the characteristics of Armed Forces.

(ii) Write any five post war social problems.

(iii) State the types of Leadership.

(iv) Why is the discipline essential in military organisation ?

2. Write short notes in 100 words each (any four) : [20]

(i) Hysteria.

(ii) Groups structure.

(iii) Significance of morale in defence.

(iv) Social aspect of victory.

(v) Uses of intelligence test.

(vi) Social causes of war.
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3. Answer in 200 to 250 words each (any three) : [30]

(i) Explain the role of Armed Forces in promoting national

building.

(ii) Explain the principles of psychology in the Military Training.

(iii) Discuss the motivation and training.

(iv) Discuss the dimensions of human behaviour.

(v) State the effects of war on the society.

4. Answer in 500 words each (any one) : [20]

(i) Evaluate the relationship between human right and armed

forces.

(ii) Discuss “the image of soldier in different societies”.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iz'ukaps iw.kZ xq.k nðkZforkr-

1. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) lðkL= lsukn«kph oSfðk"Vs f«gk-
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(ii) dks.kR;kgh ikp ;qºksŸkj lkekthd leL;k f«gk-

(iii) usr`Rokps izdkj lkaxk-

(iv) «"djh la?kVusr fðkLrhph vkoð;drk dk vlrs \

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(i) fgLVhfj;k-

(ii) xVkaph jpuk-

(iii) laj{k.kkrh« euks/kS;kZps egRo-

(iv) fot;kpk lkekthd n`"Vhdksu-

(v) ckSºhd pkp.khps mi;ksx-

(vi) ;qºkph lkekthd dkj.ks-

3. izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) jk"V ™ h; ,dkRerkfuek Z.k dj.;krh« lðkL= n«kph Hk w fedk Li"V

djk-

(ii) «"djh izfðk{k.kkckcrps ekulðkkL=h; rRos Li"V djk-

(iii) izsj.kk o izfðk{k.k ;koj ppkZ djk-
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(iv) ekuoh orqZ.kwdhps fofo/k iS«qoj ppkZ djk-

(v) lektkoj gks.kkjs ;qºkps ifj.kke lkaxk-

4. 500 ðkCnkar mŸkj f«gk (dks.krkgh ,d) % [20]

(i) lðkL=n«s vkf.k ekuoh gDd ;k aP;krh« lac a/kkp s e qY;ekiu

djk-

(ii) ^^fofHkUu lektkrh« lSfudkaph izfrek** ;kfo"k;h ppkZ djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-256

S.Y. B.A. EXAMINATION, 2013

SOCIAL WORK

General Paper II

(I) Introduction : Fields of Social Work

(II) Population Education

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two questions in 50 words each : [10]

(i) State the concept of family welfare.

(ii) Define tribal community.

(iii) Explain the concept of mortality.

(iv) Explain the concept of poor standard of living.

2. Answer any four questions in 100 words each : [20]

(i) Explain the welfare services for aged.

(ii) Explain the problems of industrial workers.

P.T.O.
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(iii) Discuss the welfare services available for backward

classes.

(iv) Explain the trends of population growth in Maharashtra after

independence.

(v) Explain the psychological factors affecting the population

growth.

(vi) Discuss the relationship of population growth with food and

housing problems.

3. Answer any three questions in 200-250 words each : [30]

(i) Write a note on ‘Integrated Tribal Development

Programme’.

(ii) Explain ‘Women as a Weaker Section’.

(iii) Explain the scope for correctional work.

(iv) Discuss the trends of population growth in India before

independence.

(v) Explain the socio-cultural factors affecting on population

growth.

4. Answer any one question in 500 words : [20]

(i) Write an essay on ‘Determinants of Population Growth’.

(ii) Write a detailed note on ‘Challenges before Indian Cities’.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) ewˇ baxzth izðuif=dk xzk· /kjkoh-

1. dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkai;±r f«gk %  [10]

(i) dqVwac dY;k.kkph ladYiuk lkaxk-

(ii) vkfnoklh leqnk;kph O;k[;k |k-

(iii) ^e`R;wnj* gh ladYiuk Li"V djk-

(iv) ^fuœ"V jkg.khekukpk ntkZ* gh ladYiuk Li"V djk-

2. dks.kR;kgh pkj izðukaph mŸkjs izR;sdh 100 ðkCnkai;±r f«gk %  [20]

(i) o`ºkalkBh vl«sY;k dY;k.kdkjh lsok Li"V djk-

(ii) vkS|ksfxd dkexkjkaP;k leL;k Li"V djk-

(iii) ekxkl oxkZlkBh vl«sY;k dY;k.kdkjh lsokaph ppkZ djk-

(iv) Lokra´;kuarj egkjk"V™krh« «ksdla[;k ok<hpk izokg Li"V djk-

(v) «ksdla[;k ok<hoj ifj.kke dj.kkjs ekulðkkL=h; ?kVd Li"V djk-

(vi) «ksdla[;k ok<hpk vUu vkf.k fuokl leL;sðkh vl«s«k laca/k Li"V

djk-

3. dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200-250 ðkCnkai;±r f«gk %  [30]

(i) ^,dkfRed vkfnoklh fodkl dk;Zÿe* ;koj fVi.k f«gk-

(ii) ^efg«k ,d nqcZ« ?kVd* Eg.kwu Li"V djk-
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(iii) lq/kkj dk;kZph O;kIrh Li"V djk-

(iv) Lokra´;iwoZ dkˇkr Hkkjrkrh« «ksdla[;k ok<hP;k izokgkph ppkZ djk-

(v) «ksdla[;k ok<hoj ifj.kke dj.kkjs lkekftd&lkaLœfrd ?kVd Li"V djk-

4. dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkai;±r f«gk % [20]

(i) ^«ksdla[;k ok<hps ?kVd* ;koj fuca/k f«gk-

(ii) ^Hkkjrh; ðkgjkleksjh« vkOgkus* ;koj lfoLrj fVi.k f«gk-



Total No. of Questions—4] [Total No. of Printed Pages—4+1

Seat

No. [4301]-258

S.Y. B.A. EXAMINATION, 2013

COMMERCE

(G-2 : Business Accounting)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of calculator is allowed.

1. Answer the following questions (any five) : [10]

(a) Define the term ‘Book-keeping’.

(b) State any two objects of Book-keeping.

(c) What is Ledger ?

(d) What is Time-booking ?

(e) State the utility of Petty cash-book.

(f) State the rules of journalising.

(g) What is debit and credit note ?

(h) State meaning and types of discount.

P.T.O.
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2. Journalise the following transactions : [20]

(1) Rutuja started her business with Rs. 50,000.

(2) Purchased goods from Rupa on credit of Rs. 10,000.

(3) Paid cash to Rupa Rs. 5,000.

(4) Sold goods to Neela on credit of Rs. 7,000.

(5) Received cash from Neela of Rs. 3,000.

(6) Purchased furniture from Swapna of Rs. 3,000 for cash.

(7) Paid carriage of Rs. 200.

(8) Deposited Rs. 500 in a bank.

(9) Withdrew Rs. 300 for personal use.

(10) Received commission of Rs. 500.

Or

Write in detail the utility, importance of subsidiary books with its

format.

3. (A) Prepare a three column cash-book : [15]

(1) Cash in hand Rs. 150.

(2) Cash at bank Rs. 5,000.

(3) Drew from bank for business use Rs. 3,000.

(4) Sold goods for cash Rs. 2,000.

(5) Purchased goods Rs. 1,500.

(6) Paid into bank Rs. 1,000.
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(7) Paid to Sai Bros. by cheque Rs. 600.

(8) Received cheque from Ravat Bros. of Rs. 580 and allowed

him discount Rs. 20 and cheque deposited into

bank.

(9) Paid rent by cheque Rs. 100.

(10) Purchased stationery by cash Rs. 60.

Or

Prepare Cost-sheet from the following :

(Rs.)

Raw material 50,000

Productive wages 20,000

Indirect wages 5,000

Direct expenses 7,000

Power 1,000

Depreciation on machinery 1,000

Director fee 1,000

Oil and water 2,000

Machine repairs 1,000

Bad debt 2,000

Postages 450
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Factory lighting 1,000

Office lighting 500

Carriage outward 400

Salary of work house-keeper 1,000

Selling expenses 2,000

Travelling expenses 500

Telephone charges 400

Office rent 1,000

Manager’s salary 3,000

(B) Explain in detail purchase procedure. [15]

Or

Prepare Store ledger account on (FIFO) first-in first-out

basis :

1-6-11—Opening stock 200 units @ Rs. 3 p.u.

7-6-11—Purchased 300 units @ Rs. 2 p.u.

10-6-11—Purchased 500 units @ Rs. 3 p.u.

25-6-11—Purchased 400 units @ Rs. 4 p.u.

Issues :

9-3-11—Issued 200 units

15-3-11—Issued 100 units

30-3-11—Issued 600 units.
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4. Write short notes on (any four) :  [20]

(a) Meaning and format of Trial Balance

(b) Balance sheet

(c) Types of overheads

(d) Importance of Cost Accounting

(e) Methods of Time-keeping

(f) Limitations of Financial Accounting.



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-259

S.Y. B.A. EXAMINATION, 2013

EDUCATION (G-2)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Write the answers of the following questions in 50 words each

(any two) : [10]

(1) Concept of Rousseau’s education through nature.

(2) Stages of problem solving method.

(3) Importance of Insight Learning Method.

(4) Importance of Vocational Education.

2. Write short notes in 100 words each (any four) : [20]

(1) Characteristics of classical conditioning learning method

(2) Characteristics of Basic Education

(3) Aims of moral education
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(4) Objectives of ‘Shantiniketan’

(5) Nature of ‘Sakharshala’

(6) Objectives of open university.

3. Answer the following questions in 200 to 250 words each (any three) : [30]

(1) Explain the importance of Heredity and Environment in the

development of the child in detail.

(2) What is learning ? Explain the characteristics of learning process

in detail.

(3) What is memory ? Explain the steps of memory process.

(4) What is Secondary Education ? Explain the objectives of

Secondary Education.

(5) Explain the statement ‘School as a social institution’.

(6) Explain the characteristics of physical and emotional development

at adolescence stage.

4. Write the answer of the following question in 500 words

(any one) : [20]

(1) What is ‘Education in Democracy’ ? What are the objectives

of Education in Democracy ? Explain the role of school in

developing democratic citizenship in detail.

(2) Explain the characteristics of Physical, Mental, Emotional and

Social development at childhood stage.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth iz'uif=dk igkoh-

1- [kkyhy izðukaph mŸkjs izR;sdh 50 'kCnkar fygk ( dks.krsgh nksu) % [10]

(1) :lksph fulxkZrwu f'k{k.k ladYiuk-

(2) leL;k fujkdj.k iºrhP;k ik;Ú;k-

(3) eeZn`"Vhewyd v/;;u iºrhps egRo-

(4) O;kolkf;d f'k{k.kkps egRo-

2- izR;sdh 100 'kCnkar FkksMD;kr Vhik fygk (dks.krsgh pkj) % [20]

(1) vfHktkr vfHkla/kku v/;;u iºrhph oSf'k"VÓs

(2) ewyksn~;ksxh f'k{k.kkph oSf'k"VÓs

(3) uSfrd f'k{k.kkph /;s;

(4) 'kkarhfudsruph mfÌ"VÓs

(5) lk[kj'kkˇsps Lo:i

(6) eqDr fon~ÓkihBkph mfÌ"VÓs-

3- [kkyhy iz'ukaph mŸkjs izR;sdh 200 rs 250 'kCnkar fygk (dks.krsgh rhu) % [30]

(1) vuqoa'k o ifjfLFkrhps ckydkP;k fodklkrhy egRo lfoLrj Li"V djk-

(2) v/;;u Eg.kts dk; \ v/;;u izfÿ;sph oSf'k"VÓs lfoLrj Li"V djk-
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(3) Lej.k Eg.kts dk; \ Lej.k izfÿ;sps VIis Li"V djk-

(4) ek/;fed f'k{k.k Eg.kts dk; \ ek/;fed f'k{k.kkph mfÌ"VÓs Li"V djk-

(5) ^'kkˇk ,d lkekftd laLFkk vkgs-* gs fo/kku Li"V djk-

(6) dqekjkoLFksph 'kkjhfjd o Hkkofud oSf'k"VÓs Li"V djk-

4- [kkyhyiSdh dks.kR;kgh ,dk iz'ukps mŸkj 500 'kCnkar fygk % [20]

(1) yksd'kkghrhy f'k{k.k Eg.kts dk; \ yksd'kkghrhy f'k{k.kkph mfÌ"VÓs dks.krh \

yksd'kkgh ukxfjdRo fodklkr 'kkˇsph Hkwfedk lfoLrj Li"V djk-

(2) fd'kksjkoLFksrhy 'kkjhfjd] ekufld] Hkkofud o lkekftd fodklkph oSf'k"VÓs

Li"V djk-
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S.Y. B.A. Examination, 2013
MATHEMATICS

Operations Research

Time : 3 Hours Max. Marks : 80

N.B. : i) All questions are compulsory.
ii) Figures to the right indicate full marks.
iii) Use of logarithmic tables and calculators is allowed.
iv) Graph papers will be supplied on demand.

1. Attempt each of the following : 16

1) Write the dual of the following L.P.P.
Min. Z = 2x1 – 3x2

Subject to   5x1 + 4x3 ≥  5
3x1 – 2x2 = 6

with            x1 ≥  0, x2 ≥  0

2) State four applications of operation research.

3) For PERT network write the formula for i) expected time ii) variance of an
activity.

4) State any two assumptions of sequencing.

5) Define slack and surplus variable.

6) How maximization assignment problem can be converted in to minimization
problem ?

7) Determine the saddle point, if it exists, for the following game.

Player A

⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡

−
−−

151

340

131

8) Define critical path.
P.T.O.

Seat
No.

   Player B
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II. A) Attempt any one of the following : 6
1) Solve the following L.P.P. graphically

Max. Z = 2x1 + 5x2

 Subject to x1 – x2 ≥  1

                 x1 + x3 ≥  3

                               x1, x2 ≥  0

2) Solve the following L.P.P. by Big-M method :

Min. Z = 2x1 + 3x2

Subject to x1 + x2 ≥  5

                x1 + 2x2 ≥  6

with x1 ≥  0, x2 ≥  0

B) Attempt any one : 10

1) Solve the following L.P.P. by simplex method

Max.   Z =  6x1 + 4x2

Subject to  2x1 + 3x2 < 30

                               3x1 + 2x2 < 24

                               x1 + x2 ≥  3
                               x1, x2 ≥  0

Is the solution unique ? If not, give two different solutions.

2) A production unit has 4 jobs (Ji) to be manufactured on 4 machines (Mi)
.The processing costs for the jobs on each machines are as follows

M
1

M
2

M
3

M
4

J
1

31 25 33 29

J
2

25 24 23 21

J
3

19 21 23 24

J
4

38 36 34 40

Find the optimal assignment to minimize the total processing cost.
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III. A) Attempt any one : 6
1) Determine the optimal sequence of jobs that minimizes the total elapsed

time (in hours) required to complete the jobs on the machines A, B and C
in the order ABC.

Machine

Job

1 2 3 4 5

A 4 9 8 6 5

B 5 6 2 3 4

C 8 10 6 7 11

2) Find the initial Basic Feasible solution for the following transportation
problem by North-West corner rule :

To Available

From

3 4 6 8 9 20

2 10 1 5 8 30

7 11 20 40 3 15

2 1 9 14 16 13

Demand 40 6 8 18 6

B) Attempt any one : 10
1) Draw the network corresponding to the following project. Also determine

the i) Project duration   ii) Critical path.
Activity Duration (days)
1 – 2 3
1 – 3 4
1 – 4 14
2 – 3 10
2 – 6 5
3 – 5 4
3 – 6 6
4 – 5 1
5 – 6 1



2) A project is composed of 7 activities whose time estimates are listed in
the table below :

Time
Activities

t
o

t
m

t
p

1 − 2 1 1 7

1 − 3 1 4 7

1 − 4 2 2 8

2 − 5 1 1 1

3 − 5 2 5 14

4 − 6 2 5 8

5 − 6 3 6 15

i) Draw the project network
ii) Find the expected duration of each activity.
iii) Find critical path and project duration.

IV. A) Attempt any one : 10
1) A taxi owner estimates from his past records that the cost per year for

operating  a taxi whose purchase price is Rs. 7,000 are as given below :
Year Maintenance Cost Resale Value

 (Rs.)   (Rs.)
1 900 4,000
2 1,200 2,000
3 1,600 1,200
4 2,100 600
5 2,800 500
6 3,700 400
7 4,700 400
8 5,900 400

When should the machine be replaced ?
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2) Solve the following 5 ×  2 Game graphically.

       Player B

          I      II

Player A

⎥
⎥
⎥
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢
⎢
⎢
⎢

⎣

⎡

−−
−−

12

34

97

65

21

V

IV

III

II

I

B) Solve any one : 6
1) From the project network.

i) Find the critical path, project duration.
ii) Value of total float and free float for non critical activity B(1, 3).

2) In a game of matching coins, player A wins Rs. 2 if there are 2 heads,
wins nothing if there are two tails and loses Rs. 1 when there are one head
and one tail.

                Determine : i) The payoff matrix
              ii) Best strategy for each player.
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V. A) Solve any 1 : 6
1) There are nine jobs each of which has to go through the machines M1 and

M2 in the order M1 M2.
The processing times (in hours) are given below :

Jobs Machine M
1

Machine M
2

A 2 6

B 5 8

C 4 7

D 9 4

E 6 3

F 8 9

G 7 3

H 5 8

I 4 11

Determine the sequence of these jobs that will minimize the total elapsed
time T. Also find the idle time for the machine M2.

2) Draw arrow diagram (project network) for the following project :

Activity Predecessor (s) Duration

A - 10

B - 7

C A 5

D C 3

E D 2

F B,E 1

G E,F 14
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B) Solve any one : 10
1) Solve the following game using graphical method and find the value of the

game

Player B

Player A
I

I II III

6 7 15

II 20 12 10

2) The following table gives the cost of spares per year, overhead cost of
maintenance per year and the resale value of a computer whose purchase
price is Rs. 50,000.

            

Year
Cost of Spares

Rs.
Maintenance Cost

Rs.
Resale Value

Rs.

1 10,000 5,000 40,000

2 12,000 5,000 30,000

3 14,000 6,000 28,000

4 15,000 6,000 25,000

5 17,000 8,000 22,000

Determine the optimal period for replacement.

————————
B/I/13/
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No. [4301]-262

S.Y. B.A. EXAMINATION, 2013

ENGLISH

General Paper—II

(Understanding Fiction)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Texts Prescribed :—

(i) Lord of the Flies : William Golding

(ii) Inside the Haveli : Rama Mehta

(iii) A Man of the People : Chinua Achebe.

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following questions : [16]

(i) Define a novel. State its origin.

(ii) What is a symbol ? Give examples.

(iii) Comment on conflict in the novel.

(iv) What is an autobiographical novel ?

(v) What is the first person narration ?

(vi) Comment on the novel as a form of literature.
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2. Answer any four of the following questions in not more than 150

words each : [16]

(i) Do you think William Golding believes that evil is an inborn

trait of mankind ? Explain.

(ii) Describe major symbols in ‘Lord of the Flies’.

(iii) Discuss the element of satire in ‘Lord of the Flies’.

(iv) ‘Lord of the Flies’ is structured in such a way that the forces

of good and evil are equally balanced. Justify.

(v) Bring out the difference between the beginning and the ending

of ‘Lord of the Flies’.

(vi) What are the differences between the actions of ‘littluns’ and

‘biguns’ on the island ?

3. Attempt any two of the following questions : [16]

(i) Examine the view that ‘Inside the Haveli’ dramatises the

interaction between tradition and individuality.

(ii) Discuss ‘Inside the Haveli’ as a story of education and

transition.

(iii) ‘Change is the rule of nature.’ How do you apply this statement

to the novel, ‘Inside the Haveli’ ?
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4. Attempt any two of the following questions in not more than 150

words each : [16]

(i) Achebe’s ‘A Man of the People’ is a commentary on modern

day Nigeria. Illustrate.

(ii) How has the flash back technique been used in ‘A Man of

the People’ ?

(iii) ‘A Man of the People’ is the story of bitter rivalry between

Chief Nanga and Odili. Discuss.

5. Attempt any four of the following questions : [16]

(i) Comment on the different themes in ‘Lord of the Flies’.

(ii) Explain the images in ‘Lord of the Flies’.

(iii) Explain the point of view in ‘Inside the Haveli’.

(iv) ‘Inside the Haveli’ is an elaborate story of four generations.

Comment.

(v) Write a brief note on Satire in ‘A Man of the People’.

(vi) Bring out the element of irony in ‘A Man of the People’.
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Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [4301]-263

S.Y.B.A. EXAMINATION, 2013

ENGLISH

Special Paper I

(Understanding Drama)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Texts prescribed :—

(i) The Importance of Being Earnest by Oscar Wilde.

(ii) Death of a Salesman by Arthur Miller.

(iii) Hayavadana by Girish Karnad.

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any four of the following questions : [16]

(1) Explain drama as a representational art.

(2) State the difference between plot and story.

(3) Show the difference between major and minor characters.

(4) Write a note on Soliloquy and Aside.

(5) What is tragic flaw ? Explain with examples.

(6) What is chorus ? Give examples.

2. Attempt any four of the following questions : [16]

(1) Draw in brief the character sketch of Jack.
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(2) Comment on the proposal scene between Algernon and Cecily.

(3) Write a note on the beginning of the play ‘The Importance

of Being Earnest’.

(4) Justify the view that ‘The Importance of Being Earnest’ is

a witty and spirited comedy about highly polished and elegant

society.

(5) Show how ‘The Importance of Being Earnest’ is a trivial comedy

for serious people.

(6) Examine ‘The Importance of Being Earnest’ as a social satire.

3. Attempt any two of the following questions : [16]

(1) Discuss ‘Death of a Salesman’ as a modern tragedy.

(2) Draw a character sketch of Willy Loman.

(3) Show how the theme of contrast between reality and imagination

is presented in ‘Death of a Salesman’.

4. Attempt any two of the following questions : [16]

(1) Bring out the character sketch of Kapila.

(2) Comment on the role of chance in ‘Hayavadana’.

(3) Examine the fusion of conventional elements and modern thoughts

in the play ‘Hayavadana’.
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5. Attempt any four of the following questions : [16]

(1) Discuss ‘The Importance of Being Earnest’ as an artificial

comedy.

(2) Comment on the importance of setting in ‘The Importance of

Being Earnest’.

(3) Write a note on the use of chorus in ‘Hayavadana’.

(4) Describe the use of three unities in ‘Hayavadana’.

(5) Discuss the plot structure of ‘Death of a Salesman’.

(6) Bring out the treatment of American Myth in ‘Death of a

Salesman’.
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Seat

No. [4301]-264

S.Y. B.A. EXAMINATION, 2013

ENGLISH

Special Paper II

(Understanding Poetry)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Text Prescribed :—Poetry Down the Ages.

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following : [16]

(1) Define ‘metaphor’ and illustrate with two examples.

(2) What is ‘pun’ ? Describe with two of its instances from the

poetry you have studied.

(3) Discuss the structure of ‘sonnet’ as a form of poetry.

(4) Give a definition of ‘simple’ and illustrate it with two

examples.

(5) Describe ‘conceit’ as a literary device with suitable

examples.

(6) Comment on ‘rhyme’ in poetry with suitable examples.

P.T.O.
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2. Answer any four of the following : [16]

(1) Comment on John Donne’s use of the conceit of ‘compass’ in

‘‘A Valediction : Forbidding Mourning’’.

(2) Discuss in brief the role of nature in Wordsworth’s ‘‘Strange

Fits of Passion’’.

(3) Elaborate on the elegiac elements in Tennyson’s ‘‘Tears, Idle

Tears’’.

(4) Discuss Arnold’s use of the metaphor of ‘the sea dotted with

islands’ in ‘‘Marguerite’’.

(5) Bring out the pathos in Blake’s ‘‘The Chimney Sweeper’’.

(6) Explain the feelings of desolation and disintegration in Hardy’s

‘‘The Darkling Thrush’’.

3. Answer any two of the following : [16]

(1) Describe the sense of racial discrimination in Langston Hughes’s

‘‘Ballad of the Landlord’’.

(2) Why is the speaker of Mahapatra’s ‘‘The Abandoned British

Cemetery’’ moved by the tombstones of the ‘‘archaic

dead’’ ?

(3) How does Eliot’s ‘‘Sweeney among the Nightingales’’ reflect the

corruption of human values and life ?

4. Answer any two of the following : [16]

(1) How does the dying blacksmith affect the speaker of Hopkins’s

‘‘Felix Randal’’ ?
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(2) Discuss how Parthasarathy brings out the troubled history of

Delhi and his unhappiness about the degradation of India in

his poem ‘‘Delhi’’.

(3) Bring out the dilemma of the speaker of Philip Larkin’s ‘‘Church

Going’’.

5. Explain with reference to the context any four of the following :

[16]

(1) Fear no more the heat o’ the sun

Nor the furious winter’s rages;

Thou thy worldly task hast done,

Home art gone and ta’en thy wages :

Golden lads and girls all must,

As chimney-sweepers, come to dust.

(2) What the hammer ? What the chain ?

In what furnace was thy brain ?

What the anvil ? what dread grasp

Dare its deadly terrors clasp ?

(3) The storm came on before its time :

She wander’d up and down;

And many a hill did Lucy climb :

But never reach’d the Town.

(4) I know that I shall meet my fate

Somewhere among the clouds above;

Those that I fight I do not hate,

Those that I guard I do not love.
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(5) Pushpa Miss is never saying no.

Whatever I or anybody is asking

she is always saying yes,

and today she is going

to improve her prospect

and we are wishing her bon voyage.

(6) I shall be telling this with a sigh

Somewhere ages and ages hence;

Two roads diverged in a wood, and I,

I took the one less traveled by,

And that has made all the difference.



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4301]-265

S.Y. B.A. EXAMINATION, 2013

PHYSICAL EDUCATION

(2008 PATTERN)

Time : Three Hours Maximum Marks : 60

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw diagrams wherever necessary.

1. Answer the following in two sentences each (any five) : [10]

(i) Define physical education.

(ii) Write names of 10 Indian games.

(iii) Write measurements of ‘Volleyball’ playground.

(iv) Write various organs in breathing system.

(v) Write various objectives of physical education.

(vi) Write first stanza of Indian National Anthem.

(vii) Write five Indian Olympic Medal Winners in London Olympics.

2. Answer the following in 5-7 sentence each (any two) : [10]

(i) Write effect of exercise on breathing system.

(ii) Express importance of ‘Warming up’.

(iii) What is individual health ? Explain how to maintain it.

P.T.O.
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3. Answer the following in 20-25 sentences each (any two) : [20]

(i) Write the game ‘Football’ from start to finish and give its

rules.

(ii) Write information about elements affecting social life.

(iii) What is meant by ‘First Aid Kit’ ? Write its use on

playground.

4 Answer the following in detail (any one) : [20]

(i) Draw a sketch of ‘Kabaddi’ playground and write measurements.

Also write the rules of the game.

(ii) Draw a sketch of ‘Hand Ball’ playground and write measurements.

Also write the rules of the game.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 60

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vko';d R;k fBdk.kh lqcd vkœR;k dk<k-

1. [kk«h«iSdh ikp izðukaph izR;sdh 2 okD;kar mŸkjs f«gk % [10]

(i) 'kkjhfjd f'k{k.kkph O;k[;k fygk-

(ii) Hkkjrh; [kš kaiSdh 10 [ksˇkaph ukos fygk-

(iii) OgkWyhckWy [ksˇkP;k eSnkukph ekstekis fygk-

(iv) ‹olulaLFksrhy fofo/k vo;okaph ukos fygk-

(v) 'kkjhfjd f'k{k.kkph fofo/k mfn~n"Vs fygk-

(vi) HkkjrkP;k jk"V™xkuP;k ifgY;k 4 vksˇh fygk-

(vii) yaMu vkWfyafiDle/khy ikp Hkkjrh; indfotsR;kaph ukos fygk-
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2. [kk«h«iSdh dks.kR;kgh nksu izðukaph izR;sdh 5 rs 7 okD;kar mRrjs fygk %[10]

(i) O;k;kekpk ‹olulaLFksoj gks.kkjk ifj.kke fygk-

(ii) ^okWfe±x vi*ps egŸo Li"V djk-

(iii) oS;fDrd vkjksX; Eg.kts dk; gs lkaxwu rs dls jk[kkos gs Li"V djk-

3. [kk«h«iSdh dks.kR;kgh nksu izðukaph izR;sdh 20 rs 25 okD;kar mRrjs f«gk %  [20]

(i) QwVckWy [ksykph izkjaHk rs fu.kZ; ekfgrh fygwu fu;e Li"V djk-

(ii) lkekftd vkjksX;koj ifj.kke dj.kkÚ;k ?kVdkaph ekfgrh |k-

(iii) izFkeksipkj Eg.kts dk; gs lkaxwu eSnkukojhy mipkj lkaxk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps lfoLrj mRrj fygk % [20]

(i) dcM~Mh [ksˇkps eSnku dk<wu ekstekis o FkksMD;kr fu;e fygk-

(ii) gWUMckWy [ksˇkps eSnku dk<wu ekstekis o FkksMD;kr fu;e fygk-
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No. [4301]-269

S.Y. B.A. EXAMINATION, 2013

LOGIC AND METHODOLOGY OF SCIENCE

(G-II : Formal and Relational Logic)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Write short notes in 50 words each (any two) : [10]

(i) Predicate constants and predicate variables.

(ii) Preliminary and Revised form of rule of UG.

(iii) Logical structure of a relational proposition.

(iv) Enthymeme.

2. Answer any four of the following : [20]

(i) Symbolise the following propositions with the help of the symbols

given in brackets (any two) :

(a) Only citizens are voters.

(Cx–x is citizen, Vx–x is a voter).

P.T.O.
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(b) Fairies are beautiful and kind.

(Fx–x is a fairy, Bx–x is beautiful, Kx–x is

kind)

(c) Doctors and lawyers are college graduates.

(Dx–x is a doctor, Lx–x is a lawyer, Cx–x is a college

graduate).

(d) Every passenger is either in first class or in second

class.

(Px–x is a passenger, Fx–x is in first class, Sx–x is

in second class)

(ii) Symbolize the following propositions with the help of symbols

given in brackets (any two) :

(a) If anything is damaged, someone will be blamed.

(Dx–x is damaged, Bx–x will be blamed)

(b) If any mangoes are yellow, they are ripe.

(Mx–x is a mango, Rx–x is ripe, Yx–x is

yellow)
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(c) If any train is late, then all passengers are

delayed.

(Tx–x is a train, Lx–x is late, Px–x is a passenger,

Dx–x is delayed)

(d) If some students are not dutiful, then Neeta is not

dutiful.

(Sx–x is a student, Dx–x is dutiful, n).

(iii) If :

U = {a, b, c, d, e, f}

A = {a, d}

B = {c, f}

C = {a, b, c, e}.

Then list the elements of the following sets :

(a) A ∩ B

(b) ~ A ∩ ~B

(c) B ∪ C

(d) (A ∪ C) ∪ ~ C

(e) ~ A.
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(iv) Explain the revised use of E.I.

(v) Explain the method of proving invalidity of invalid

arguments.

(vi) State and explain with examples the modes of specifying

a set.

3. Attempt any three of the following : [30]

(i) Prove the validity of any two of the following :

(a) (x) [(Ax ∨ Bx) ⊃ (Cx . Dx) / ∴ (x) (Ax ⊃ Cx)

(b) (x) (Cx ⊃ Dx)

(x) (Ex ⊃ ~ Dx) / ∴ (x) (Ex ⊃ ~ Cx)

(c) (x) (Dx ⊃ Ex)

(x) [(Dx . Ex) ⊃ Fx] / ∴ (x) (Dx ⊃ Fx)

(d) (x) (Nx ⊃ Ox)

(x) (Px ⊃ Ox) / ∴ (x) [(Nx ∨ Px) ⊃ Ox).

(ii) Prove invalidity of the following arguments (any two) :

(a) (∃x) (Px . Qx)

Pb / ∴ Qb
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(b) (x) (Ex ⊃ Fx)

(x) (Gx ⊃ Fx) / ∴ (x) (Ex ⊃ Gx)

(c) (∃x) (Ax . Bx)

(∃x) (Ax . Cx) / ∴ (∃x) (Bx . Cx)

(d) (x) (Wx ⊃ Hx)

(∃x) (Ex . Hx) / ∴ (x) (Wx ⊃ Ex).

(iii) State the preliminary requirements for the axiomatic system

of principia mathematica.

(iv) Explain with examples the basic operations on sets.

(v) Prove validity of the following arguments (any two) :

(a) (x) (Ax ⊃ Bx)

(x) (Cx ⊃ Dx) / ∴ (x) (Bx ⊃ Cx) ⊃ (y) (Ay ⊃ Dy)

(b) (∃x) Jx ⊃ (∃y) Ky / ∴ (∃x) [Jx ⊃ (∃y) Ky]

(c) (∃x) (y) [(∃z) Pyz ⊃ Pyx]

(y) (∃z) Pyz / ∴ (∃x) (y) Pyx

(d) (x) (Cax ⊃ Dxb)

(∃x) Dxb ⊃ (∃y) Dby / ∴ (∃x) Cax ⊃ (∃y) Dby.
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4. Attempt any one :

(i) What is a dyadic relation ? Explain the attributes of a dyadic

relation with examples. [20]

(ii) (a) Prove any three of the following theorems with the help

of the axioms given below : [15]

Axioms :

(1) (p ∨ q) ⊃ p

(2) p ⊃ (p ∨ q)

(3) (p ∨ q) ⊃ (q ∨ p)

(4) [p ∨ (q ∨ r)] ⊃ [q ∨ (p ∨ r)]

(5) (q ⊃ r) ⊃ [(p ∨ q) ⊃ (p ∨ r)].

Theorems :

(1) |— (p ⊃ ~ q) ⊃ (q ⊃ ~ p)

(2) |— (q ⊃ r) ⊃ [(p ⊃ q) ⊃ (p ⊃ r)]

(3) |— ~ ~ p ⊃ p

(4) |— p ∨ ~ p

(5) |— p ⊃ p.

(b) Define the following in one sentence each :

sets, sub-set, proper sub-set, null set, universal set. [5]
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) ewˇ baxzth izðuif=dkgh igkoh-

1. izR;sdh 50 ðkCnkar FkksMD;kr Vhik f«gk (dks.krsgh nksu) %  [10]

(i) fo/ks; vpj o fo/ks; pj

(ii) lkoZf=d lkekU;hdj.k (izkFkfed o lq/kkfjr ekaM.kh)

(iii) laca/kokph fo/kkukph rkfdZd lajpuk Li"V djk-

(iv) «qIrko;fodk-

2. [kk«h«iSdh dks.kR;kgh pkjkaph mŸkjs |k % [20]

(i) dalkr fn«sY;k fpUgkaP;k lgk∏;kus [kk«h« fo/kkus fpUgkafdr djk (dks.krsgh

nksu) %

(v) dso« ukxfjdp ernkj vlrkr-

(Cx–x ukxfjd vkgs] Vx–x ernkj vkgs)

(c) iÚ;k lqanj o n;k«w vlrkr-

(Fx–x ijh vkgs] Bx–x lqanj vkgs] Kx–x n;kˇw vkgs)
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(d) MkWDVj o odh« inoh/kj vlrkr-

(Dx–x MkWDVj vkgs] Lx–x odh« vkgs] Cx–x inoh/kj vkgs)

(M) loZ i zoklh ,drj ifgY;k oxk Zr vkg sr fdaok n qlÚ;k oxk Zr

vkgsr-

(Px–x izoklh vkgs]  Fx–x ifgY;k oxkZr vkgs] Sx–x nqlÚ;k

oxkZr vkgs)

(ii) dalkr fn«sY;k fpUgkaP;k lgk∏;kus [kk«h« fo/kkus fpUgkafdr djk (dks.krsgh

nksu) %

(v) tj dkgh fo?kM«s vls«] rj rs nq#Lr ds«s ikfgts-

(Dx–x fo?kM«s vkgs] Bx–x «k nks"k fn«k tkbZ«)

(c) tj vkacs fioˇs vlrh«] rj rs fid«s«s vkgsr-

(Mx–x gk vkack vkgs] Rx–x fid«s«k vkgs] Yx–x fio«k vkgs)

(d) xkMh«k fo«ac >k«k] rj loZ izokðkkauk mðkhj gksrks-

(Tx–x gh xkMh vkgs] Lx–x «k fo«ac >k«k] Px–x izoklh vkgs]

Dx–x «k mðkhj gksrks)-

(M) tj dkgh fo|kFkh Z  dr ZO;n{k ulrh«] rj uhrk drZO;n{k

uls«-

(Sx–x fo|kFkhZ vkgs] Dx–x drZO;n{k vkgs] n).
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(iii) tj %

U = {a, b, c, d, e, f}

A = {a, d}

B = {c, f}

C = {a, b, c, e}.

vls«] rj [kk«h« lapkrh« lnL;kaph ;knh djk %

(v) A ∩ B

(c) ~ A ∩ ~B

(d) B ∪ C

(M) (A ∪ C) ∪ ~ C

(b) ~ A.

(iv) vfLrRookph mnkgj.khdj.kkP;k fu;ekph lq/kkfjr ekaM.kh Li"V djk-

(v) v;qDr ;qfDroknkaph v;qDrrk flº dj.;kph iºfr Li"V djk-

(vi) lap nðkZfo.;kP;k iºfr Li"V djk-

3. dks.kR;kgh rhukaph mŸkjs |k % [30]

(i) [kk«h«iSdh dks.kR;kgh nksukaph ;qDrrk flº djk %

(v) (x) [(Ax ∨ Bx) ⊃ (Cx . Dx)] / ∴ (x) (Ax ⊃ Cx)
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(c) (x) (Cx ⊃ Dx)

(x) (Ex ⊃ ~ Dx) / ∴ (x) (Ex ⊃ ~ Cx)

(d) (x) (Dx ⊃ Ex)

(x) [(Dx . Ex) ⊃ Fx] / ∴ (x) (Dx ⊃ Fx)

(M) (x) (Nx ⊃ Ox)

(x) (Px ⊃ Ox) / ∴ (x) [(Nx ∨ Px) ⊃ Ox).

(ii) [kk«h« ;qfDroknkaph v;qDrrk flº djk (dks.kR;kgh nksu) %

(v) (∃x) (Px . Qx)

Pb / ∴ Qb

(c) (x) (Ex ⊃ Fx)

(x) (Gx ⊃ Fx) / ∴ (x) (Ex ⊃ Gx)

(d) (∃x) (Ax . Bx)

(∃x) (Ax . Cx) / ∴ (∃x) (Bx . Cx)

(M) (x) (Wx ⊃ Hx)

(∃x) (Ex . Hx) / ∴ (x) (Wx ⊃ Ex).

(iii) ih-,e- chtkuqeku iz.kk«hps izkFkfed ?kVd lkaxwu Li"V djk-

(iv) lapkaojh« izfÿ;k lksnkgj.k Li"V djk-

(v) [kk«h« ;qfDroknkaph ;qDrrk flº djk (dks.krsgh nksu) %

(v) (x) (Ax ⊃ Bx)

(x) (Cx ⊃ Dx) / ∴ (x) (Bx ⊃ Cx) ⊃ (y) (Ay ⊃ Dy)
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(c) (∃x) Jx ⊃ (∃y) Ky / ∴ (∃x) [Jx ⊃ (∃y) Ky]

(d) (∃x) (y) [(∃z) Pyz ⊃ Pyx]

(y) (∃z) Pyz / ∴ (∃x) (y) Pyx

(M) (x) (Cax ⊃ Dxb)

(∃x) Dxb ⊃ (∃y) Dby / ∴ (∃x) Cax ⊃ (∃y) Dby.

4. dks.kR;kgh ,dk izðukps mŸkj |k %

(i) f}Ro laca/k Eg.kts dk; \ f}Ro laca/kkps xq.k/keZ lksnkgj.k Li"V djk-

[20]

(ii) (v) [kk«h fn«sY;k ew«k/kkjkaP;k lgk∏;kus [kk«h«iSdh dks.krhgh rhu izes;s flº

djk- [15]

ew«k/kkj %

(1) (p ∨ q) ⊃ p

(2) p ⊃ (p ∨ q)

(3) (p ∨ q) ⊃ (q ∨ p)

(4) [p ∨ (q ∨ r)] ⊃ [q ∨ (p ∨ r)]

(5) (q ⊃ r) ⊃ [(p ∨ q) ⊃ (p ∨ r)].
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izes;s %

(1) |— (p ⊃ ~ q) ⊃ (q ⊃ ~ p)

(2) |— (q ⊃ r) ⊃ [(p ⊃ q) ⊃ (p ⊃ r)]

(3) |— ~ ~ p ⊃ p

(4) |— p ∨ ~ p

(5) |— p ⊃ p.

(c) izR;sdh ,dk okD;kr O;k[;k |k % [5]

lap] milap] mfpr milap] fjDr lap] oSfðod lap-
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Group ‘A’ : Population and Society (G-2)

1. Answer any two of the following in maximum 50 words each : [10]

(1) Types of Sterility

(2) Uses of census

(3) Factors affecting female infant mortality

(4) Causes of AIDS.

2. Write short notes on any four of the following in maximum 100

words each : [20]

(1) Types of migration
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(2) Human Development Report

(3) Population Policy influencing mortality

(4) Post-independence population policy

(5) Objectives of population education

(6) Health awareness.

3. Write any three of the following in maximum 250 words each : [30]

(1) Discuss the factors of fertility.

(2) Describe the uses and importance of registration method.

(3) Explain the Malthusian theory of population growth.

(4) What are the trends of population in India ?

(5) Discuss the impact of population growth on economic

development.

4. Answer any one of the following in maximum 500 words : [20]

(1) Explain the achievements and failures of family planning

programme.

(2) Define population studies. Discuss the importance and scope

of population studies.
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OR

Group ‘B’ : Introduction to Social Welfare and

Social Legislation in India (G-2)

1. Answer any two of the following in maximum 50 words each : [10]

(1) Meaning of planned social welfare

(2) Meaning of sustainable development

(3) Meaning of social legislation

(4) Meaning of N.G.O.

2. Write short notes on any four of the following in maximum 100

words each : [20]

(1) Fundamental Duties

(2) Child labour

(3) ESI Hospitals

(4) Maternity Benefit Act

(5) Operation Blackboard

(6) Minorities and Social Welfare.

3. Answer any three of the following in 250 words each : [30]

(1) Explain the meaning and concept of social security.
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(2) Describe the meaning and features of liberalization.

(3) Write the functions of Social Welfare Board.

(4) Elaborate the need for women welfare.

(5) Discuss the features of Employment Guarantee Scheme.

4. Answer any one of the following in maximum 500 words : [20]

(1) Explain the historical background of social welfare in India.

(2) Elaborate the policy of protective discrimination for scheduled

caste and scheduled tribes.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) xV ^v* fdaok xV ^c* lksMok-

(ii) loZ izðu lksMfo.ks vkoð;d vkgs-

(iii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iv) lanHkkZlkBh ewˇ baxzth iz'uif=dk igkoh-

xV ^v*

1- [kkyhyiSdh dks.kR;kgh nksgksaph izR;sdh deky 50 'kCnkar mŸkjs fygk % [10]

(1) oa/;Rokps izdkj

(2) tux.kusps mi;ksx

(3) L=h vHkZd e`R;ql tckcnkj ?kVd

(4) ,Ml~ph dkj.ks-
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2- [kkyhyiSdh dks.kR;kgh pkjoj izR;sdh deky 100 'kCnkar Vhik fygk % [20]

(1) LFkykarjkps izdkj

(2) ekuoh fodkl vgoky

(3) eR;Zrsoj izHkko Vkd.kkjs yksdla[;k /kksj.k

(4) Lokra´;ksRrj yksdla[;k /kksj.k

(5) yksdla[;k f'k{k.kkph mfÌ"VÓs

(6) vkjksX; tk.kho tkx`rh-

3- [kkyhyiSdh dks.kR;kgh rhu iz'ukaph izR;sdh deky 250 'kCnkar mŸkjs fygk % [30]

(1) tuukP;k ?kVdkaph ppkZ djk-

(2) ukasn.kh iºrhps mi;ksx vkf.k egRo fo'kn djk-

(3) yksdla[;k ok<hpk ekYFkloknh flºkar Li"V djk-

(4) Hkkjrkrhy yksdla[;sps dy dks.krs \

(5) vkfFkZd fodklkoj yksdla[;k ok<hP;k izHkkokph ppkZ djk-

4- [kkyhyiSdh dks.kR;kgh ,dk iz'ukps deky 500 'kCnkr mŸkj fygk % [20]

(1) dqVqac fu;kstu dk;Zÿekps ;'k vkf.k vi;'k Li"V djk-

(2) yksdla[;k f'k{k.kkph O;k[;k fygk- yksdla[;k f'k{k.kkps egRo o O;kIrhph

ppkZ djk-
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(fdaok)

xV ^c*

1- [kkyhyiSdh dks.kR;kgh nksukaph izR;sdh deky 50 'kCnkar mŸkjs fygk % [10]

(1) fu;ksthr lkekftd dY;k.kkpk vFkZ

(2) 'kk'or fodklkpk vFkZ

(3) lkekftd fo/ks;dkpk vFkZ

(4) Lo;alsoh laLFkk vFkZ-

2- [kkyhyiSdh dks.kR;kgh pkj iz'ukaoj izR;sdh deky 100 'kCnkar laf{kIr Vhik fygk % [20]

(1) eqyHkwr drZO;s

(2) ckydkexkj

(3) jkT; dkexkj foek #X.kky;

(4) ekr`Ro jtk dk;nk

(5) [kMw&Qˇk ;kstuk

(6) vYila[;kd o lkekftd dY;k.k-

3- [kkyhyiSdh dks.kR;kgh rhu iz'ukaph izR;sdh deky 250 'kCnkar mŸkjs fygk % [30]

(1) lkekftd lqjf{krrspk vFkZ lkaxwu ladYiuk Li"V djk-

(2) mnkjhdj.kkpk vFkZ lkaxk o R;kph oSf'k"VÓs fo'kn djk-
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(3) lekt dY;k.k eaMˇkph dk;Z fygk-

(4) efgyk dY;k.kkph vko';drk fo'kn djk-

(5) jkstxkj geh ;kstusP;k oSf'k"VÓkaph ppkZ djk-

4- [kkyhyiSdh dks.kR;kgh ,dk iz'ukps deky 500 'kCnkar mŸkj fygk % [20]

(1) Hkkjrkrhy lkekftd dY;k.kkph ,sfrgkfld ik'oZHkweh Li"V djk-

(2) vuqlwphr tkrh vkf.k tekrhlkBhps laj{k.kkRed foHksnhdj.kkps /kksj.k Li"V

djk-
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(S-1 : Foundations of Sociological Thought)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in maximum 50 words

each : [10]

(1) Industrial Revolution

(2) Functionalism

(3) Types of Suicide (Durkheim)

(4) Dominant Caste (Shrinivas).

2. Write short notes on any four of the following in maximum 100

words each : [20]

(1) Enlightenment

(2) Characteristics of social thought

(3) Hierarchy of Sciences (Comte)

(4) Characteristics of Caste (Dr. Ghurye)

(5) Sanskritization (Shrinivas)

(6) Dr. Ambedkar’s Theory of Origin of Caste.

P.T.O.
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3. Answer any three of the following in maximum 250 words

each : [30]

(1) Describe social impacts of French Revolution.

(2) Explain the types of society stated by Spencer.

(3) Discuss Pareto’s theory of circulation of Elites.

(4) Elaborate the types of authority stated by Weber.

(5) Explain Dr. Ambedkar’s theory of untouchability.

4. Answer any one of the following in maximum 500 words : [20]

(1) Elaborate Comte’s law of three stages.

(2) Discuss Marx’s theory of class-conflict.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksgksaoj izR;sdh 50 ðkCnkai;±r mŸkjs f«gk %  [10]

(1) vkSn~;ksfxd ÿkarh

(2) izdk;Zokn

(3) vkRegR;sps izdkj (Mq[khZe)

(4) izHkkoh tkr (Jhfuokl)-

2. [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh 100 ðkCnkai;±r fVik f«gk %  [20]

(1) izcks/ku

(2) lkekftd fopkjkaph oSfðk"VÓs

(3) ðkkL=kaps oxhZdj.k (dkWEV)

(4) tkrhph oSfðk"VÓs (MkW- ?kq;sZ)

(5) laLœrhdj.k (Jhfuokl)

(6) MkW- vkacsMdjkapk tkrhP;k mRiŸkhpk flºkUr-
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3. [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh 250 ðkCnkai;±r mŸkjs f«gk % [30]

(1) ›sap jkT;ÿkarhP;k lkekftd ifj.kkekaps o.kZu djk-

(2) LisUljus lkafxr«s«s lektkps izdkj Li"V djk-

(3) ijsVksP;k Js"Bhtu vfHklj.k flºkUrkph ppkZ djk-

(4) oscjP;k vf/kdkjkP;k izdkjkaps foospu djk-

(5) MkW- vkacsMdjkapk vLi`ð;rkfo"k;d flºkUr Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukoj 500 ðkCnkai;±r mŸkj f«gk % [20]

(1) vkWxLV dkWEVP;k rhu voLFkkaP;k fu;ekps foospu djk-

(2) dk«Z ekDlZP;k oxZla?k"kZ flºkUrkph ppkZ djk-
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1. Answer any two of the following in maximum 50 words each : [10]

(1) Characteristics of social problems

(2) Causes of communalism

(3) Individualistic approach of youth

(4) Causes of white-collar crime.

2. Write short notes on any four of the following in maximum

100 words each : [20]

(1) Problems of scheduled tribes

(2) Consequences of domestic violence

(3) Displacement due to development

(4) Causes of drug addiction

(5) Nature of sexual abuse

(6) Consequences of rape.
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3. Answer any three of the following in maximum 250 words

each : [30]

(1) Explain the causes of inequality of caste in India.

(2) Discuss the causes and consequences of divorce.

(3) Elucidate economic and social problems of aged.

(4) Explain the nature of criminalization of politics.

(5) Describe the problems of working women in India.

4. Answer any one of the following in 500 words : [20]

(1) Discuss the causes and consequences of Dowry.

(2) Elucidate nature and causes of terrorism.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h«iSdh dks.kR;kgh nksukaph izR;sdh 50 ðkCnkar mŸkjs f«gk % [10]

(1) lkekftd leL;kaph oSfðk"VÓs

(2) olkgroknkph dkj.ks

(3) r#.kkaef/k« O;Drhfu"B n`"Vhdksu

(4) ika<jisðkk xqUgsxkjhph dkj.ks-
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2- [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh 100 ðkCnkai;±r Vhik f«gk % [20]

(1) vuqlwfpr tekrhaP;k leL;k

(2) dkSVwafcd fgalkpkjkps ifj.kke

(3) fodklkeqˇs gks.kkjs foLFkkiu

(4) vae«hinkFkkZP;k lsoukph dkj.ks

(5) «Safxd Nˇkps Lo:i

(6) c«kRdkjkps ifj.kke-

3- [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 250 ðkCnkai;±r f«gk % [30]

(1) Hkkjrkrh« tkrh fo"kersph dkj.ks Li"V djk-

(2) ?kVLQksVkph dkj.ks o ifj.kkekaph ppkZ djk-

(3) o`ºkaP;k vkfFkZd o lkekftd leL;k foðkn djk-

(4) jktdkj.kkrh« xqUgsxkjhps Lo:i Li"V djk-

(5) Hkkjrkrh« uksdjnkj efg«kaP;k leL;kaps o.kZu djk-

4- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkai;±r f«gk % [20]

(1) gqaMÓkph dkj.ks o ifj.kkekaph ppkZ djk-

(2) ngðkroknkps Lo:i o dkj.ks foðkn djk-
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1. Answer the following questions in 50 words each (any two) : [10]

(1) Components of a ‘State’.

(2) Concept of Kingship.

(3) Ancient Agriculture.

(4) Ancient Measurements.

2. Write notes on the following in 100 words each (any four) : [20]

(1) Organic Theory of State.



[4301]-273 2

(2) Functions of Samiti.

(3) Duties of a Ministers.

(4) Demerits of Varna system.

(5) Sacrament.

(6) Sarthavaha.

3. Answer the following questions in 200-250 words each (any

three) : [30]

(1) Explain the salient features of Ganarajyas (Republics).

(2) State the importance of ‘Sabha’ as public institution in Ancient

India.

(3) Which were the different types of courts in Ancient India ?

(4) Describe the Ashrama system in Ancient India.

(5) Explain the various industries in Ancient India.

4. Answer the following question in 500 words (any one) : [20]

(1) Explain the Archaeological sources of the Political, Social and

Economic Institutions of Ancient India.

(2) Describe in detail the Indo-Roman trade in Ancient Period.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1- [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk (dks.krsgh nksu) % [10]

(1) jkT;kps ?kVd-

(2) jktin ladYiuk-

(3) izkphu ðksrh-

(4) izkphu ekis-

2- izR;sdh 100 ðkCnkr Vhik f«gk (dks.kR;kgh pkj) % [20]

(1) jkT;kpk lsafÊ; flºkar-

(2) lferhps dk;Z-

(3) ea´;kph drZO;s-

(4) o.kZO;oLFksps nks"k-

(5) laLdkj-

(6) lkFkZokg-

3- [kk«h« izðukaph mŸkjs izR;sdh 200&250 ðkCnkr f«gk (dks.krsgh rhu) % [30]

(1) x.kjkT;kph Bˇd oSfðk"VÓs Li"V djk-

(2) izkphu Hkkjrh; «ksdlaLFkk Eg.kwu lHksps egRo lkaxk-
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(3) izkphu Hkkjrh; U;k;k«;kaps fofo/k izdkj dks.krs gksrs \

(4) izkphu Hkkjrkrh« vkJe O;oLFksps o.kZu djk-

(5) izkphu Hkkjrkrh« fofo/k m|ksx/kans uewn djk-

4- [kk«h« izðukps mŸkj 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(1) izkphu Hkkjrh; jktdh;] lkekftd o vkfFkZd laLFkkP;k bfrgklkph iqjkrŸoh;

lk/kus Li"V djk-

(2) izkphu dkˇkrh« Hkkjr&jkse O;kikjkps lfoLrj o.kZu djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4301]-274

S.Y. B.A. EXAMINATION, 2013

MATHEMATICAL PREREQUISITES

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of electronic calculator is allowed.

1. Attempt any ten of the following : [20]

(1) If y = e1 – 4x, find 
dy

dx
.

(2) Is Z = 
2x

y
 homogeneous function ? Justify.

(3) Solve the equation loga x = y3 for x.

(4) Simplify ln e10 using rules of logs.

(5) If Z = ln (7x + 2y), find Zy.

(6) Define : Partial Differentiation.

(7) Using logs find y = 950 × 80.

(8) If y = ln (6x), find 
dy

dx
.

(9) Find 
2

3x dx∫ .
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(10) Determine degree and order of the differential equation :

4

6 0.
dy

x
dx

  − =  

(11) Define : Order of differential equation.

(12) What is definite integral ?

(13) Evaluate :

( )
6

5

2 3 .x dx+∫

2. Attempt any two of the following : [10]

(1) Given that :

y = ln (x2 – 8x + 20).

Find the critical values of y.

(2) Evaluate :

2
3

24
x

xe dx∫
by substitution method.

(3) Explain Homogeneous Differential Equation.

3. Attempt any two of the following : [20]

(1) Test the convergence of improper integral :

0

2 .
x

xe dx

−∞
∫
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(2) Using integrating factor, solve the differential equation :

t2dy + 3ytdt = 0.

(3) Solve the given difference equation and check answer at

t = 0 and t = 1 and comment on the nature of the time

path where, 5yt + 2yt – 1 – 140 = 0, y0 = 30.

4. Attempt any two of the following : [30]

(1) Explain in detail “THE COBWEB MODEL”.

(2) Find the integrating factor for the given differential equation

and solve :

3 41
0.

2
y t dy y dt+ =

(3) Find the price and quantity that will maximize total revenue,

given the demand function P = 12.50 e–0.005Q and check the

second order condition.



P.T.O.

Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [4301]-280

S.Y. B.A. EXAMINATION, 2013

PHILOSOPHY

General Paper 2

(Philosophy of Indian Saints)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(1) Explain the characteristics of a Saint.

(2) What is ‘Sahajyoga’ ?

(3) Explain the term ‘Vishvatmaka Deva’.

(4) Explain the concept ‘Maya’ with reference to Bahenabai.

2. Write short notes on any four of the following in 100 words

each : [20]

(1) Explain Saint Tukarama’s concept of Bhakti.
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(2) According to Nanak, what is Niramkara ?

(3) Saint Ramadasa’s ‘Monotheism’.

(4) Basaveshvara’s concept of ‘Guru’.

(5) Role of Bhakti Movement in Medieval India.

(6) Bahenabai’s concept of Vedic authority.

3. Answer any three of the following questions in 200 to 250 words

each : [30]

(1) Explain fully Saint Ramadasa’s concepts of Brahma and Maya.

(2) Explain Saint Tukarama’s criticism on social inequality.

(3) Discuss fully Saint Dnyaneshvara’s concept of Bhakti.

(4) What, according to Kabir, is the nature of Ultimate Reality ?

(5) How does Saint Basaveshvara criticize ritualism ?

4. Answer any one of the following questions in 500 words : [20]

(1) Discuss fully Saint Dnyaneshvara’s Chidvilasavada.

(2) Explain Guru Nanaka’s thoughts about ethical and social

reform.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h«iSdh dks.kR;kgh nksu izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk % [10]

(1) larkaph «{k.ks foðkn djk-

(2) ^lgt;ksx* Eg.kts dk; \

(3) ^foðokRed nso* ladYiuk lkaxk-

(4) cgs.kkckb±uk vuql:u ^ek;k* ladYiuk lkaxk-

2- [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk % [20]

(1) lar rqdkjkekaph ^HkDrh* ladYiuk lkaxk-

(2) ukudkaph ^fujadkj* ladYiuk dk; vkgs \

(3) lar jkenklkapk ^,dsðojokn*-

(4) closðojkaph ^xq#* ladYiuk-

(5) e/;;qxhu Hkkjrkrh« HkDrh pˇoˇhph Hkwfedk-

(6) cgs.kkckb±ph oSfnd vf/kdkjh ladYiuk-

3- [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk % [30]

(1) lar jkenklkaP;k cz„ vkf.k ek;k ;k ladYiuk lfoLrj lkaxk-
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(2) lkekftd fo"kersojh« lar rqdkjkekaph Vhdk lfoLrj Li"V djk-

(3) lar KkusðojkaP;k HkDrh ladYiusph lfoLrj ppkZ djk-

(4) dchjkauk vfHkizsr vl«s«s vafre ln~oLrqps Lo:i dk; vkgs \

(5) closðoj /kkfeZd fjrh&fjoktkaoj dðkh Vhdk djrkr \

4- [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(1) lar KkusðojkaP;k fpn~fo«kloknkph lfoLrj ppkZ djk-

(2) xq# ukudkaps uSfrd vkf.k lkekftd lq/kkj.kkaps fopkj lfoLrj foðkn djk-
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[4301]-280

(Philosophy and Good Life)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(1) Explain the difference between biocentrism and

anthropocentrism.

(2) Briefly state the concept of Ashtangyoga.

(3) Describe the nature of media ethics.

(4) Explain the different levels of existence of human beings.

2. Write short notes on any four of the following in 100 words

each : [20]

(1) Corporation as a moral agent.

(2) The relevance of Hippocratic oath.

(3) Deep ecology.

(4) Stoic ethics.

(5) Secularism.

(6) Concept of Bodhisattva.
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3. Answer any three of the following questions in 200 to 250 words

each : [30]

(1) What are the rights and duties of a patient ?

(2) Briefly explain Dr. Ambedkar’s views on annihilation of

caste.

(3) Elaborately discuss Aristotle’s concept of virtue.

(4) State and discuss the ethical issues concerning employers and

employees.

(5) Discuss the problem regarding the portrayal of violence in

media.

4. Answer any one of the following questions in 500 words : [20]

(1) Discuss the arguments for and against animal rights.

(2) Write an elaborate essay on Purushartha theory.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(1) tSodsfUÊrrkokn vkf.k ekuodsfUÊrrkokn ;kae/kh« Qjd Li"V djk-
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(2) v"Vkax;ksxkph ladYiuk FkksMD;kr Li"V djk-

(3) ek/;e uhfrðkkL=kP;k Lo:ikps o.kZu djk-

(4) ekuokP;k vfLrRokP;k osxosxˇÓk ikrˇÓk Li"V djk-

2- [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar FkksMD;kr fVi.k f«gk % [20]

(1) m|ksxlewg % ,d uSfrd drkZ-

(2) fgIiksÿsVlP;k ðkiFksph izLrqrrk-

(3) l[kks« ifjljfoKku-

(4) LVkWbZd uhfrðkkL=-

(5) /keZfujis{krkokn-

(6) cks/khlŸokph ladYiuk-

3- [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk % [30]

(1) #X.kkps gDd o drZO;s dks.krh vkgsr \

(2) MkW- vkacsMdjkaps tkrhfuewZ«uklaca/khps fopkj FkksMD;kr Li"V djk-

(3) vWfjLVkWV«P;k lnxq.k ;k ladYiusph lfoLrj ppkZ djk-

(4) ek«d vkf.k deZpkjh ;kaP;kðkh lacaf/kr uSfrd eqÌs lkaxwu R;kaph ppkZ

djk-

(5) ek/;ekae/kh« fgalsP;k fp=hdj.kkP;k leL;sph ppkZ djk-
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4- [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(1) izk.;kaP;k gDdkP;k eq|kP;k cktwus vkf.k fojks/kh vl.kkÚ;k ;qfDroknkaph ppkZ

djk-

(2) iq#"kkFkZ flºkarkoj foLr`r fuca/k f«gk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-281

S.Y. B.A. EXAMINATION, 2013

PHILOSOPHY

Special Paper 1

(Indian Philosophical Approaches)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(1) Discuss the ethical thought of Upanishadas.

(2) Explain the nature of Akhyati.

(3) State Anatmavada.

(4) Explain the nature of Upamana Pramana.

2. Write notes on any four of the following in 100 words each : [20]

(1) Para and Apara Vidya.
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(2) Dehatmavada.

(3) Sthitaprajna as an Ideal Person.

(4) Types of Samadhi according to Yoga Darshan.

(5) Abhava and its kinds.

(6) Qualified Non-dualism.

3. Answer any three of the following questions in 250 words each : [30]

(1) Explain Vidhi-Arthavada according to Purva-Mimansa.

(2) State and discuss Syadvada.

(3) State and explain the doctrine of Pratityasamutpada.

(4) Elaborately discuss Anuman Pramana in Nyaya Darshan.

(5) Discuss Satkaryavada of Samkhya Darshan.

4. Answer any one of the following questions in 500 words : [20]

(1) Write an essay on Karma Yoga in Bhagvatgita.

(2) Explain in detail Kevaladvaita of Sankar.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMokosr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(1) mifu"knkarh« uhrhfopkjkph ppkZ djk-

(2) v[;kfrps Lo:i Li"V djk-

(3) vukReoknkph ekaM.kh djk-

(4) mieku izek.kkps Lo:i Li"V djk-

2- [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar fVik f«gk % [20]

(1) ijk vkf.k vijk fo|k-

(2) nsgkReokn-

(3) vknðkZO;Drh ;k Lo:ikr fLFkrizK-

(4) ;ksxnðkZukuqlkj lek/khps izdkj-

(5) vHkko vkf.k R;kps izdkj-

(6) fofðk"Vk}Srokn-

3- [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk % [30]

(1) iwoZehekals«k vuql:u fo/kh&vFkZokn Li"V djk-
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(2) L;knoknkph ekaM.kh d:u R;kph ppkZ djk-

(3) izrhR;leqRiknkpk flºkar lkaxk vkf.k Li"V djk-

(4) U;k;nðkZukrh« vuqekuizek.kkph foLrkjkus ppkZ djk-

(5) lka[; nðkZukrh« lRdk;Zoknkph ppkZ djk-

4- [kk«h«iSdh izðukps mŸkj 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(1) Hkxon~xhrsr ekaM«sY;k deZ;ksxkoj fuca/k f«gk-

(2) ðkadjkpk;k±pk dso«k}Sr flºkar lfoLrj Li"V djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-282

S.Y. B.A. EXAMINATION, 2013

PHILOSOPHY

Special Paper 2

[History of Western Philosophy (Ancient,

Medieval and Modern)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(1) Explain Empedocles’s views about the nature of reality.

(2) Explain the term Nominalism.

(3) What is the concept of ‘Monad’ ?

(4) What does Hegel understand by the term dialectic ?

2. Write short notes on any four of the following in 100 words

each : [20]

(1) St. Anselm’s ontological proof for the existence of God.
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(2) Spinoza’s monism.

(3) Hume’s concept of self.

(4) Parmenides’s notion of Being.

(5) Aristotle’s theory of causation.

(6) Subjective Idealism.

3. Answer any three of the following questions in 200-250 words

each : [30]

(1) Elaborately discuss Aristotle’s views of substance.

(2) State and bring out the significance of Locke’s distinction between

primary and secondary qualities.

(3) “Virtue is Knowledge.” Explain and comment.

(4) Discuss Hume’s views on causation.

(5) Discuss Kant’s notion of synthetic a priori judgement.

4. Answer any one of the following questions in 500 words : [20]

(1) Elaborately discuss Plato’s theory of forms.

(2) Write a critical essay on Descartes’s rationalism.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h«iSdh dks.kR;kgh nksu izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk % [10]

(1) ,fEiMksD«lP;k lr~P;k Lo:ikfo"k;hps fopkj Li"V djk-

(2) ukeokn gh ladYiuk Li"V djk-

(3) ^fpn.kw* gh ladYiuk dk; vkgs \

(4) }a}fodkl laKsps gsxs«ps vkd«u dk; vkgs \

2- [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk % [20]

(1) bZðojkP;k vfLrŸokcÌ« lar vUlsYeus fn«s«h lŸkkðkkL=h; flºrk-

(2) fLiuks>kpk ,drŸookn-

(3) gÓweph ^Lo*ph ladYiuk-

(4) ikjesuk;M~lph lr~ph dYiuk-

(5) vfjLVkWV«pk dkj.krk flºkar-

(6) Kkr`fu"B fp}kn-

3- [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh 200&250 ðkCnkar mŸkjs f«gk % [30]

(1) vWfjLVkWV«P;k ÊO;fo"k;d fopkjkaph lfoLrj ppkZ djk-
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(2) «kWdus izkFkfed vkf.k nq∏;e xq.k/kekZr ds«s«k Qjd lkaxwu R;kps egŸo Li"V

djk-

(3) ^ln~xq.k Eg.kts Kku* Li"V djk vkf.k Hkk"; djk-

(4) gÓweP;k dkj.krkfo"k;d fopkjkaph ppkZ djk-

(5) dkUVP;k vuqHkoiwoZ lað«s"kd fo/kkukP;k dYiusph ppkZ djk-

4- [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(1) I«sVksP;k vkdkjfo"k;d flºkUrkph lfoLrj ppkZ djk-

(2) nsdkrZP;k cqºhoknkoj fpfdRld fuca/k f«gk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-283

S.Y. B.A. EXAMINATION, 2013

NATIONAL SERVICE SCHEME

General Paper 2

(Personality Development, Leadership and Communication)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) State the concept of ‘Personality Development’.

(2) Explain the concept of ‘Social Development’.

(3) State the objectives of Village adoption.

(4) Explain the concept of ‘Political Leader’.

2. Write short notes in 100 words each (any four) : [20]

(1) Human Growth
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(2) Leadership

(3) Mobilization

(4) Action Programme

(5) Community

(6) People’s Participation.

3. Answer the following questions in 200 to 250 words each (any

three) : [30]

(1) Explain the nature of Personality.

(2) State the principles of Development.

(3) Explain the styles of Leadership.

(4) State the aims of Village Adoption Programme.

(5) State the coorrelationship between Political Leadership and Social

Development.

4. Answer any one of the following questions in 500 words : [20]

(1) Explain the need of training of Political Leader.

(2) How can the Government and Non-Government agencies be

participated in N.S.S. activities ?



[4301]-283 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) ^O;fDreRo fodklkph* ladYiuk lkaxk-

(2) ^lkekftd fodklkph* laKk Li"V djk-

(3) nŸkdxko dk;Zÿekps mfÌ"VÓs lkaxk-

(4) ^jktfd; usrkph* ladYiuk Li"V djk-

2- izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) ekuoh fodkl@o`ºh

(2) usr`Ro

(3) xfrekurk

(4) œrh dk;Zÿe

(5) lekt

(6) tu@«ksdlgHkkx-

3- [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) O;fDreRokps Lo:i foðkn djk-



[4301]-283 4

(2) fodklkph eq«rRos lkaxk-

(3) usr`RokP;k iºrh@ðkS«h Li"V djk-

(4) nŸkdxko dk;Zÿekph /;s; lkaxk-

(5) jktfd; usr`Ro vkf.k lkekftd fodkl ;krh« lglaca/k lkaxk-

4- [kk«h«iSdh dks.krkgh ,d izðukukph mŸkj 500 ðkCnkr f«gk % [20]

(1) jktfd; usR;kP;k izfðk{k.kkph vkoð;drk foðkn djk-

(2) jk- ls- ;kstusP;k dk;Zÿekr ljdkjh o xSjljdkjh laLFkk dðkkizdkjs lgHkkxh

gks≈ ðkdrkr \
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Total No. of Questions—7] [Total No. of Printed Pages—2

Seat

No. [4301]-285

S.Y.B.A. EXAMINATION, 2013

(Vocational Course)

COMPUTER APPLICATIONS

Course III

(Theory)

RDBMS

(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) Question No. 1 is compulsory and solve any five from

the remaining questions.

(ii) Draw a neat labelled diagram wherever necessary.

(iii) Figures to the right indicate full marks.

1. What is DBMS ? Explain data hierarchy in DBMS. [10]

2. Explain advantages of DBMS. [6]

3. Explain the following with example : [6]

(a) Order by clause

(b) Select statement.

4. Explain in brief the following with syntax and example : [6]

(a) Like operator

(b) Where clause.
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5. Explain in brief the following : [6]

(a) Primary key

(b) Check constraint.

6. Explain the following with example : [6]

(a) DELETE

(b) INSERT INTO.

7. Write a short note on Mathematical functions in SQL. [6]
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Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [4301]-286

S.Y.B.A. EXAMINATION, 2013

FUNCTIONAL ENGLISH (VOCATIONAL STREAM)

Paper III

Advanced Writing Skills and Introduction to Electronic Media

(Theory)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. (A) (1) Pick out the adjective from column ‘B’ which does not

go with the noun given in column A : [5]

‘A’ ‘B’

Person harmful, famous,

costly, valuable

Building new, spectacular,

historical, nostalgic

Hospital harmful, huge,

well-known, unique

Employee honest, ambitious,

soft-spoken, catchy

Year last, leap,

near, next
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Or

(2) Make five meaningful words from the word given below. [5]

UNIVERSALIZATION

(B) (1) Identify the register of the following paragraph and mention

its markers : [5]

The examples printed in italics in the entry for a

word or phrase show you how that word or phrase is

commonly used in written or spoken English. They can

help you to use a word naturally and to check that you

have found the right word. Sometimes a word shown

in an example is shown in bold. This tells you that it

is a collocation (a word that is very commonly used with

the word you have looked up). Labels in small italics

show you the part of speech of a word. Labels in square

brackets give you extra grammatical information about

the word.

Or

(2) Identify the style of each of the following sentences : [5]

(i) On behalf of my crew I welcome all the passengers

on board for their journey to Chicago.

(ii) Mr. Satish, the members of the management expect

you to shoulder the responsibility of the project.

(iii) We are eagerly waiting for your next book to get

published.

(iv) No smoking, please.

(v) Let me pay for your tea today.
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2. (1) You have got admission for your master’s degree in Columbia

University, USA. Write a letter to the Director, India Foundation,

requesting for educational loan which you will repay when you

start earning after completing your education. [5]

Or

(2) Your uncle has invited you to spend your summer

vacation with him in Nagpur. But you have already decided

to attend the Youth Training Programme to be conducted at

Baba Amte’s Aanadvan. Write to your uncle telling about

your plans. [5]

3. (A) You are the University Representative of your College.

Your Principal has asked you to conduct a survey of the

facilities available on the college campus. Present your report

to the Principal. Consider the following aspects :

library, laboratories, play-ground, hostels, canteen, cleanliness

and health-facilities. [10]

(B) As the secretary of your departmental library you were asked

to visit a Book Exhibition. Write a report on your visit, addressing

it to the head of your department. [10]

4. (A) Your department has arranged a formal gathering of the past

and present students of the department. You are the anchor

of the programme. Write your script considering the following

points : Welcome speech by the HOD, Felicitation of meritorious

past students, speeches by the past students, speeches by the

present students, variety entertainment programme, vote of

thanks. [10]
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(B) Answer any two of the following questions : [10]

(i) “Writing for radio is creating verbal pictures.” Comment.

(ii) Write a note on the studio set-up of radio.

(iii) What are the features of a radio talk ?

(C) Answer any two of the following questions : [10]

(i) Bring out the characteristics of TV as an audio-visual

media.

(ii) What role can TV play in informing and educating

people ? Give examples.

(iii) Which is your most favourite TV serial ? Why ?

5. Answer any three of the following questions : [15]

(i) Do you agree with the view, “The popularity of TV has not

affected the use of radio” ? Why ?

(ii) What is the difference between the language skills required

for Radio and TV ?

(iii) What are the differences between TV and Radio interviews ?

(iv) Compare and contrast the main features of TV and Radio as

mass media.

(v) Which news bulletin is more effective, Radio or TV ?

Why ?



P.T.O.
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S.Y.B.A. EXAMINATION, 2013

TRAVEL AND TOURISM MANAGEMENT

(Vocational Stream)

Paper III

Tourism Marketing and Travel Agency Operation

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencil is allowed.

1. Explain any two in brief (Around 50 words each) : [10]

(1) Travel insurance

(2) Cost calculation

(3) VISA

(4) IATO.

2. Write short notes on any four (Around 100 words each) : [20]

(1) Concession in Air Fair

(2) Designing a tour
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(3) Inbound tourists

(4) Importance of broachers

(5) Security check

(6) Royal orient.

3. Answer any three (200 to 250 words each) : [30]

(1) What is the recruitment process for a travel agency staff ?

(2) Write the importance and functions of TAAI.

(3) What role does foreign tourist play in the development of the

country ?

(4) Mention the characteristics and services of marketing.

(5) Define classification of hotels and the process of classification.

4. Answer in detail any one (Around 500 words) : [20]

(1) Mention the linkage between transportation and tourism

industry.

(2) Mention five new types of tourism and explain them.
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S.Y. B.A. EXAMINATION, 2013

FUNCTIONAL HINDI : VOCATIONAL

(iz;kstuewyd fganh % oksds'kuy)

iz'ui= III

(jktHkk"kk fganh] fganh esa i=kpkj] foKkiu] i=dkfjrk rFkk vuqoknµ1)

(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

lwpuk,° :— (i) lHkh iz'u vfuok;Z gSa A

(ii) nkfguh vksj fy[ks x;s vad iz'u ds iw.kk±d gSa A

(iii) foHkkx ^v* vkSj foHkkx ^c* ds mŸkj ,d gh mŸkj&iqfLrdk esa

fyf[k, A

foHkkx ^v*

1- (d) fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k, % [10]

(i) fganh esa izoh.krk]

(ii) dk;kZy;hu i=kpkj dh ifjHkk"kk]

(iii) izsl&foKfIr]

(iv) foKkiu ds ek/;e A

([k) ^egkjk"V™ bysDV™kWfud* iq.ks dh vksj ls lWelu daiuh bankSj dks ySiVkWi

ds ewY; rFkk ÿ; dh 'krs± iwNus ds laca/k esa i= dk izk:i rS;kj

dhft, A [6]

vFkok

^egkohj bysDV™kWfud* iq.ks dh vksj ls ^,y~-th- bysDV™kWfud* vgenkckn dks

50 okWf'kax e'khuksa ds fy, vkns'k&i= rS;kj dhft, A
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2- (x) fuEufyf[kr esa ls fdUgha rhu iz'uksa ds mŸkj la{ksi esa fyf[k, % [9]

(i) {ks= ^d* vkSj ^x* ds chp ljdkjh i=kpkj fdl Hkk"kk es a

gksxk \

(ii) ^izf'k{k.k&laLFkku* ds ckjs esa jktHkk"kk vk;ksx us D;k flQkfj'k

dh \

(iii) Kkiu dk egŸo Li"V dhft, A

(iv) vuqLekjd fdls dgrs gSa \

(v) iwNrkN ds i= fy[krs le; fdu ckrks a dh vksj /;ku nsuk

pkfg, \

(?k) fuEufyf[kr lHkh lkr foKkiu&okD;ka'kksa@?kks"kokD;ksa ds vkxs muds mRikn~; oLrq

ds uke fyf[k, % [7]

(i) feDl lgh rks 'kkbu ubZ --------------------------------- A

(ii) [kkvks ,d cus vusd --------------------------------- A

(iii) Mcy fu[kkj jkst --------------------------------- A

(iv) ped ,slh ubZ tSlh --------------------------------- A

(v) /kqvk° ugha vlj fn[ksxk --------------------------------- A

(vi) gj csgrj pht eg°xh ugha gksrh --------------------------------- A

(vii) nke de ckrsa T;knk --------------------------------- A

foHkkx ^c*

3- (p) fuEufyf[kr vuqPNsn dk fganh esa vuqokn dhft, % [7]

yksd papy vlrkr- rs vkt ,[kk|kph iwtk djrhy] m|k R;kphp dqrjvks<

djrhy- rs vkt t;t;dkj djrhy] m|k f'kO;k&'kki nsrhy- vkt mapkoj p<orhy]

m|k [kkyh vks<rhy] vkt Qqykaps gkj ?kkyrhy] m|k nxM ekjrhy- nqfu;k

>qdrh gS] >qdkusokyk pkfg;s- yksdkauk tls oˇokos rls rs oˇrkr- vXuhus

lqanj Lo;aikd djrk ;srks] vkxgh ykork ;srs- yksdkauk 'kkar Bsork ;srs] R;kauk

iz{kqC/kgh djrk ;srs- ik.kh 'kkar vlrs] ijarq tksjkpk okjk lqVyk rj rsp ik.kh



[4301]-288 3 P.T.O.

izpaM ykVkaps :i /kkj.k djrs- eksBeksBÓk cksVhgh ex R;k ykVkaleksj fVdw 'kdr

ukghr- R;kizek.ks 'kkar jkgk.kkjh turk dks.kh ,[kk|k xks"Vhpk rqQkuh izpkj dsyk

rj [koˇrs- rh ex vkojrk ;sr ukgh-

(N) izfr&la'kks/ku ds fp�ksa dk iz;ksx djrs gq, fuEufyf[kr ifjPNsn dks fQj ls

fyf[k, % [7]

eksVs rksj ij vuq 'kklu dh ijhHkk"kk O;gkj ds vkn'kZ <x ds :i esa dhtk

ldrh gS] ftldk vk/kkj gSa dk u~ u dk ikyu] drZO; Hkkouk] fu;e ikyu

rFkk le;&ikyuk A ge ns[krs gS dh gekfj f'k{kk esa usfrd iqV fd deh

gSa A ijrq uSfrdrk dksbZ ,lh oLrq ugha gS] tks ,dfnu esa gh Nk=ks esa

Qq°dh tk lds vksj ;g,slho Lrq Hkh ufg dh thlds fy, mi ns'kdh fd

vko'; drkgks ;g rks xafHkj ohpj dh o LrqgS D;qdh Nk= ns 'kds Hkkoh

ukxjhd gS vuq'kk lugh u fon;kjfFk;ksa ls ;g vk'kk ugh fd tk ldfr

dh o lolFk ukxjhd ds :i esa fodlhr gksxs vFkok os jk'Vj dks lwn:M

cuk;sxs A

4- (t) vkids egkfon~;ky; esa ^rqylh&t;arh* dk vk;kstu fd;k tk jgk gSµbl lanHkZ

esa izsl&foKfIr rS;kj dhft, A [6]

(>) (I) fuEufyf[kr es a ls fdUgh a ik °p ds fg anh ikfjHk kf"kd 'kCn

fyf[k, % [5]

(i) Account suspense

(ii) Bearer cheque

(iii) Down payment

(iv) Accused person

(v) Come into force

(vi) Inward register

(vii) Water tight

(viii) Goods shade.
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(II) fuEufyf[kr es a ls fdUgha ik°p ds vax z sth ikfjHkkf"kd 'kCn

fyf[k, % [5]

(i) ys[kk j[kuk

(ii) {keknku

(iii) ynku LFkku

(iv) cSad i`"Bkadu

(v) vuqleFkZu

(vi) fMCck

(vii) vafre frfFk

(viii) ladsrd A

5- fuEufyf[kr esa ls fdUgha rhu ij fVIif.k;k° fyf[k, % [18]

(i) vuqokn dk egŸp]

(ii) izfrla'kks/ku dh mi;ksfxrk]

(iii) laoknnkrk ds xq.k]

(iv) vk/kqfud dk;kZy;ksa esa ,e-,l-&oMZ dh mi;ksfxrk]

(v) ek;ÿkslkW∂V ,Dlsy ds ykHk A
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S.Y.B.A. EXAMINATION, 2013
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COMPUTER APPLICATIONS

Paper IV
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Time : Two Hours Maximum Marks : 40

N.B. :— (i) Question No. 1 is compulsory and solve any five from

the remaining questions.

(ii) Draw a neat labelled diagram wherever necessary.

(iii) Figures to the right indicate full marks.

1. What is E-R diagram ? State which symbols are used for E-R diagram

and draw  E-R diagram for Payroll in which employee, organization

and bank are entities. [10]

2. Explain the following : [6]

(1) Fact Gathering techniques

(2) Feasibility study.

3. Write a short note on Software qualities. [6]
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4. Explain system implementation. [6]

5. Explain the following : [6]

(1) Decision Tree

(2) Input design.

6. Explain Spiral model with diagram. [6]

7. Explain flow charting symbols with diagram. [6]
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S.Y. B.A. Examination, 2013
MATHEMATICS  (SPL – II)

MS-2(a) : Combinatorics and Computational Geometry

Time : 3 Hours Max. Marks : 80

1. Answer each of the following questions : 16

1) How many 4-digit numbers (with repetition allowed) can be formed using

digits 0, 2, 4, 6, 8 ?

2) Find the number of non-negative integer solutions of the equation :

x + y + z + w = 17

3) Solve the recurrence relation an = an–2, where n ≥  2 and a0= a1 = 1.

4) How many integers between 1 and 567 are divisible by either 3 or 5 ?

5) If a 2×2 transformation matrix :  ⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
=

32

12
]T[  is applied to the circle of

radius 2 units, then find the area of the resulting figure.

6) Give two different parametric representations of the circle :

(x – 2)2 + (y + 3)2 = 4.

7) Find the combined two-dimensional transformation if the first transformation

is reflection about X-axis and then reflection about the line y = x.

8) Define Dimetric projection and isometric projection.

P.T.O.

Seat
No.
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2. 1) Answer any one of the following questions : 6

a) Given an 8×8 chessboard, how many squares of all sizes are there on it ?

b) Give a combinatorial proof of the identity :

⎟⎟
⎠

⎞
⎜⎜
⎝

⎛ +
=⎟⎟

⎠

⎞
⎜⎜
⎝

⎛
−⎟⎟

⎠

⎞
⎜⎜
⎝

⎛∑
= r

nm

kr

n

k

mr

0k

2) Answer any two of the following questions : 10

a) How many n-digit ternary (0, 1, 2) sequences are there with at least one 0,
at least one 1 and at least one 2 ?

b) Solve the recurrence relation :

an = 3an1 + 4an2 for n ≥  2 and a0 = 1, a1 = 3.

c) Suppose the numbers 1 through 10 are randomly positioned around a
circle.  Show that the sum of some set of three consecutive numbers must
be at least 17.

3. 1) Answer any one of the following questions : 8

a) Let A1, A2, ....., An be n sets in a universe U of N elements. Let Sk denote
the sum of the sizes of all k-tuple intersections of the Ais. Prove that

.S)1(....SSSN)A.......AA(N n
n

321n21 −++−+−=

b) Find a recurrence relation for the number an of ternary sequences of length
n that contain 2 consecutive digits that are the same. What are the initial
conditions ? Find a4.

2) Answer any one of the following questions : 8

a) Derive iterative formula to generate n uniformly spaced points on the

circumference of the circle :

(x – a)2 + (y – b)2 = r2

b) Write an algorithm for reflection through an arbitrary plane in space.
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4. 1) Answer any one of the following questions : 6

a) Find the concatenated transformation matrix for the following transformation :

i) first rotate about the origin through an angle 45°

ii) then shearing in X-direction by 2 units. Apply it on vector [1, 2].

b) State general parametric Bezier curve. Show that for any given value of

the parameter t, the summation of basis functions is precisely 1.

2) Answer any two of the following questions : 10

a) Find the concatenated transformation matrix for rotation through 45° about

X-axis and rotation through 30° about Y-axis and apply it on the position

vector [3, 2, 4, 1].

b) Determine the principal foreshortening factors if the matrix for an

axonometric projection is given by :

⎟⎟
⎟
⎟
⎟

⎠

⎞

⎜⎜
⎜
⎜
⎜

⎝

⎛
−

=

1035.2

025.01

002.06.0

0008.0

]T[

c) If the lines L1 : 3x + 2y = 5 and L2 : 7x – y = 6 are tranformed to 1L′  and 2L′

under the transformation ⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
− 32

10
, find the point of intersection of 1L′

and 2L′  .



5. 1) Answer any one of the following questions : 6

a) Generate uniformly spaced 5 points on the parabolic segment in the first

quadrant for 1 ≤  x ≤  4 for the parabola given by y2 = 4x.

b) Find the parametric equation of a Bezier curve determined by control points

B0 [1, 1], B1 [2, 3] and B2 [4, 3] and find the position vector of the point on

the curve corresponding to the parameter value t = 0.15.

2) Answer any two the following questions : 10

a) Obtain concatenated matrix representation of the following transformations

in order in a three space :

i) Reflection in YZ plane

ii) Rotation about Z-axis by 45°

iii) Translation in x, y, z direction by units 1, 2, 3 respectively.

b) Reflect the triangle ABC having vertices A[2, 4], B[4, 6], C[2, 6] through

the line x2y + 4  = 0.

c) Define Perspective transformation and state any three properties of the

same.

———————
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MATHEMATICS
MS-2 (b) : Graph Theory and Lattice Theory

1. Attempt the following : 16

i) Show that a simple graph with n vertices has at most 
2

)1n(n −  edges.

ii) Draw the graph whose Adjacency matrix is

⎥
⎥
⎥
⎥
⎥
⎥
⎥
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢
⎢
⎢
⎢
⎢
⎢
⎢
⎢

⎣

⎡

01001

10111

01010

01101

11010

iii) Give an example of a Hamiltonian graph which is not Eulerian.

iv) Find the radius and the diameter of the complete graph Kn.

v) Define complete lattice.

vi) Show that every ideal is a sublattice.

vii) Show that every chain is a distributive lattice.

viii) Draw a circuit represented by

[ ])dc()db(a ∧′∨′∨∧ .

2. A) Attempt any one : 6

i) Prove that the set of edges of Eulerian graph can be partitioned into disjoint
cycles.

ii) Show that there is unique path between a given pair of vertices of a tree.
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B) Attempt any two : 10

i) Draw a graph with vertex connectivity 2, edge connectivity 3, minimum
degree 4.

ii) Obtain a shortest spanning tree for the following graph by using Prim’s
algorithm.

iii) Draw the arborescence and express in Polish notation, the expression :

)5x9()y2x3( 22 +++τ

3. A) Attempt any one : 8

i) List all the fundamental circuits and fundamental cutsets of the following
graph w.r.t. the given spanning tree.

ii) Let A be the adjacency matrix of a connected graph G. Prove that the (i, j)th

entry of Ak is the number of walks from vertex vi to vertex vj in G of length k.
Further, show that the trace of A2 is twice the number of edges in G.

B) Attempt any one : 8

i) Prove that set of all principal ideals of a lattice L forms of a lattice under
‘≤ ’ set inclusion and is a sublatttice of the ideal  lattice I (L) of L.

ii) Prove that a lattice L is modular if and only if it does not contain pentagonal
sublattice N5.



4. A) Attempt any one : 6

i) Draw the diagram of the lattice of factors of 20, under divisibility and show
that it is same as that of the product of two chains with three and two
elements.

ii) Let L be a finite boolean algebra and let S be the set of all atoms of L, then
prove that )S(L φ≅ , where P(S) is the power set of S.

B) Attempt any two : 10

i) Find the disjuctive normal form (DNF) of the function whose conjunctive
normal form is

)zyx()zyx()zyx()zyx()zyx(f ∨∨′∧′∨′∨∧∨′∨∧∨∨∧∨∨=

ii) Prove that any lattice can be embedded into its ideal lattice.

iii) Show that sublattices of a lattice form a complete lattice under set inclusion.

5. A) Attempt any one : 6

i) Prove that homomorphic image of a relatively complemented lattice is
relatively complemented.

ii) If L is a modular lattice, then prove that ( ) cbcba ∧=∧∨  implies

( ) ababc ∨=∧∨  for all a, b, c in L.

B) Attempt any two : 10

i) Let L be a bounded distributive lattice and a∈L, then show that L can be
embedded into [0, a] × [a, 1].

ii) If A is a lattice with seven elements and CBA ×≅ , show that either B or C
has only one element.

iii) Define meet homomorphism. Show that every meet homomorphism is
order preserving.

—————————

B/I/13/
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